01/02

Description of Clamps

( — ) #Ei£General information

1. SEERange

RUVRIEEEATF 9 HRIRAFINEENWENEF, EFIMz 6-102mm,

Clamps in light series can be supplied in 9 series for pipes under normal

* mechanical pressure. Pipe’ s o.d. ranges from 6-102mm.

BBAFNEXN AT 5 FRTRIINYVMENLET, EFIME 6-42mm,

Clamps in twin series can be supplied in 5 series for pipes under
mechanical pressure. Pipe' s o.d. ranges from 6-42mm.

BEYRFNEEEAT 11 RRTRINSIAELET . M2 6-508mm,

Clamps in heavy series can be supplied in 11 series for pipes under high
mechanical pressure. Pipe’ s o.d. ranges from 6-508mm.

4, BFZLIERIETEEERecommended installation distance for clamps

oMz WFEEH (mm)
Pipe 0.D.{Mm) Clamp distance (mm)
B-14 09
15-22 1.2
23-28 1.5
30-38 2
40-48.3 25
50-57 3
60.3-70 3.4
73-88.9 3.7
90-108 4
114.-165.1 4.3
140-165.1 5
168.3-220 55

LTSS TEHAEREEN, HERATRIIBETENRS, . _
When fixing the bends or the knees with clamps, make sure to fix them as close to both sides of the bend as possible.

2. #rE4SEMaterial properties

4% properties EAR&Polypropylene fEé# Polyamide
EE Density 0.906g/cm? 1.12-1.15g/cm?
EBF Bending strength 36N/mm?2 130---200N/mm?2
e Impact resistance A #iNo fracture AH#No fracture
[E455%® Compressive strength 12%‘#}“”’::; 120NJmm?
SR Modulus of elasticity 25_35N/mm2 3000N/mm?
RI{HSRE Tensile stress 25_35N/mm? 80-90N/mm?
e Max temperature resistance _30---+90°C —40-+-+120°C
B Color £ . ¥Green, blue mblack

RIBERTMEBEEHE Other materials are available upon request.

3. iT# /S O0rder code
OB L PG 1-3 20

Bk Pipeclamp | T T T ]
#=5 Series #45MZ Pipe O.D.
L: BBIRF] L light :
T: WEERF T: twin RI#5) SIZE1 :
H: E®ES  H: heavy 484 Combination
¥ Material
P: B P: Polypropylene RFEE Interior surface
N: EX N: Polyamide
L: 85% L: Aluminum alloy G: MH#E G: Grooved inside
G: $HH G: Steel
S: W5 S: POM
B: TR B: Stainless steel S: ¥@FE S Smooth inside

HEFTFHEMAERTHRAITERS, ENRERIASELMEL,

5. F<ALi%AA
REERERL

RECHI, ARMFHEERNSE, BUSERELMF RS, BELERE, REEEXSNTERS, HLERE
E#‘Jﬁ?n ﬁﬂi%_iﬁﬁ%%*ﬂ%ﬁ- mﬂﬂﬁﬁn

DSEHERECRKITFEENER.

Fih S
SHORERRLE, SIARTEE, MERSNBREHEAA, FiE 0 E | BTENEXRSHANEE, L
BEEMNET, BRL LR ERSHER, BRTEE.

RExE

SIITRERR L, ABETER, AR ETENEXRS, R ERSEENEFHR L EENEXRS, BRITEE,
B HIAEIR L ERE). RARREE-IERXR, AEEL.
5. Assembly information
Assembly on welded plates

In order to determine the direction of clamps, it’ s recommended to mark where needs to be fixed first before
assembly. Then start welding, and embed the lower half of the clamp, and set the pipes that need to be fixed. Set
another half of the clamp and cover plate, and screw them with bolts.

Do not weld the base plates that have clamps installed directly.
Assembly on rails

Rails can be welded on the foundation, or fixed with bolts. Then push the rail nut into the rails and tum 80 ° .
Embed the lower half of the clamp into the nut and set the pipes that need to be fixed. Set the upper half of the
clamp and cove r plate, and fix them with bolts.
Multi-level assembly

Rails can be welded on the foundation, or fixed with bolts. Install the lower half of the clamp first, and set the
pipes that need to be fixed. Then install the upper half of the clamp and fix it with bolts which must be prevented
from moving with anti-loose cover plate. Then install the second the clamp with the method aforesaid.

S£RE7) ($EMOIN30155 18843 ) Light series (acc. To DIN3015, part 1)

Order code of single part and accessory varies as the serial code varies.

. iaBEdR. JB/ZQ4008-97
Note.acc to national standard:JB/ZQ4008-97

¥71E Polypropylene JEé16 Polyamide
RI%3 Bz Erb!!s for

2 ixation EE 5 Bolt tightening | §FE#=H  Clampi BH Tightening |HFE$FHCamping for
B8 GB5782-86 ﬂEl[]‘tlrrn}l mrqi@{ﬁ-‘nlﬂr;g F(KN) mnﬂpﬁu uﬁ[ﬁm} to:'%?:ngrhllnrﬁ} F(KN) F{I(EIJ il
0 M6 8 0.6 10 0.6

1 M6 8 1.1 10 0.7

2 M6 8 1.3 10 0.8

3 M6 8 1.4 10 1.6

4 MB 8 1.5 10 1.7

H M6 8 1.9 10 2.0

6 M6 8 2.0 10 25

3. HusESR. JB/ZQ4008-97
MNote.acc to national standard:JB/ZQ4008-97



'_n- Hardware

T ERIIRAE
Pipe bend assembly

E ﬂ ﬁ ;E Light pipe clamps
LoFR % 22 Bl ES, Lo series with single bolt

#45E#E ( Acc.to national standard ) :JB/ZQ4008-2006

RETEN, NERATENNBNERAFEEXEE. BUGXHNZRABENE.

Pipe bends shall be fixed with Susen clamps in the front and in the back directly before assembly. It’ s
recommended that such bearing point shall be the fixed position.

FRRY (FZRDIN30158 28R4+ ) Heavy series(acc.to DIN3015,part 2)
i B B Polypropylene AR 6 Poyamide
Size Hexagon head bolt | 24 ZM@ 146 (Nm ) BT DF(KN) B EEHIE (Nm) BTRFFhF(kN
GB5782-86 Bolt fightening torque (Nm) | Clamping force F (KN) | Bot fightening torque (Nm) | Clamping force F (KN)
1 12 1.6 20 4.2
2 M10 12 29 20 4.5
- 15 3.9 25 5.1
4 Mi2 30 5.2 40 93
5 M16 45 11.0 55 21.0
5] M20 g0 14.0 150 258
[ M24 110 28.0 200 32.0
] M30 180 40.0 350 48.0

RERNRENENET ERHEREEN

Bolt Tightening Force and Axial Clamping Force on Pipes

----------------

EEVEEIFS (4R48 DIN3015S
%10 #f47) B2—1FHE, ERH 3
R ETHE RS, KERHA—R
}& BB DIN2448 #3 st37 S4RE . BEF Y
23C, BELFTRER. BXHETMD
Hhm) EREB)—F AN (F) B,

The axial clamping force on pipes (according to
DIN3015, part 10) is an average value, which is obtained
by three experimental wvalues. An st37 steel pipe in
accordance with DIN2448 is used for the experiment
which is at 23°C and has static friction. When the clamp
is under a testing force (F) listed at the axial direction,
the pipe inside the clamp won’ t slide.

WEE EF) (2 ROINOISZE IS ) Twin series (acc, to DINIOI5, pant 3)

B RS Polypropylene

E#6 Polyamide

R~ BxA
=3 L 253 WEEE | BFRE |EBFEE | BFEH
Bolts for iﬁim, lct hl:.[m: 7158 (Nm) ¢l ﬂF_{kNij
eion | Sy Cleiving fokse ik ey (Sl R
GB5782-86 5 0.9 5 0.9
2 M6 12 2.1 12 2.2
3 12 1.9 12 2:0
4 M8 12 2.7 12 2.9
5 g 1.7 8 2.5

. 5 EER: JB/ZQ4008-97
Note.acc to national standard:JB/ZQ4008-97

IMERAFRNER A CERIFEITHRAHLH

Other forms or requirements need to be expressed by ordering.

UL AERKRERTFRE. B, 1. 8. B8, aiFNEEERSSOR. . SHAENEEEEER
SRRNTREATRE. £F (PN<9WPa) FBEEZE

Light pipe clamps: { This product applies to the mechanical hydraulic svstem of metallurgy, petroleam, chemical engineering vehicle shipping electric power and so forth as

the pipe clamp fixing the pipeline which media is oil or water or gas Light pipe clamps are fit for the pipeline fixation in middle pressure or lowpressure{PN < 9MPa).)

L GILPG+ T EEARESTATMEREET{ERE-30"+90T

GJLPG type-the working temperature of light pipe clamp with grooved bore of the engineering polyvpropylene type is —30-—+90T

-GIPS - TEREARETAAAFIERITERE-307+90T

GJLPStype=the working temperature of light pipe clamp with smooth bore of the engineering polypropylene type is =30-—+9T

. GILNG »-172 B B 3B (L MIREIE & TIER E~-40"+120TC

GJLNG type=the working temperature of light pipe clamp with grooved bore of reinforced Nylon type is =30~-+120C

- GINS - RBREERTAAARIEFRTIERE-40+120T

GJLNS type-the working temperature of light pipe clamp with smooth bore of reinforced Nvlon type is =10-+1207T

GG BB ATFLIMIERERTERE-50+300C

GJILLG type-the working temperature of light pipe clamp with grooved bore of Aluminum alloy type is =5(-+300C

. GJLSG »-ER{RETRI ) 7 IR B9 3 T 458 -507+300C

GJLSG type=the working temperature of light pipe clamp with grooved bore i5 =50-+3(0TC

. GILGG+RFBEATLMEE ¥ X T{ERE-80 +500T

GJLGG type—the working temperature of light steel pipe clamp with grooved bore is —8-+500T

. GILBG *- RS MTLME ER TIESE-807+500C

GJLBG type—the working temperature of light stainless sicel pipe clamp with grooved bore is —B0—+500T

HER: 1. EiE. BEEE. 3. SNNE. SRFEEHLES. fEXRPREMERAEWNNE. RETEFIRN

(Motes:The standard of the material of cover,welding board rail.rail nut and bolt is carbon steel.Other materials can also be used according 10 hte customers”

note. while ordering )

needs Please

FS#8Fx. DIN3015 1
Acc. to German standard: DIN3015 |



'_n- Hardware

#457E4R ( Acc.to national standard ) :JB/ZQ4008-2006 $145E4% ( Acc.to national standard ) :JB/ZQ4008-2006

OBL'G15s2IE " OBL"G1 light pipe clamps
FFiE124% + B &K+ 1BEEEMR Grooved bolt + clamp body + welded base plate

p B : m
_\\ L B E 1 [qF 'gr\ 10 L2 _ i D K]
LI poa 3 l'{'“"*.‘ | - | A e It
W i R | A T
""{ﬁ "i_} L & . ; “{_',_;}Hf\ - ol & s Iw &/ P _—'——[—IT___ 8 ‘
L1 {|] 1S e e -Lz—']q—i' i L 5
| 1§ 1] —r H = : L1 - | =% & S 3 ;
L1 | el : " L1 b I'..:_"'_U. -
E®{& clamp body {2k E# Welded base plate  ##% bolt E®{E clamp body #& IR cover plate 123E Xk Welded base plate 24 bolt
4h 5
TS mE ShE % 2 T%S AE HE " &
5 f Ly | k2| w]lo | s | ®m|ev|ez| nlo | s|:B. 7l & LijLz|H (D |s |®|L1|Lz|B|D|s |L1|L2|n|D|s|B
D
| SHL*G1-006 6 @6 ' | 0BL*G3-006 | 6 | 26
| SHL*G1-006.4 | 6.4 1/4 26. 4 0BL*G3-006.4 | 6.4 | 1/4 6.4
o e T K |5/18 | 28 | 9.5| 27 | @% | 0.4| 30| 31 | 10 | 6.5| 12 | & | 30 |usx20 $ gl 08Lw6d-005 £ | 5716 12819.5(27 | % 0.4/ 30| 28 [9.5{30 | 7 [3 | 81|10 (6.5 12| 3 |30 | M6x30
| SHL#G1-008.5 | 9.5 3/8 29.5 0BL*63-009.5 | 9.5 | 3/8 .5
| SHL*G1-010 10 | 1/8 210 0BL*G3-010 10 | 1/8 @10
| SHL#61-012 | 12 | | @12 | | e 0BL*G3-012 12 | B12

08[..“34%@%?& | OBL"G4 light pipe clamps

OBL G252 8IS OBL"G2 light pipe clamps

AAAEE+ B EE+ B EMR Hexagon socket bolt+clamp body+Welded base plate F&I2AE + B A+ KB REEMR Grooved bolt +clamp body+long Welded base plate
| o 10 L2 ol
—\ | LI l ) b @) - I O
NPy © | e | o [° @9 B fh
| [P1] ] f ELE_..Z i | 1 (M ' - fen
T < L1 . ' = H o o - -_L.‘_-| l_ L = -
E Rk clamp body {212 B Welded base plate 24 bolt E X% clamp body ISR long Welded base plate #2# bolt
b h
T#%S 8”8 11548 ® #®
7 Pl e [ SR RN O s B ] o [ e (2 [ A ? AR IR Gl e w0 | o | w|u|ee|is]s|s |10z
D
SHL*G2-006 6 @6 ' ' OBL*G4-006 6 @6
| SHL*G2-006.4 | 6.4 | 1/4 26 4 0BL*G4-006.4 | 6.4 | 1/4 @6.4
SHL*G2-008 8 5/18 | 28 [ 9.5| 27 | @8 | 0.4| 30| 31 | 10 | 6.5| 12 | 3 | 30 | mex20 0BL*G4-008 | 8 5/16 o8
1 | : il - LO : 28 | 9.5/ 27 1 0.4 30  58124.5 44 30| 3 6.5 12/6.5 M6X20
| SHL¥G2-009.5 | 9.5 | 3/8 29.5 0BL*G4-009.5 | 9.5 | 1/8 | 3/8 29.5
SHL*G2-010 10 1/8 @10 OBL*G4-010 | 10 @10
| SHL*G2-012 12 | . 12 . bl 12 | L
mERFENER SR eERKIEEIT KA FE%ER: DIN3015 1 nfE AFENERSHEERBEITHRRH FSE4R: DIN3015 1

Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1 Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1




'ﬂ- Hardware

#145E45 ( Acc.to national standard ) :JB/ZQ4008-2006 #457E#%R ( Acc.to national standard ) :JB/ZQ4008-2006

OBL*GSEﬂﬁ% OBL*G5 light pipe clamps

A 7< A2+ TR+ KIREEEHR Hexagon socket bolt + clamp body + long welded base plate Frig g e + B K+ 28 8EEF Grooved bolt +clamp body+rail nut
Tl R = 6 A . 8!
SNy | i W |G | e |
T o ® ® O m [ (N 5 f
] k- N e m*“?}:fji o j_iI_.’ ‘ | t;l
| N I L ‘ B
i | L2 1 : i ' I
= G e L1 L . } L1
BH4E clamp body {€1R3ZE#R long Welded base plate 324 bolt ER{E clamp body SHRE rail nut 42 bolt
o oh
THS % 2 TS ® &
3 P (L i [ (P S (S (| S ) o i Bl I e 5 2 i e R P I N P I T O
D D
0BL*G5-006 6 | o6 | 0BL*G7-006 6 @6
0BL*G5-006.4 | 6.4 /4 26. 4 | 0BL+G7-006. 4 | 6. 4 | 1/4 @6. 4
0BL*G5-008 8 5/16 | @8 _ OBL*G7-008 8 | 5/16 @8
L0 : : ——— 28 | 9.5| 27 i 1 0.4| 30 |58 [24.5 44|30| 3 6.5 12 6.5 M6X20 LO - 28 | 9.5| 27 | 0.4/ 30| 25|10 | 13| 5 [ 12 NBX20
0BL*G5-009.5 | 9.5 | 3/8 29.5 OBL*G7-009.5 9.5 | as8 29.5
0BL*G5-010 10 | 1/8 @10 0BL*G7-010 | 10 | 1/8 @10
0BL#*G5-012 12 : P12 0BL*G7-012 | 12 | @12

& .
T | 1L ] =0 -
| My B - i I_g_ )\_‘l i | | = | - i
“{-wq |-t x b o | o 02 . H AT - E— i
e RE A L T | | T ot | L “ :
| 11l )| e o j _J__é.i; ' E‘I | b |
i e | | LR rr e |
EEIK clamp body EiR cover plate  KIFIBJRIR long Welded base plate  $R#2 bolt | B3Rk clamp body SHRE rail nu 242 bolt i
ES iT&ES ® e
5 'l e 94 PR ) 5 ® | ufz2lelo|s |uifLzfs |8 |s|n|Dp1|D2 A g (ABAR| L w|o|s X | L |B | H|H
D = e oo | e
OBL*G6-006 6 | 26 | | | 0BL*G8-006 6 @6
0BL*G6-006.4 | 6.4 | 1/4 6. 4 OBL*G8-006.4 | 6.4 1/4 ;ﬁﬁ. 4
OBL*G6-008 8 5/16 | | @8 : 0BL*G8-008 8 5/16 28 |
Lo 1289.5 27 ——10.4 30 2809.530/ 7 3 5824.544 30| 3 [6.5| 12 /6.5 M6X30 LO 28 | 9.5| 27} 0.4| 30| 25|10 | 13 | & | 12 MBX20
0BL#G6-009.5 | 9.5 lassa | | | |@9.9) 0BL*G8-009.5 = 9.5 3/8 @9.5
OBL*G6-010 10 | 1/8 | @10 OBL*G8-010 10 | 1/8 @10 |
0BL*G6-012 12 ' | | [|212] _ _ 0BL*G8-012 12 _ @12 _ _
InfEAFENER SR EERIFETHREA FE®4R: DIN3015 1 NEATRERMER SR EERBEITHERA FFEE4R: DIN3015 |
Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1 Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1



'_n- Hardware

1 7E+r ( Acc.to national standard ) :JB/ZQ4008-2006 #15E+r ( Acc.to national standard ) :JB/ZQ4008-2006

OBL G122 B =S OBL'G11 light pipe clamps

OB L*Ggﬁﬂﬁﬁ OBL*G9 light pipe clamps

SIS FRIZRE + SR+ B+ S8 8EE Hexagon head bolt+cover plate+clamp body+rail nut RS A+ EIE Hexagon socket bolt + clamp body
. L [EF
P i3 [T} f
o T | & ‘ == mi__ ‘“"-.,_'_J >
E_EL | ---{ M ; '
> |4 w2 & ] A M
. Y N S o = = i IEI__L IEH U I - 1 H
i L ) _ : 5
i 1
®H ik clamp body % g cover plate EHEH rail nut #2242 bolt RS clane body iz bol
% T oxg xv B X & E SHhe a8 % zﬁr*# ¥ % &
* 3
iT%S 2 5 RS mE e
) & AE #8 "1 Rl I DA I $ | ®|L1|/LziB|D|S|L|B|HL| K2 D ? L1 L2 H D 8 =
D
0BL*G9-006 | 6 26 | OBL*G11-006 8 o6
i 0BL*G9-006.4 | 6.4 | 1/4 [mj OBL*G11-006.4 | 6.4 1/4 : @6. 4
0BL*G9-008 | 8 | s/ o8 | 0BL*G11-008 B | 5/16 | | @8
LO | | | . i anla L0 : ! 28 | 9.5 27 : 1 0.4 30 MEX20
0BL+9-000.5 | 9.5 | P 28 | 9.5| 27 B 0.4 30 289.830 7 3 2510 13| 5 12 M6X30 e [3;5 | e
OBL*G9-012 12 - | @12 . _ | OBL*G11-012 12 I I | @12

OBL*G12RBIE &

OBL*G12 light pipe clamps

1o, L2
I '_.r—" | [ T 1‘-_ i E::
o ""w.,l : I! :
i - | L] ' -
L !
= ERk clamp body $i2 bolt WK clamp body % i cover plate ®4% bolt
E :x-q-awr ' X & # :in‘ﬁﬂ' X & 2w
TS ® # iT#%e L
7 s NE NE L1 L2 H D s % 7 ? At ol sl il 5 | s % | e | i | B ]S
D =
DEL*G10-006 6 @6 DBL*G12-006 6 @6 |
0BL*G10-006.4 | 6.4 | | 1/4 6. 4 0BL*G12-006.4 | 6.4 | 1/4 26. 4
DBL*G10-008 | 8 5/16 @8 L0 OBL#*G12-008 8 5/16 [l
LO | i L —1 2 9.5 27 ol | 30 HEX20 ! 28 | 9.5 | 27 | 0.4 30 | 28 (9.5 | 30 7 3 M6X30
| OBL*G10-009.5 | 9.5 3/8 29. 5 OBL*G12-009.5 | 9.5 - 3/8 _:IEB. 5
0BL*G10-010 | 10 | 1/8 e | 0BL*G12-010 | 10 | 1/8 | @10
| OBL*G10-012 12 | @12 | OBL*G12-012 12 | 212 | |
WERAENER SR EERIBEITENIRA fFE&#8#FR. DIN3015 1 MERFENERSHEERIEELTRH fF&#HR: DIN3015 1
Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1 Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1



11/12

- |Itmlllmfe_

H115E#r ( Acc.to national standard ) :JB/ZQ4008-2006 7BE#R ( Acc.to national standard ) :JB/ZQ4008-2006

'OBL GO 5428 OBL*GO combined light pipe clamps

OBL*G13%2 8= 3 OBL"G13 light pipe clamps

'b::&ﬁﬁ+‘l’%ﬁ"‘ﬁ+§%ﬁi Stacking bolt+safety locking plate+clamp body
i el : @ HEHERAXRBEEX
1. RRBRAFAMERE X 5. RREASANILMAEEX
2. REBRAILEBREX 6. REBNAFLMERE X
3. REERAAMBERE X 7. BRINME AL MEREX
4, BRI AR LBREX 8. BREARFHNIMBEX
wH: TRt ZEEXR, BZAE
Mote.multi—layers are possible five layers at most -ﬁ:ﬁl;‘:{’;
L . | ,..9.. fm—v ;
| 1] '
& i
T . -
:I E;—_ ......... { o ﬁ‘ o -
||| 3 1
§ L !
L L1 ol w! — LS.
| -$3" 3 REE R L3 - £ 53
clamp body safety locking plate stackirg bolt WEREL 2 Bt
iTHS
5 ? BE e L1 L2 H D S " L |B1|B2| & | @ L1 | L2 | L3 | SW
0BL*G13-006 6 | @6
(OBL*G13-006.4 | 6.4 | | 1/4 | 6.4, WEHKFZER
0BL*G13-008 8 5/16 | 28 |
LO — . . ~ 28 | 9.5| 27— 0.4| 30 |17 |32 |11 | 1 |me| 34| 20| 12| 11
0BL*G13-009.5 | 9.5 3/8 29.5
0BL*G13-010 | 10 | 1/8 @10 I%ﬁlit
0BL*G13-012 12 ' | @12 | |
mERAAEEER LR EERIFAEITHIREA FE#4R. DIN3015 1 NERFEMNEA SR EERBEIT XA fFE#4R: DIN3015 1
Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 | Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1



'ﬂ- Hardware

H7E#E ( Acc.to national standard ) :JB/ZQ4008-2006 H5E#E ( Acc.to national standard ) :JB/ZQ4008-2006

ESBUZH S 28Il light combination series BRAELR light pipe clamps

r B A L1-L8ERFIBBIMBE T L1-L8 series with double bolts
Schematic drawing .
BEEXE. ArniEfTaE. BTl €I, ¥8. B, RAFINEEEREPNE. K. NhihReEEEFRE .
REETEXERTHRE. EE (PN=8MPa) WiliFE
Light pipe clamps: { This product applies to the mechanical hydraulic system of metallurgy, petrolesm.chemical engineenng.vehicle shipping electric power and =o forth as
ﬁ the pipe clamp fixing the pipeline which media is oil or water or gas. Light pipe clamps are fit for the pipeling fixation in middle pressure or lowpressured PN =EMPa).)

1. GIP-THEREERIAAMBIFRETERE-30+90T

GJILPG type—the working temperatire of light pipe clamp with grooved bore of the engineering polypropylens type is =30~+00T
2. G- T ERAREIAFLARDERTERA-30+90T

GJLPStype—the working temperature of light pipe clamp with smooth bore of the engineering polypropylene type is —30-—+007T
3. GING-HBRERTNILMEBERIERE-40"+120T

=]
GJLNG type-the working temperatare of light pipe clamp with grooved bore of reinforced Nvlon type is —40—+1207C
4. GINS-HIER BV ML ARHEXRT(ERE-40"+120T
GJLNSIvpe=the working temperature of light pipe clamp with smooth bore of reinforced Nylon type is =1(=+120T
& 5. GILLO-ISA &2 ATLMHA §% T AR E-507+300C

a\ GJILLG Iype—the working temperature of light pipe clamp with grooved bore of Aluminum alloy type is =50-+3007C

) 6. GISe-DRFIRFMBPERIEEE-50+300T

GJLSGIype—the working temperature of light pipe clamp with grooved bore is —50-+3(007C
7. GILGO-AMERMAMMBEERT/ERE-807+500T

GILGG type=the working temperature of lght steel pipe clamp with grooved bore is =50~+500T

8. GILBO-THWEHAILNEERTEEE-80+500T
GJLBG type—the working temperature of light stainless steel pipe clamp with grooved bore is —8=+3007T

& - m iREE: 1. EiE. SERE. B8, SUNEE. SREEREEER BERERARETERRLEHE. BETERESA
2 2. AEgtEEER. E5AR
{MNotes: The standard of the material of cover,welding board rail rail not and bolt is carbon steel Other materials can also be used sccording to hie costomers”  needs Please
i ] note.while ordering. )
- = (Modes: Multi-pipe clamp can be designed.up o five.)

-

o

AN

® 5 () SMEE Hewgonal{sockel) bolt ® 5 () SMEEE Heogonalisocket) bolt ® 5ol SMME Hexagonalisocket) bolt :

e X i Cover . i Cover e X  Cover . 9
o5 B S I {4k Light pipe clamp body ® 5 B S I 4k Light pipe clamp body o 5 B @ I3 {& Ligh pipe clamp body i
. {3 B i Safcguard e {F B #f Safeguard e F =y ¥ Safcguard e
o4 i W # Long-headed bolt o4 i % Long=hesded holt e 4 4 ¥ ¥ Loocg=headed boli

® 32 B & I 4k Light pipe clamp body ® 52 B §F & {k Lightpipe clamp body e 57 B G 3 {& Ligh pipe clamp body .

» & i Motherbosrd a5 % M 8 Ralnoo
. B $H Ral '

IMERARMEAR R TR RFEITRIRLH fFEfER: DIN3015 1 IMERARMNEA SR ERRIBEITRILHA fFEfE#R: DIN3015 1

Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1 Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 |




OBL*G1328IE S " OBL"G1 light pipe clamps

#115E#R ( Acc.to national standard ) :JB/ZQ4008—-2006

FriEi2ie + B+ +1BEEER Grooved bolt + clamp body + welded base plate

D1

L1

i
al |® D
u -
B L1
o
;,1' %

#®i2 bolt

OBL G282 2I= S OBL'G2 light pipe clamps
A< AR+ B A+ 1BEEER Hexagon socket bolt + clamp body + welded base plate

HiTEHR ( Acc.to national standard ) :JB/ZQ4008-2006

i i
! @l @ @ L
| L2 I
| L1 I|
I 1
| D
' S T e
| 121k ik Welded base plate 2 bolt
% o BEER
1) &S L2 BrllllEE H D % B8
D1
OBL*G2-106 6
T N T
OBL%G2-108 | 8 | 5/16
L1 GETL_*E_E:'I_SI_@& 9_::"_? ......... ﬁf& 317 20 27 0.4 30 36 20 30 3 6.5 12 MEX20
OBL#G2-110 10 [1/8]
OBL*G2-112 12 |
| 0BL*G2-212.7 | 12.7 | 1/2 e =il TR o e e e |
| OBL*G2-213.5 | 13.5 | 1/4
Lo | OBL¥G2-214 | 14 [ ]
| OBL*G2-215 15 42 | 28: (83 |08 | 30 | 42 | 26 | 30 | 3 g.5| 12 MBX25
0BL*G2-216 | 16 | 5/8
| OBL*G2-217.2 | 17.2 | 3/8
OBL#G2-218 | 18 | ,
0BL*62-319 | 19 | | 3/4 ]|
0BL*62-8320 | 20 | |
i —ggt:gi g;;.ai 2;53 iifz 741 50 | 3 | 36 0.6 30 | 50 |33 | 30 | 3 |65 12 N6X30
OBL*G2-325 25 | 1
| 0BL*62-426.9 | 26.9 |8/4| I
L4 | 0BL*G2-428 28 59 40 | 42 |0.6 | 30 60 40 30 3 g5 12 M6X35
| OBL*G2-430 | 30 | |
 OBL*G2-532 32 1178
| 0BL*62-533.7 | 33.7 | 1
OBL#G2-535 35
L8 obiwaasss [ 38| [wiza] 1 | %2 | %% |8 |20 |7 92| @ | & |es5| a2 wexso
0BL*G2-540 40
| 0BL#G2-542 | 42 114 — if =
| OBL*=G2-644.5  44.5 1374 |
L6 OBL*G2-648.3  48.3 |11/2 86 || 58 | ‘88 |os | 30 |48 | 68 | s0:| @ | &5]| a2 MBX60
| 0BL#G2-650.8  50.8 BE
OBL*G62-757.2 | 57.2 | 214
0BL*G2-760.3 | 60.3 %._. »
|7 jBLEE 189, 5635 ﬁz 121 | 94 | 93 (0.8 | 30 | 122 | 94 | %0 | 5 | e.5]| 12 N6X85
0BL*G2-770 70 234
0BL*G2-773 | 73 [
| OBL#*62-776.1 | 76. 1 2: z e Bl T e e e a - L S S
Lg| 0BL*G2-888.9 [ 88.9 | 3 147 | 120 [ 118 (0.8 | 30 148 120 | 30 | 5 | 6.5 12 | MN6X110
| 0BL*G2-8102 | 102 4 |

TR clamp body 1948 B #R Welded base plate
% §0hE HE Bxk BIERR
5 T8RS M 1y 2|k s |||/ |ls|u|o| ®*
D1 &~
OBL*G1-106 6 '
OBL#G1-106.4 6.4 1/4
OBL*G1-108 8 5/186
L 5"'§-5'L__ 5751 37 | 20 | 27 0.4 | 30 | 36 [ 20 | 30 | 8 |6.5| 12 M6X20
0BL*G1-110 10 [1/8] |
OBL*G1-112 12
0BL*G1-212.7 | 12.7 | | 1/2
OBL*G1-213.5 13.5  1/4
Lo | OBL*G1-214 14 | ' |
OBL*G1-215 15 |42 | 268 |‘s3 |o:e | 30 |42 |28 | 50O 3 |85 12 M6X25
OBL*G1-216 16 | | 5/8
OBL*G1-217.2 | 17.2 |3/8 |
OBL*G1-218 18 | |
OBL*G1-319 19 | 3/4 |
OBL*G1-320 20 | . |
L3 | 0BL*G1-321.3 | 21.3 [1/2| | 50 | 33 | 36 |0.6 | 30 | 50 | 33 | 30 | 38 |6.5/[ 12 M6X30
| OBIL*G1-322 22 | |3/
| OBL*G1-325 | 25 | 7] |
OBL*G1-426.9 | 26.9 |3/4| |
L4 OBL*G1-428 28 _ | 59 | 40 | 42 0.6 | 30 | 60 | 40 | 30 | 3 | 6.5 12 MEX35
| oBLxa1-430 | 30 | ol e O DY S | i |
 OBL*G1-532 32 | 11/4|
0BL#G1-533.7  33.7 |
0BL*G1-535 35
ToBL*a1=538 58] 5] 71 | 52 |58 |o.8 [ 30 | 71 | 52 |30 [ 3 |65 12 MEX50
 0BL*G1-540 40
OBL*G1-542 | 42 |11.4
OBL#G1-644.5 | 44.5 13,4 |
L6 | OBL*G1-648.3 | 48.3 |11,2| | 86 | 66 | 66 (0.8 | 30 | 88 | 66 | 30 3 |6.5/ 12 M6X60
| OBL#61-650.8 | 50.8 | 2 |
_OBL*G1-757.2 | 57.2 |  [21/4]
0BL*G1-760.3 | 60.3 | 2 |
0BL#G1-763.5 | 63.5 (212
L7 SBlesarTio | 10 l_____zs 121 | 94 | 93 |0.8 | 30 (122 | 94 | 30 | 5 [6.5| 12 | M6X85
0BL*G1-773 | 73 | |
OBL*G1-776.1 | 76.1 21,2 3
Lg  OBL*G1-888.9 | 88.9 | 3 (147 | 120 | 118 (0.8 | 30 | 148 | 120 | 30 | 5 | 6.5 12 | W6X110
OBL#G1-8102 | 102 | 4 . : | ,
E AR S H EERIBEIT RERHA TR DIN3015 1

Other forms or requirements need to be expressed by ordering.

Acc. to German standard: DIN3015 1|

ERAFRNER R EERIBEIT R 2

Other forms or requirements need to be expressed by ordering.

5 #8FR: DIN3015 1
Acc. to German standard: DIN3015 1




#45E#5 ( Acc.to national standard ) :JB/ZQ4008-2006

OBL G322 8T OBL"G3 light pipe clamps

ShF< B+ Eh+ B X & BEEEHR Hexagon head bolt + cover plate + clamp body + welded base plate

i
— S' © S
otz |
i L1
i
u’Isz- 2 =]
&= #R cover plate 19k JE#Rk Welded base plate $£#2 bolt
= BINE R -3 2 K BRER
TS i 2
5| NERE T i |2l B |ls |l 2ls s |12)l | H D
OBL*G3-106 | 6 |
OBL*G3-106.4 A 6.4 1/4
| 0BL#63-108 | 8 5/16 |
! ! 4 3 :
L1.-9?&3??:1??;E_h_§;§__m___mjtji_ 37 | 20 | 27 |0.4 | 30 | 3 20 | 3 6 | 20 3 6.5 12 | M6X30
OBL*G3-110 | 10 |1/8
OBL*G3-112 12 i !
0BL*G3-212.7 | 12.1 1/2
OBL#G3-213.5 | 13.5 | 1/4
Lo 0BL*G3-214 14
I 1 |
_0BL#*G3-215 | 15 | _| 42 | 26 [ 33 (0.6 | 30 |40.5| 28 | 3 | 42 | 26 3 | 6.5 | 12 | MBX35
 OBL#*G3-216 16 5/8
| 0BL*G3-217.2  17.2 | 3/8
0BL*G3-218 | 18 M | R - B S
OBL*G3-319 19 3/4
0BL#G3-320 | 20
L3 0BL#*G3-321.3 | 21.3 | 1/2
- 3 48 0 =
ToBLsasszz | 22 | |1/ 50 | 33 36 (0.6 | 30 A% | w8 |8 33 3 | 6.5| 12 | mexao
‘0BL#G3-325 | 25 1 !
OBL#G3-426.9 | 26.9 | 3/4
L4 0BL*G3-428 | 28 | 59 | 40 | 42 |0.6 | 30 | 57 | 40 | 3 | 60 | 40 | 3 | 6.5 | 12 | WBX45
0BL#*63-430 | 30 1
0BL#G3-532 | 32 | 114 I
| 0BL#G3-533.7 | 33.7 | 1
0BL*G3-535 35
71 | 52 | 58 |o.8 | 30 | 70 | 52 | 3 71 | 52 3 | 6.5 | 12 | MEX60
LEL 0BL*G3-538 38 112
OBL*G3-540 40 |
| OBL*G3-542 42 |11/4 !
_OBL*G3-644.5 | 44.5 | 13/4
L6 OBL#*G3-648.3 | 48.3 |11.2 86 | 66 | 66 |o.8 | 30 | 86 | 66 | 3 | &8 | @8 3 | 6.5| 12 | Mex7o
_ OBL#*G3-650.8  50.8 | | 2 | '
| 0BL#G3-757.2 | 57.2 |  |21/4
0BL*G3-760.3  60.3 | 2 |
L7t “BL*Ga ?“3 5 83.3 21/2) 191 | 94 93 0.8 | 30 | 118 | 94 5 | 122 | 94 5 | 6.5 | 12 | MBX100
 0BL*G3-770 70 234 -
| OBL#*G3-773 | 73
loBisga-778.1 |16.1 |22] 3 | | | | 4 b [
Lg 0BL*G3-888.9 | 88.9 | 3 147 | 120 | 118 (0.8 | 30 | 144 [ 120 | 5 |148 |120| 5 | 6.5| 12 | Mexi25
OBL*G3-8102 | 102 4 .
nER RS HEEERIBEITRMRE FE#r; DIN3015 |

Other forms or requirements need to be expressed by ordering.

Acc. to German standard: DIN3015 1

OBL*G4RBEIE*

#17E#R ( Acc.to national standard ) :JB/ZQ4008-2006

OBL*G4 light pipe clamps

FFE 24 + B A+ IBEER Grooved bolt + clamp body + long welded base plate

D1

| e o g
| T § EI bl @{?’
| : ! 1 = Lz____! [
I - et x| = L3 =
| T . W L1 -
' = 7 12
I A I—'d-'—l
| S WF_____LJI:
| 4k clamp body & EH Welded base plate 28 bolt
= TRk KIG R
yus (SHEAE 0 S
3 D1 |z Lt | £28 H: | s | % | bt1 | 12 | k3|8
0BL+@4-106 | 6 o= '
OBL*G4-106.4 6.4 1/4
0BL*G4-108 | 8 5/16 |
L1 oeiea4-1095] 8.5 | Ta/a] 2 | 20| 27 |04 | 30 | 64 | 20 | 50 | 3 M6X20
0BL#G4-110 | 10 | 1/8
__|oBLeasa-112 | 12 | | !
0BL*G4-212.7 | 12.7 1/2
| 0BL*G4-213.5 | 13.5 | 1/4 |
sz OBL*G4-214 | 14
| OBL*G4-215 | 15 _ 42 | 26 | 33 |0.6 | 30 | 70 | 26 | 56 3 M6X25
| 0BL#64-216 [ 16 5/8
0BL*G4-217.2 | 17.2 | 3/8
| 0BL*G4-218 | 18 | i |
OBL#G4-319 19 _!_ 3/4
0BL#G4-320 | 20 |
L3 | OBL*G4-321.3  21.3 | 1/2
OBL*G4-322 | 22 1/8 2ol [Ba | S G S Sl LA | Bt e i
0BL*G4-325 25 1
| OBL*G4-426.9 | 26.9  3/4
L4 | 0BL%G4-428 28 | 59 | 40 | 42 |0.6 | 30 | 87 | 40 | 73 3 M6X35
| OBL*G4-430 | 30 |
0BL*G4-532 32 114
OBL#G4-533.7 | 33.7 | 1
OBL*G4-535 = 35 - |
LS ohi+as=538 | 58 | T, 71| 52| 58 0.8 | 30 | 100 | 52 | 86 | 3 M6X50
OBL#G4-540 40 |
| OBL*G4-542 | 42 [11/4 _ . L I
| 0BL%G4-644.5 44.5 13/
L6 | OBL*G4-648.3  48.3 |11/2 8 | 66 | 66 0.8 | 30 115 | 66 (100 | 3 M6X60
| 0BL#G4-650.8 | 50.8 | = 2 |
OBL#G4-757.2 | 57.2 | 21/4 |
| OBL*G4-760.3  60.3 | 2
0BL*G4-763.5  63.5 212
b g - 234 121 94| 93 (0.8 30 | 150 | 94 136 | 5 M6X85
_OBL*G4-773 | 73
0BL*G4-776.1  76.1 212 3
Lg|0BL*G4-688.9 | 88.91 8 1 |47 | 120|118 |08 | 30 | 178 | 120 | 182 | 5 M6X110
OBL*G4-8102 = 102 | 4
MERTEMNED S H EERKIEEI TR 1RSA FFE#@tR: DIN3015 1

Other forms or requirements need to be expressed by ordering.

Acc. to German standard: DIN3015 1




OBL G552 8IEE " OBL"GS5 light pipe clamps

FNAERR 4+ Bk K IBEEER Hexagon socket bolt + clamp body + long welded base plate

#5E#r ( Acc.to national standard ) :JB/ZQ4008-2006

#5E4F% ( Acc.to national standard ) :JB/ZQ4008—-2006

OBL*Gsﬁﬂﬁ% | OBL*GS light pipe clamps
Sho<AaiBie + Eth+ Bk KIREEEIR Hexagon head bolt + cover plate + clamp body + long welded base plate

D1 T = —
‘ : | L2 | |
wl L WHE . ‘__ i
(| L, L1 = |
- () 7 30 :{
P “‘l“ o3 I @y |
. L1 i |_|—| :|:!:r i '
EHRE clamp body  RERIR Welded base plate  ##2 bolt
= EhE HE Exix KIERRER
5| THS S L1 | 2| w s | ® | L |2 s |s % &
D1 =T
| 0BL#G5-106 6
0BL*G5-106.4 6.4 i 1/4
0BL*G5-108 8 5/186
L1l TR BOET ag] 37 | 20| 27 (0.4 | 30 | 64 | 20 | 50 | 3 M6X20
| 0BL#65-110 10 [1/8]
OBL*G5-112 12
OBL*65-212.7  12.7 | 1/2 |
OBL*G65-213.5 13.5 1/4 |
sz OBL*G5-214 14 [ ]
| OBL*G65-215 = 15 | | 42 | 26 | 33 (0.6 | 30 | 70 | 26 | 56 3 MBX25
0BL*G5-216 | 16 5/8 |
| 0BL*G5-217.2  17.2 |3/8 |
0BL*G5-218 18 |
| OBL*G5-319 19 | | 3/4
| 0BL#G5-320 20 |
Lsi ggt:gg g;; 2 2;23 [1f2"?f§ 50 | 83 | a6 |0.6 | 30 | 78 | 33 | 64 | 3 MEX30
OBL*G5-325 25 1
| OBL*G5-426.9 | 26.9 |3/4 | S| e e | (BURE W =i
L4 | 0BL*65-428 28 | 59 | 40 | 42 |0.6 | 30 | 87 | 40 | 73 3 M6X35
0BL*G5-430 30 | | .
| 0BL*G5-532 | 32 | 114 [
| OBL*65-533.7 | 33.7 | 1 |
| 0BL*G5-535 35
Lﬁi SRR gD 3] 5] 7' | 52| 58 (0.8 | 30 (100 52 | 86 | 3 M6X50
0BL*G5-540 40 | _
| 0BL#65-542 | 42 |11/4 — — —
 OBL*G5-644.5 44.5 134
L6  O0BL*G5-648.3  48. 31&1#2 _| 86 | 66 | 66 (0.8 | 30 | 115 | 66 100 | 3 MBX60
 0BL#G5-650.8 50.8 2 ,
| 0BL*65-757.2 | 57.2 | 214 |
[ﬂBL#GE 760.3  60.3 | l i e
0BL*G5-763.5 | 635 212
1 g e 2aa] 121 | 94| 93 [0.8 | 30 150 | o4 |136 | 5 M6X85
| OBL*65-773 | 73 |
OBL*G5-776.1 | 76.1 (21,2 3
Lg | 0BL*G5-888.9 | 88.9 | 3 147 120 | 118 0.8 | 30 | 178 | 120 162 5 MEX110
OBL*G5-8102 | 102 4
E AR RN EH EERBELT AR fFE&#tR: DIN3015 1

Other forms or requirements need to be expressed by ordering.

Acc. to German standard: DIN3015 |

- -l EI - @@ Mo
. ‘ iz '
L3
@ & B L1 "
L2 s 12_. w3 1
L1 mélr:1===:E:;;::E |
=R KIZERiR 253
cover plate long Welded base plate balt
P EHE RE LB B I8 KISERER
5 THS HhE LS -2
D1 %+t R R % | L1 L2 s | L1 | k2 | L3
OBL*G6-106 6
OBL*G6-106.4 6.4 1/4
OBL*G6-108 8 | |5/186]
L1 - 0BL+66-109.5 | 9.5 3 76 1oLl 20 R2 30 | 34 20 | 3 |64 | 20 | 50 M6X30
| 0BL#G6-110 | 10 | 1/8]
| OBL*G6-112 | 12 | |
- |oBLsG6-212.7 [ 12.7] | 1/2] |
OBL*G6-213.5 | 13.5 | 1.4
Lo | OBL*G6-214 =R
0BL*66-215 5 15 . 42 | 26 | 33 30 |405 | 26 | 3 |70 | 26 |56 M6X35
| 0BL*G6-216 | 16 | | 5/8 |
| 0BL*G6-217.2 | 17. 2 3/8 |
[oBLsge-218 | 18 | |
 OBL#G6-319 | 19 | 3/4
| 0BLwG6-320 | 20 | | |
3] Eﬁtjﬁﬁ i:; : ]21 3 ;1~g{-?53- 50 | 33 | 36 30 | ami | asc | e |y | faslies | N6X40
0BL#G6-325 | 25 3 B -
OBL*G6-426.9 | 26.9 3.4
L4| 0BL+G6-428 | 28 | | | 50 | 40 | 42 30 [ 57 | 40 | 3 |87 | 40 | 73 M6X45
| 0BL#G6-430 | 30 | | | )
OBL*G6-532 | 32 1174
| 0BL#G6-533.7 | 33.7 | 1 |
e e s R (i e % 70 | 52 | 3 (100 | 52 86 NGX60
OBL*G6-540 40
| OBL*G6-542 42 [ 11/4
OBL#G6-644.5  44.5  |[13/a
L6 OBL#G6-648.3 | 48.3 112 86 66 | 66 30 | 86 | 66 | 3 (115 | 66 | 100 MEX70
| 0BL#G6-650.8 | 50.8 =]
| 0BL#G6-757.2 | 57.2 | | 21/4]
| OBL#G6-760.3 | ﬁﬂ-j?_]__?__ =]
0BL*G6-763.5 | 63.5 21/2 .
L7 BLs66-770 - Taaral V21| 94 | 93 30 |18 | 94 | 5 [150 | 94 | 136 M6X100
| OBL*G6-773 iy i [ S
| OBL*G66-776.1 | 76. 1 | 2172} 3
Lg| 0BL¥GG-888.9 | 88.9| 3 | |, | 59| q1g 30 | 144 | 120| 5 178 | 120 | 162 M6X125
OBL*G6-8102 | 102 4 . !
MERATRMNEAREEE KRBT HA FFE#8#R. DIN3015 1

Other forms or requirements need to be expressed by ordering.

Acc. to German standard: DIN3015 1




#15E+#R ( Acc.to national standard ) :JB/ZQ4008-2006 #115E#F ( Acc.to national standard ) :JB/ZQ4008-2006

OBL G742 8= | OBL"G7 light pipe clamps OBL*GBF=EIESE " OBL"G8 light pipe clamps

Fr&i2ie + Bk + S5I2E Grooved bolt + clamp body + rail nut A7< AR+ Bk + S48 Hexagon socket bolt + clamp body + rail nut
D1 1 D1 12
T 5 Bz 4~ ] ]
ot 7N -n.l. L 2 ; ﬁ il | m:_L_'-'—’l
A = 25 Him = " |
I| N\ “ms . JI| & Il aa 1]
Ll ! _' ] Ll Ll ¥ e
L2 i :I ig TLQ’
- L - . n..- : en L‘ . -F—L-- il
B3 {& clamp body SHBE rail nut 245 bolt ik clamp body SHEA rail nut #2342 bolt
R L.e |EHE | W8 ‘X . R o.e |WNE | A8 ExE
3| p1 | =t | HE L1 L2 - s % 31 o1 | my | HE L L2 H s % =
0BL*G7-106 | 6 | = _, ' ; | OBL#GB-106 6
0BL*G7-106.4 | 6.4 | [ 174 ]I | 0BL*G8-106.4 6.4 14
Loleanailis e ) | _5/16 (OBL#G8-108 | 8 | | 5/16
Bl e 1095 | 5° am 20 27 0.4 30 M6X20 N e e T v 37 20 27 0.4 30 M6X20
0BL*G7-110 | 10 178 | | ‘oBL*68-110 | 10 | 1/8
__|oBLsG7-112 | 12 | P - | Jl . 0BL*68-112 12 |
| 0BL+67-212.7 | 12.7 | T | 0BL#*GB-212.7 | 12.7 | 1 172
_OBL#G7-213.5 | 13.5 | 1/4 | | 0BL#68-213.5 | 13.5 | 1/4 |
Lo | OBL*G7-214 ™ 14 [ e T T =
- L2
0BL=G7-215 15 42 26 33 0.6 30 M6X25 OBL*G8-215 | 15 | | 42 26 33 0.6 30 MEX25
OBL*G7-216 | 16 | s/ | 0BL*G8-216 | 16 | | 5/8
0BL#G7-217.2 | 17.2 | 3/8 | , 0BL*068-217.2 | 17.2 | 3/8
OBL*G7-218 | 18 i ‘_ | 0BL#G68-218 | 18 |
| 0BL#G7-319 19 | 3/4 | r | OBL#*G8-319 | 19 | 34
0BL#G7-320 | 20 | I ] OBL#68-320 | 20 |
L3 O0BL#G7-321.3 | 21.3 1/2 | L3| 0BL#68-321.3 | 21.3 | 1/2
oBLse7=3z2__ | 2 | | @ | °° o i ot o il _0BL#68-322 | 22 | 778 i e 3 ik 2 ksl
| 0BL*G7-325 25 | [i==1;5=x] | | , ; OBL*G8-325 25 | 1
0BL*G7-426.9 | 26.9 3/4 | 0BL#G8-426.9 | 26.9 | 3/4 |
L4 oBL#G7-428 | 28 | | | 59 40 42 0.6 30 MGX35 L4 0BL*G8-428 28 : 59 40 42 0.6 30 M6X35
OBL*G7-430 | 30 ; l | OBL*BB-430 | 30 | |
0BL*G7-532 | 32 | | twa | (OBL+G8-532 | 32 | = | T4 |
0BL*G7-533.7 | 33.7 1| | | OBL#68-533.7 | 33.7 | 1 |
OBL*G7-535 35 f  OBL#G8-535 35 |
T TR el 52 58 0.8 30 M6X50 LS oBTeca595 | 2 ] =7 71 52 58 0.8 30 M6X50
0BL*G7-540 | 40 i I _0BL*68-540 0 | ' |
OBL*G7-542 | 42 1174 | | | oBL*@8-542 | 42 | 11/4 | 1 I
OBL*G7-644.5 | 44.5 | 138 | _OBL#G8-644.5 = 44.5 | 13/4
L6 OBL#G7-648.3 | 48.3 11/2 | 86 66 66 0.8 30 M6X60 L6 OBL#G8-648.3 | 48.3 | 11/2 | 86 66 66 0.8 30 MEX60
| 0BL*G7-650.8 | 50.8 g5l | OBL#68-650.8 = 50.8 | 2
OBL#G7-757.2 | 57.2 | 2174 | | | 0BL#68-757.2 | 57.2 | | 2174
OBL#G7-760. 3 60. 3 2 i [}BL#GB -760. 3 60.3 | 2
L7 OBL¥G7-763.5 | 63.5 (BT LR 94 93 0.8 30 MGX85 L7 0BL#G8-763.5 | 63.5 Lorare 121 94 93 0.8 30 M6X85
0BL#G7-770 | 70 | | 23 | OBL#G8-770 m 234
0BL#G7-773 | 73 i | (OBL+68-773 | 73 | | |
| 0BL#67-776.1 | 76.1 | 21,2 | 3 | | | , | | 0BL%G8-776.1 _1@.__1_ ]__21.-_'1'_ - . . .
0BL*G7-888.9 | 88.9 3 | OBL#G8-888.9 | 88.9 g = |
B e T 147 | 120 118 0.8 30 M6X110 iy v ; 147 120 118 0.8 10 e
nEAFEMER SR eERIGETTRIRA fFE&#8#R: DIN3015 1 NEAFRNEA R HEERIBTEL] HE A HE&fEtr: DIN3015 |

Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 | Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1




H15E#R ( Acc.to national standard ) :JB/ZQ4008-2006

OB L*Ggﬁﬂﬁﬁ OBL*GS9 light pipe clamps

SRR + E R+ B 24+ S8 ERF Hexagon head holt+cover plate+clamp body+rail nut

[ W]

D1

o

OB,'L*G'] Uﬂﬂﬁ% OBL*G10 light pipe clamps

H15E#R ( Acc.to national standard ) :JB/ZQ4008-2006

Pl
L HT ; g el
ek ! e —=
| MG
il 4 i
-2 jﬂ I
R | .
EHk{E clamp body Fif cover plate S8h rail nut 4% bolt
R gue | AR AR . R = i
|l ° D1 %t L1 L2 | H s % L1 12 s
| OBL*G9-106 6 | I N —]
0BL#*G9-106.4 6.4 1/4
' OBL*G9-108 g8 | | 548
i pre e ] s o a7 20 27 0.4 30 34 20 3 MGX30
OBL#@9-110 | 10 | 1/8 |
 OBL#G9-112 12 = |
~0BL*G9-212.7 | 12.7 | 1/2
| 0BL*G9-213.5 | 13.5 1/4
12 0BL*G9-214 | 14 |
0BL#*G9-215 | 15 42 26 a3 0.6 30 40.5 26 3 M6X35
| 0BL¥G9-216 | 16 | i 5/8
OBL#G9-217. 2 17. 2 38
OBL*G9-218 | 18 |
| OBL#G69-319 | 19 | 3/4
| 0BL#G9-320 | 20 | =
L3 O0BL#G9-321.3 21.3 1/2
0BLxG9-322 5 me 50 33 16 0.6 30 48 33 3 MGX40
OBL*G9-325 25 1 . |
| OBL#G9-426.9 | 26.9 | 3/4 ' I
L4 pBL*G9-428 28 59 40 42 0.6 | 30 57 40 3 MGX45
| 0BL*G9-430 | 30 | | - i
| OBL*G9-532 32 11/4 ; |
| OBL#69-533.7 | 33.7 | 1 I
0BL#G9-535 | 35
LS e =5 i 52 58 0.8 30 70 52 3 | M6X60
OBL*G9-540 | 40 ‘
oBL+69-542 | 42 | 114 | |
OBL*G9-644.5 | 44.5 & __tasa
L6 OBL#G9-648.3 | 48.3 | 112 86 66 66 0.8 30 86 66 3 M6X70
| OBL*G9-650.8 | 50.8 . | |
| 0BL#G9-757.2 | 57.2 | 21/ | |
 OBL#*G9-760.3 | 60.3 | 2
L7/ 0BL*G9-763.5 | 63.5 | 212 | qo1 | o4 o3 | 0.8 | 30 | us | o4 5 | M6X100
OBL*G9-770 | 70 23/4 | .
| OBL#*G9-773 | 73 | | |
0BL#G9-776. 1 76. 1 21/2 3 Al - | | || e || |
0BL#69-888.9 | 88.9 | 3 147 | 120 | 118 | 0.8 | 30 144 | 120 5 | M6X125
0BL*G9-8102 102 4 :

|
4 bolt
R as |WHE | RS L falis "
5 D1 E e L1 L2 H s x &
| oBL*G10-106 | & |
0BL*G10-106.4 | 6.4 1/4
0BL*G10-108 8 | 5/18
L1 UB[.*Giﬂ—lﬂH 5 I 9.5 .- = 278 a7 20 27 0.4 30 M6X20
0BL*G10-110 | 10 | 1/8
OBL*G10-112 12
| 0BL¥G10-212.7 | 12.7 | 1/2
0BL*G10-213.5 | 13.5 | 1/4
L2 _ OBL*G10-214 | 14 !
0BL*G10-215 is: | 42 26 33 0.6 30 M6X25
0BL*G10-216 | 16 | 5/8
0BL*G10-217.2 | 17,2 3/8
0BL*G10-218 | 18 |
| 0BL*610-319 | 19 | 3/4
0BL*G10-320 | 20 |
L3 | OBL*G10-321.3 @ 21.3 1/2
Fasaeio5 m 2 ol 78 50 33 36 0.6 30 M6X30
OBL*G10-325 | 25 | 1
 OBL*G10-426.9 | 26.9 | 3/4
L4 0BL*G10-428 | 28 | 59 40 42 0.6 30 MEX35
0BL*G10-430 | 30 |
0BL*G10-532 | 32 114
| OBL*610-533.7 | 33.7 | 1
0BL*G10-535 35
i el R LT o 71 52 58 0.8 30 MEX50
0BL*G10-540 | 40 |
| OBL*G10-542 | 42 | 11/4
0BL*G10-644.5 @ 44.5 1374
L6 OBL*G10-648.3 | 48.3 | 11/2 86 66 66 0.8 30 MEX60
| 0BL*G10-650.8 = 50. 8 2
_0BL*G10-757.2 | 57.2 | 21/4
O0BL*G10-760.3 @ 60. 3 2
L7 | 0BL*610-763.5 | 63.5 | 212 121 94 93 0.8 30 M6X85
 0BL*G10-770 70 | 23/4
0BL*G10-773 | 78 |
| OBL*G10-776.1 | 76.1 212 3 B - R B | X
Lg 0BL¥G10-888.9 | 88.9 | 3 147 120 118 0.8 30 MEX110
0BL*G10-8102 102 4

NERFRRNER R EERIBEITRHIRHA

Other forms or requirements need to be expressed by ordering.

HFE5#¥R. DIN3015 1
Acc. to German standard: DIN3015 |

IMERFRAFERA SR CERIBEITHREHRH

Other forms or requirements need to be expressed by ordering.

F&EER. DIN3015 |1
Acc. to German standard: DIN3015 1




OBL*G11RREE R

H17E#$R ( Acc.to national standard ) :JB/ZQ4008-2006

A< A2 + B E£ (K Hexagon socket bolt + clamp body

OBL*G11 light pipe clamps

OBL*G12REI&E X

OBL*G12 light pipe clamps

#bﬁﬁﬂﬁ+ﬁﬁ+ﬁ%¢ Hexagon head bolt + cover plate + clamp body

D1

i il

#45E+#r ( Acc.to national standard ) :JB/ZQ4008-2006

o e %
p LI !
i JA
L/ TR I
4 L2 | i
A H U
% e Ek{k clamp body 8232 bolt
# TEe BHE AR LESL g i
5 D1 ®x+ | MR L1 L2 l H I s %
| OBL*G11-106 6 - 1 = —
0BL*G11-106. 4 6.4 1/4 |
 0BL*G11-108 | 8 5/16
L1 T +a11-109.5 | 9.5 =78 a7 20 27 0.4 30 M6X20
_OBL*G11-110 | 10 1/8
OBL*G11-112 12
OBL*G11-212.7 | 12.7 1/2
| 0BL*G11-213.5 | 13.5 | 1/4
| | OBL*G11- 214 | 14
O0BL*G11-215 15 42 26 33 0.6 30 M6X25
0BL*G11-216 | 16 5/8
OBL*G11-217_2 19:2 3/8
| OBL*G11-218 | 18
| 0BL*G11-319 | 19 3/4 |
0BL%G11-320 | 20 J
L3 | 0BL*G611-321.3  21.3 1/2 :
[obtwaiizssz. | 22 | 78 50 33 36 0.6 30 M6X30
| 0BL*G11-825 25 _ L 1
| OBL*G11-426.9 | 26.9 3/4 !
L4 | 0BL*G11-428 28 59 40 42 0. 6 30 M6X35
0BL*G11-430 | 30 | | .
 OBL*G11-582 | 82 | 11/ |
| OBL*611-533.7 | az.7 |
0BL*G11-535 35
L5 CoBLsati-538 | as = 71 52 58 0.8 30 MBX50
| OBL*G11-540 40 !
0BL*G11-542 | 42 11/4 |
OBL*G11-644.5 | 44.5 | 13/4
L6 0BL*G11-648.3 | 48.3 11/2 86 66 66 0.8 30 MGX60
| OBL*G11-650.8 | 50.8 i ity | : =
0BL*G11-757.2 | 57.2 21/4 |
 0BL*G11-760.3 ﬁu 3 2 _
L7 0BL¥G11-763.5 | 63.5 212 | 4y 94 93 0.8 30 M6X85
_0BL*G11-770 70 23/4 |
_OBL*G11-773 | 73 .'
| 0BL*G11-776.1 | 76.1 2172 5=
| 21/ A _
L8 | g 0BL*G11-888.9 | 8s.0 | 3 | 120 118 0.8 | 30 M6X110
0BL*G11-8102 102 4 |
E AARNEA S EERFE TR A fFE18#R: DIN3015 1

Other forms or requirements need to be expressed by ordering.

Acc. to German standard: DIN3015 1

& 1 110 o T 8 | ® | sana)
T Py : .*T‘ 1
Fan =
i _f\—_—/.,.? L1 U
i : 2 | K/ |
dh dh B e i
£ gk clamp hc:d!f Z4E cover plate 24 bolt
Al anm | 2R BE A ag AR =2 wie
.7} D1 by L1 L2 H s " L1 L2 5
OBL*G12-106 6
0BL*G12-106.4 6.4 1/4
| OBL*G12-108 8 " 5/16
T T . 37 20 27 0.4 | 30 34 20 3 M6X30
0BL*G12-110 10 1/8
OBL*G12-112 12
0BL*G12-212.7, 12.7 1/2
0BL*G12-213.5  13.5 1/4
Lo OBL¥G12-214 | 14
0BL*G12-215 15 42 26 33 0.6 30 40.5 26 3  M6X35
_OBL*G12-216 16 5/8
(0BL*@12-217.2| 17.2 | 38/8 | |
OBL*G12-218 = 18 = i
OBL*G12-319 19 3/4
(0BL¥G12-320 | 20 | |
L3 | 0BL*G12-321. 3| 21.3 1/2
omLeato-322 | 22 : 778 50 33 36 0.6 | 30 48 a3 3 M6X40
_ |oBLw@12-325 [ 25 | 1
OBL*G12-426.9  26.9 3/4
L4 OBL*G12-428 28 59 40 42 0.6 30 57 40 3 M6X45
0BL*G12-430 30 {
| OBL*G12-532 82 i
0BL*G12-533.7  33.7 1
0BL*G12-535 35
L5 "0BL»G12-538 38 = 7 52 58 0.8 | 3o 70 52 3 N6X60
(0BL*G12-540 40
0BL*G12-542 42 T1/4
OBL*G12-644.5  44.5 13/4
L6 OBL*G12-648.3  48.3 112 86 66 66 0.8 | ao 86 66 3 M6X70
0BL*G12-650.8  50.8 2
| 0BL*G12-757.2  57.2 21 4
| DBL#G12-760.3  60.3 2
L7 0BL¥G12-763.5] 63.5 202 | 121 | 94 | 93 | 0.8 | 30 | us | 94 | 5 |mex100
0BL*G12-770 70 23/4
| 0BL*G12-773 | 73
0BL*G12-776.1| 76.1 212 3 il | = Al e |l — _
LS | |0BL#G12-888.9| 88.9 3 147 || 120~ | i3 | ois|| 80 144 | 120 5 M6X125
OBL*G12-8102 102 | 4
E AR EH EERKIBELT %A FfFE&#tR: DIN3015 1

Other forms or requirements need to be expressed by ordering.

Acc. to German standard: DIN3015 1




Y 74 Hardware

OBL G 1352 8I= " OBL*G13 light pipe clamps

L1242 + RBEIR + B K Stacking bolt+safety locking plate+clamp body

[ 4 5

D1

11

OBL*EER

27/28

EMTIE IR Angled Welded base plate

B1

e

#145E4: ( Acc.to national standard ) :JB/ZQ4008-2006

#17E4% ( Acc.to national standard ) :JB/ZQ4008-97

ZsCE e =% | OBL*bottom plates or rails of other forms

T -
sl (|@®@ | @
s i | B
L2
TN E——
_12
1.5

RS R  Bridge Welded base plate

L3

L1
e —

i . i [
sile eo | @ e | 60 | @[/ ®
L2 J 2 | r ==
= -
a) A2
- 4 T‘—El “{__:_ e _m
Twm%ﬁcﬁ:&e plate
%Jeldedbaseplme i B2
| B2
e =Y
o g2 " B2
.l...f"'“'j . 5 i SR e, T 2
- | \
[ S ] i Ia L] N E— I
| B1 LK B1 -
SXL-E2 SXL—E3
RESH WEREERER EBREEER REBEEWR BREBEER
SHL-E#* SHL-DOD SHL-D1 SHL-D2 SHL-D3
B1
B1 B2 s L1 L2 L3 s L1 L2 L3 L1 L2 B2 s L1 L2
L1 717 | 20 a7 3 20 a7 16 20 30 3 48 20
L2 86 26 44 3 E 26 44 42 26 30 3 54 26
L3 102 | 33 52 3 51: a3 52 50 33 30 3 62 33
L4 136 40 60 3 i 40 60 60 40 30 3 71 40
28 11 2 3
LS 145 | 52 75 3 - 52 75 70 52 30 3 85 52
B
L6 178 66 90 3 66 90 88 66 30 3 a8 66
L7 '
L8

| S g - M6
= [ | B4 ) e —
o QOO NI i)
;I ll\z"_'/.‘l 1 ﬂf‘ﬂ
L i
& , %y
L1 b = - e
BE3{k clamp body {2Bs#h safety locking plate {£3L884% stacking bolt
% eSS IR LR
5| RE e L1 L2 H S L L1 L2 L3
OBL#G13-106 3 |
OBL*G13-106.4 | 6.4 14
OBL*G13-108 | 8 5/16
L1 0BL¥G13-109.5 | 9.5 e 37 20 27 0.4 34 34 20 12
 OBL*G13-110 10 1/8
OBL#G13-112 12 1 |
| OBL*G13-212.7 | 12.7 1/2
| 0BL#*G13-213.5  13.5 1/4
LE!J;BL*G13 214 14
OBL*G13-215 15 42 26 33 0.6 40 40 25 12
[ﬂBL#G13 216 16 5/8
OBL#G13-217.2  17.2 3/8
|| 0BL*G13-218 18
0BL*G13-319 19 3/4 |
OBL*G13-320 | 20
L3 | OBL#G13-321.3 21.3 1/2
Bhediteity il s — : 4
ﬂEL¢G13 322 aa 78 a0 33 46 0.6 8 44 30 12
(OBL#G13-325 | 25 | | 1
 OBL*G13-426.9  26.9 3/4
L4 0BL#G13-428 28 59 40 42 0.6 57 48 35 12
| DBL#G13-430 30
 OBL#G13-532 32 11/4
(0BL#G13-533.7 33.7 2
| OBL#*G13-535 35
L5| GG e 71 52 58 0.8 70 64 50 12
| OBL#G13-540 40 -
| 0BL*G13-542 42 11/4
OBL#G13-644.5 44.5 13/4
L6 | OBL*G13-648.3 | 48.3 11/2 86 66 66 0.8 85 73 60 12
| OBL#G13-650.8  50.8 2
| 0BL*G13-757.2 | 57.2 = 21/4 |
IﬂBLtE13 760.3  60.3 2
OBL#G13-763.5 | 63.5 212
121 4 93 0.8 118
= OBL*G13-770 | 70 234 : 3 -x = =
|UBL#G13 -773 73 ;
| OBL#G13-776.1  76.1 21/2 3 1
| 0BL*G13-688.9 | 88.9 3 147 | 120 | 118 | 0.8 144 124 10 | 412
| 0BL*G13-8102 102 4
EAAERNR S H EERIEE T IRA fFE#%R: DIN3015 1

Other forms or requirements need to be expressed by ordering.

Acc. to German standard: DIN3015 1|

IMERAF RN R CERFEITRELH

Other forms or requirements need to be expressed by ordering.

FE&8ER: DIN2015 1
Acc. to German standard: DIN3015 1




'_n- Hardware

#A7E+R ( Acc.to national standard ) :JB/ZQ4008-2006 #7E#$R ( Acc.to national standard ) :JB/ZQ4008-2006

mﬁﬁﬂ' E_;IJ Twin combination series
WELZR B B2 E =L Twin series with single bolt T B B

Schematic drawing

XQ ﬂ E % | Twin pipe clamps

WEER. EFRERTEE. 5F. 1. F9H. B, ahSHEERESRNR. . SHENENEZEEEER.

ARFEAEREMATRE. EE (Ph=8WPa) BEEE.

Light pipe clamps: { This product applies to the mechanical hydraulic system of metallurgy, petroleum. chemical engineering. vehicle shipping elecinc power and so forth as
the pipe clamp fixing the pipeline which media is oil or waler or gas.Light pipe clamps are it for the pipeline fixation in middle pressure or lowpressure(PN <= 8MPa).)

1.GITPG+- T HRREARSEAFMMEERTIERE-307+007C

GJTPG type-the working tempersture of light pipe elamp with grooved bore of the engineering polypropylene type is —30—+90T
2.JTPs+- TERABEIEATLEREERTERM-30+90T

GJTPS vpe—the working temperature of light pipe clamp with smooth bore of the engineering polypropylene type is —30—+00T
3.GITNG+HIBEEREAIFLMEEERTIERE-40"+120T

GJTNG type—the working temperature of light pipe clamp with grooved bore of reinforced Nyloa type is =10-+120°C
4. GITNS+-HMBREEPEEMILANEERTIERE-40"1120T

GJTNS type-the working temperature of light pipe clamp with smooth bore of reinforced Nylon type is =10~+1207T
5. GITLG BRI HTLLEE ¥R ITiERME-50"+300TC

GJTLG type—the working temperature of light pipe clamp with grooved bore of Aluminum alloy type is —=3M=+3007T
6.GITSG+- B INE B M FLMEE R ITFRE-50"+300C

GJTSG type—the working temperature of Light pipe clamp with grooved bore is <30—300T
1.GITGC+-HBIB R AFLLMME = T {ERE-807+500C

GJITGG type—the working temperature of light steel pipe clamp with grooved bore is =80~+5001C
8. GITBG AR REUAFIMBE R TIESE-807+500C

GJTBG type—the working temperature of light stainless steel pipe clamp with grooved bore is —Bi-+501T

i% 8-

1. 2. HEES. 8. 588, SREEHED
B, REEERREMEAHLESE. METERIES
2. AR EREER. BREAE

3. RERAEHRSNERGILELERS SN

(MNotes: The standard of the material of cover.welding board,

rail rail nut and bolt i< carbon steel. Other matenals can also be
usad according to hte

customers” needs. Please note,while ordering.)

{ Notes: Multi—pipe clamp can be designed.up to five.)

{Motes: For other type board or il KSTL* type board or rail
can bi used.)

® b (A FAMERE  Hexogonalizocket) bolt ® 5h () FMEEE Hexaponalisocket) bolt ® 5k (A AMEERE Hexagonalisocket) bolt
e B $ Cover * 5B . Cover . B i Cover
e W BE F ZE (& Duplex pipeclamp body o W B F E (& Duplex pipe clamp body o I B W I {& Duplex pipe clamp body
e {3 [ = i Safeguand e T = i Safeguard e IF [ R  Safeguand
o 4c i ¥ Long-hcaded bolt e 4 L 8] B Long-headed bolt e K I 8 2 Long-headed bolt
o B ¥ Z; {& Duplex pipe clamp body e I B B FI (& Duplex pipe clamp body e 5B B I & Duples pipe clamp body

® B ¥ Motherboard s 5 % W & Rolonu

e 5 & Rai

MERFRNEARHEEETRIFEITRILHA FE&#®ER: DIN3015 I nERARMEAR A CERIBET R A FFERPR: DIN3015 I

Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 Hl Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1l




V A Hardware

#15EER ( Acc.to national standard ) :JB/ZQ4008—-2006 H5E#R ( Acc.to national standard ) :JB/ZQ4008-2006

OB TG IMESWFL &= OBT*G1 twin pipe clamps OBT G2WESAFLE % | OBT*G2 twin pipe clamps

SN EIR 2+ SR+ B2 +181E KR Hexagon head bolt+cover plate+clamp body+Welded base plate R/ FAiERe+ SR+ B 2k + /83 ER Hexagon socket bolt + cover plate + clamp body + welded base plate
. - . I
B [+]
e x .E%.".EM ) i i ;
i e ::1 T i | T i 1 o= »
i I 2 D1 )
1 DZ il ‘.. /_-.._._._ ' ,//J-I -I-
] - i T Lid I @ & - 7 S
I I POl =
'_/"// \ ' ! [ ' 1 . 1 it L ._[ L
s L u * L .5 p o ' B N
Eie K EiR IRERER
=1k 1R ERAR bolt clamp body cover plate Welded base plate
cover plate Welded base plate
% EIhE =ik E iR RERR z EoE B Ek & | BEES
5 RE D1/D2 i Lt e R S N e I TS o (I i 5| L D1/D2 I M A O T 3l (53 1 T 3 "
0BT+G1-106 _6/8 | | onTeaz=106 | = 6/6 '
. OBT*G1-106.4 6.4/6. 4 0BT*G2-106. 4 6.4/6.4 |
11| 0BT*G1-108 | 8/8 |36 |20|27|0.8l30 34| 7|3 | 7|37 3|6 |12|ne|mex3s T ) el e UL 8/8 |36 | 20|27 |0.8]30 34| 7 |3 | 7| 37| 3|6 |12|us|mexas
 0BT*G1-109.5 9.5/9.5 | 0BT*G2-109. 5 9.5/9.5 | | |
0BT#G1-110 | 10/10 | | . OBT*G2-110 10/10 |
|| 0BT*G1-112 Jio 12712 . = . . 0BT*G2-112 12/12 - |
| OBT*G1-212.7 1 12.7/12.1 | ' 0BT*G2-212. 7 12.7/12.7 | i
. OBT*G1-213.5 13.5/18.5 , 0BT*G2-213. 5 13.5/13.5
1o OBT#G1-214 14/14 1o 0BT*G2-214 14/14 |
 0BT#G1-215 I 15718 (53|20 270,830 52 7|3 9|55 5|6 14 M8 WBX35 " oBTG2-215 | 15/15 1532927 0.8/30 52 7|3 9 55 5 6|14 Mg M8X35
. OBT*G1-216 [ 16/16 | 0BT*G2-216 16/16 |
0BT#G1-217. 2 by A | DOBT*G2-217. 2 17.2/17.2 |
0BT*G1-218 | 18/18 : _ _ ___ OBT*G2-218 18/18 'l I | il = |
0BT#G1-319 19/19 | | . 0BT*G2-319 : 18/19 | [ 155 i
0BT#G1-320 | 20/20 | | . 0BT*62-320 20/20 | | | ' .
Taf OBT#*G1-321.3 | 21.8/21.3 67 | 36 37 0.8 30 65 T 3 9 70| 5 6 14 N&  MNBX45 T3 | OBT*G2-321.3 21.3/21.3 67 | 36 | 37 | 0.8 30 65 7 3 | 9 70| 5 6 14 | K8 Ma8x45
. DBT#G1-322 | 22/22 ; ‘ | 0BT*G2-322 22/22 | | |
OBT*G1-325 . 25/25 . | 0BT*G2-325 25/25 : I | | l
OBT*G1-426. 9 | 26.9/26.9 | OBT*G2-426. 9 26.9/26.9 |
T4 0BT*G1-428 28/28 |80 (45|40 (0.8/30| 79| 7|3 | 9|85/ 5 | 6 | 14| M8 | NBX50 T4 oBT*G2-428 28/28 180 |45 /40 0.8/ 30|79 7 |3 | 9 855 | 6  14|M8 MBXS50
0BT*G1-430 I 30/30 | | ) (S el pe il ___ OBT*G2-430 30/30 | | | . - :
_0BT#G1-532 . 32/32 | L |  0BT*G2-532 _32/32 | |
. OBT#G1-533.7 [ 33.7/33.17 | | | OBT*G2-533.7 I 33.7/33.7 | | |
. 0BT*G1-535 35/85 | | 15 OBT*G2-535 35/85 | Lala! | |
Tﬁl__ﬁlﬁlfﬁ]_:_ﬁﬁﬁ_ l PYVIT !mﬁ 56 53/0.830(102] 7 |3 | 9 110 5 | 6 | 14 M8 | M8X60  0BTx62-538 i waﬂ,,{ﬂj.__lmﬂ 56 |53 0.8/ 30 (102 7 |3 | 9 |110[5 | 6 | 14| N8 | MBX60
. 0BT*G1-540 40/40 | ____OBT*G2-540 40/40
 OBT#G1-542 | 42/42 ) | |  0BT*G2-542 l 42/42 | l
iR, ER—FJFNEIMETARE, Flin T2, ¢ 16,  1BSXT *G1-216/218 il ER—RFNEIMEFIARE. Flin T2, ¢ 16. ¢ 18SXT * G1-216/218
Mote: Out diameters of pipes in the same series can be different. E.g. T2, ¢ 16, ¢ 185XT"G1-216/218 Note: Out diameters of pipes in the same sernies can be different, E.g. T2, ¢ 16, ¢ 1BSXT1°G1-216/218
nEAFRENER S HEERIBEIT R RNA FFE&1@4¥%: DIN3015 I nERAFRRNEN S  EERIBELTEENR A fFE&f@#R: DIN3015 I

Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1l Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1l




Y 7/ Hardware

#115E#%5 ( Acc.to national standard ) :JB/ZQ4008-2006 Hi7E#ER ( Acc.to national standard ) :JB/ZQ4008-2006

OB T GBSO L= OBT*G3 twin pipe clamps OB T GAWESWFL == OBT*G4 twin pipe clamps

SN FRIR 4 + R+ B ik + SEhiB R Hexagon head bolt+cover plate+clamp body+rail nut A 7S AR + R+ E X+ S5 12E Hexagon socket bolt + cover plate + clamp body + rail nut
= D : - . :
I - 1 =1 -—u--t Hil ]
[ T
28
‘ m1- \E}/ —-E‘I'--
| | ’ ..Z 1
| SR S—
i g .
B EiR ShRE S EiR SHRE e
clamp body cover plate rail nut bolt cover plate rail nut bolt
&3k & W SFHhEs % ExE B W sN8s
o nse i wi % e i
5 D1/D2 (25 0 W ) ) [ B (OO I D @ 5 D1/D2 ctlez| | s|ml|n]|s |0 D G .
0BT*G3-106 . 6/6 ' | i hd b Ll 8/6
. OBT#G3-106.4 6.4/6.4 ] . 0BT*G4-106. 4 6.4/6.4
T4 0BT*G3-108 8/8 36 |20 |27(0.8/ 30 34| 2|3 | 7| 12 M6 M6X35 gy duisas- 100 8/8 36 | 20|27 |0.8/30 34| 7|3 | 7| 12 MG MBX35
OBT*G3-109. 5 | 9.5/9.5 0BT#G4-109. 5 9.5/9.5
. OBT*G3-110 | 10/10 0BT*G4-110 10/10
. OBT#G3-112 : 12/12 _ OBT*G4-112 12/12
0BT*G3-212.7 12.7/12.17 . ' 0BT#G4-212. 7 12.7/12.1
OBT#G3-213. 5 | 13.5/13.5 | 0BT#G4-213.5 13.5/13.5
7o 0BT*G3-214 14/14 ! 12| 0BT*G4-214 14/14 ssll a5l Vol waliasd 5 s el s o e
OBTe05-215 35/16 1532927 0.830|52 7|39 14 M8 M8X35 OBT*G4-215 15/15 | 9-
0BT*G3-216 | 16/16 | _ O0BT¥G4-216 | 16/16 | |
0BT*G3-217. 2 ? 17.2/17.2 .i | O0BT#G4-217.2 |  17.2/17.2
0BT#G3-218 18/18 A L) | =y [ P 1 | [ | | | OBT#G4-218 | 18/18 i =t/ = =
0BT#G3-319 | 19/19 : : | OBT*G4-319 19/19
_O0BT*G3-320 |. 20720 0BT+64-320 20/20
T3  0BT*G3-321.3 | 21.3/21.3 67,36 | 37.10.8] 301851 T 13 | 9| 14 M8 M8X45 T3| 0BT*#G4-321.3 21.3/21.3 B St U s (R A3 | et R | s MBX45
0BT#63-322 | 22/22 0BT*G4-322 22/22
OBT*G3-325 25/25 | || OBT*G4-325 25/25 _ , ! |
0BT*G3-426. 9 26.9/26. 9 ] OBT#G4-426. 9 26.9/26.9 | |
T4 oBT*G3-428 - 28/28 180 | 45|40 0.8/ 30 (79| 7 |3 | 9 14 Ma M8X50 T4 oBT*G4-428 28/28 80 (45|40 (0.8/30| 79| 7|8 | 8 14 M8 M8X50
| OBT*G3-430 30/30 2= | DBT*G4-430 30/30 L] e || |
| OBT#G3-532 | 32/32 ' | | ' ' | OBT*G4-532 32/32 .
. 0BT#G3-533.7 33.7/83.17 __0BT+G4-533. 7 ; 33.7/33.17
OBT*G3-535 @ |  35/385 | . OBT#G4-535 35/35
TE!_EE_Tf_ﬁ_&-_ﬁéﬂ i YT 1nﬁ|55 53 0.8/ 30 (102 7 |3 | 9| 14 M M8X60 L T 106| 56 | 53 0.8/ 30 |102| 7 | 3 | 9 | 14 Mg M8X60
. 0BT*G3-540 40/40 0BT#G4-540 40/40
| OBT*G3-542 42/42 | | : 0BT*G4-542 42/42
ill: ER—RIIEIMETRRE. Fi30 T2, ¢ 16. ¢ 18SXT *G1-216/218 . ER-REFEIMZTTE. P T2, ¢ 16, ¢ 18SXT *G1-216/218
Note: Out diameters of pipes in the same series can be different. Eg. T2, ¢ 16, ¢ 185XT"G1-216/218 MNote: Out diameters of pipes in the same series can be different. E.g. T2, ¢ 16, ¢ 185XT"G1-216/218
NERFENEA S HEERIBELT HRNRA FE&#HER: DIN3015 I mfE AR S EERIGEITHRHREA FFE#+R: DIN3015 I

Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1l Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1l




/7il Hordware .

A TTEPRE ( Acc.to national standard ) :JB/ZQ4008-2006 ATEER ( Acc.to national standard ) :JB/ZQ4008-2006

OB T GSMBONFLESEN OBT*G5 twin pipe clamps OB T GEXMESWFL &= OBT*G6 twin pipe clamps

NS EBIRRE + R+ B 34K Hexagon head bolt+cover plate+clamp body ki + EE R+ REEHR Stacking bolt+clamp body+safety locking plate
o -
“’% —_— 1
T | {b-/ ‘
4 g l
L

Btk EiR SFie _ RE21R
clamp body cover plate bolt clamp body stacking bolt safety locking plate
& Rk L - oR B AR
% TEe TiE
% Bx& & W 51 D1/D2 L1 L2‘ H|S j % |ta |lee | 2| s sw| L | B | B1 ‘ S
_t]-ﬁ_g_ i*& g&, == i : = | = i & fig=s =: = = = B
31 D1/D2 L1 L2 | H $ | ® | L H s D | OBT*G6-106 | 6/6 1 I
T 3 — OBT+G6-106. 4 6.4/6.4
0BT*Ga-100 i b/6 OBT*G6-108 8/8 i A27 | A22
| O0BT#G5-106.4 | 6.4/6.4 T 0BT+G6-109.5 | 9.5/9.5 s bl s | (R ) BT (20 B
11| OBT*G5-108 | _8/8 136 | 20| .27 | 0:&| an | 3% | 7 3 7 M6X35 | 0BT*G6-110 | 10/10
et L] | =iy S8 | OBT*G6-112 |  12/12 |
0BT*G5-110 - 10/10 | OBT*G6-212.7 12.7/12.7 |
0BT*G5-112 | 12/12 | - OBT#G6-213.5 13.5/13.5
0BT*G5-212. 7 . 12_1/12.17 ' =  0BT*G6-214 14/14 | . A27 | A22
ggl*zg,g:i_ﬁ | ia}ii:i'E T 55 |99 29 27 [ai8l 20 | ms; | 8a | 20| 42 w2 [l faes A |
P _ . 6-215 e .
L R TRan =215 ' T 53 29 | 27 | 0.8| 30 | s2 7 3 9 M8X35 . 0BT*G6-216 _16/16
OBT*G6-217. 2 17.2/17.2
0BT*G5-216 s 16/16 . OBT#G6-218 18/18 . .
0BT*G5-217. 2 ! 17.2/17.2 | OBT#G6-319 19/19 T 1 Tl ' ] 7 T 1
0BT*G5-218 | 18/18 | _ | | | . | 0BT*G6-320 il 20/20 | |
. | O = A27 | A22
0BT*G5-319 |- 19/19 T3 OBT*G6-321. 3 _ 24.3/21.3 6713637 10.8 30| M8 | 44 | 29 | 12 | 12 | pes | pog| 12 | 1
. 0BT*G5-320 ! 20/20 si |l wel s sl ws | as | 5 o T | OBT#66-322 | 22/22 |
T3 0BT*#65-321.3 |  21.3/21.8 | : . 0BT#*G6-325 . 25/25 ' '
0BT#G5-322 ' 22/22 1 || 0BT+G6-426.9 | 26.9/26.9
0B T#83-325 | 25/23 | T4 08T*G6-428 | 28/28 80 |45 [40 0.8/ 30 | M8 | 49 | 34 | 12 | 12 |A2T|A22] 45 |
0BT*G5-426. 9 , 26.9/26.9 | (e tesin | T B45 | B28
T4 oBT*65-428 _ 28/28 80 45 | 40 | 0.8| 30 | 719 | 7 3 9 M8X50 0BT+G6-532 ; 32/32 [T !
DB Tacs ooz | 3377 = R P e e P e - | 0BT*G6-533.7 |  33.7/33.7 .
*G5- ' |
BT*G5-582 | 32/32 __ 0BT*G6-535 35/35 | | | A27 | A22
331*65_533_7 38.7/38.7 Tsi e | S s 106 56 53 0.8 30 | M8 | 61 | 46 12 |12 | pol| pof | 12 |
75 |—201x89-33> : 85/38 106 | 56| 58 | 0.8 30 |02 | 7 | 8 | 9 | wmexso 0BT+G6-540 | 40/40
 0BT#65-538 _ 38/38 i ___ OBT*G66-542 | 42/42 - = |
0BT*G5-540 _ 40/40
0BT*G5-542 ' 42/42

$0H. ER—FNEIMETRE. Bl T2, ¢ 16. ¢ 18SXT*G1-216/218 ( TRt S REL, BETR)
NOE: Uul gidmelers o pipes in e Same sernes can be diilerent. £.9. 12, @ 10, @ 160A1 Gi—-2I10/2 10

Multi-layer clamps are possible five layers at most

S8 F

inil. EE—RFIEIMETFRE. Fli0 T2,  16. ¢ 185XT *G1-216/218
MNote: Out diameters of pipes in the same series can be different. E.g. T2, ¢ 16, ¢ 185XT"G1-216/218

IMERTRMNEA R ETRIBEITRELH SRR DIN3015 I MERFRMNEA R ERRIBEITRERH fAE%#R: DIN3015 I

Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 Il Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 I




37/38

V A Hardware

H5E4R ( Acc.to national standard ) :JB/ZQ4008—-2006 H45E+#R ( Acc.to national standard ) :JB/ZQ4008-2006

SXT HEHZUEIRELSS) Other SXT* Base Plates or Rails & A& =S Heavy pipe clamps
BEREF IR EET heavy series with double bolts

L1 EREE: XF-SERATHE. T 1. 8. iR, RHENERERSDNA. k. SHNENEEEEEE.

ERRTEREATFPE. EE (PN=31.50Pa) FiliFEE.

,"1 .-J Heavy pipe clamps; ( This product applies to the mechanical hydraulic system of metallurgy, petrolenm,chemical engineening, vehicle.shipping.electnic power and so forth as
[ the pipe clamp fixing the pipeline which media is oil or water or gas.Heavy pipe clamps are fit for the pipeline fixation in middle pressure or lowpressure{PM =3 1.5MPa}.)

@ k{i‘}/ @ : .-"J @ 1.GHPG+ T ERAREI AT MNNEE R THFEE-30+90T

J L — GJHPG type—the working temperature of light pipe clamp with grooved bore of the engineering polypropylene type is 34917
2.GHPs+ THEARLIAAAREERTIERE-30 90T

GJHPS type-the working temperature of light pipe clamp with smooth bore of the engineering polypropylene type is =30~+MT

= Lz L2 H JGHNG+HBEZBREATLLMEERTIERE-40" 20T
L GJHNG type—ihe working temperature of light pipe clamp with grooved bore of reinforced Nylon type is —10-+120T
Sy | T T M 4.GUHNS+ B A REMALARAER THRE-407+120C
[ 7/ | i GJHNS type—the working temperature of light pipe clamp with smooth bore of reinforced Nylon type is —40~+120C
4 5.GHLG*- B SRR ATLMER E X T ERE-50+300C

GJHLG type-the working temperature of light pipe clamp with grooved bore of Aluminum alloy type is =50—+300T

| " & 6.CHSG+ BB MTLLME ¥R T E-507+300C
—— — GJHSG type—the working temperature of light pipe clamp with grooved bore is —50—+3007T
1 GHGG RS ML R TR E-807+5007C
$Eﬂ1§ﬁﬁ GJHGG type—the working temperature of ight steel pipe clamp with grooved bore 15 —Bi 50T
Group welded base plates 8.GHBG+- T HREYAFLMAE R T {FEE-80+5007T _
GJHBG 1ype—the working temperature of light stainless steel pipe clamp with grooved bore is —8i—+500C
o e B2 _]
r .' R “ i iE!ﬂ;
: | 1. Bif. HEEE. SH. SOSN8, SERGEHEAEEE. REXFPREERARERE. INEITHMERA

( 2. ATHgHEREER. BRERE

Fe w {Motes:The standard of the material of cover.welding board. rail.rail nat and bolt is carbon steel . Other materials can also be used according to hte

- B2 - B2 customers™  needs.Pleaseé note, while ordering.)
':.I s — 7 | 3 I. 8 (Motes:Multi—pipe clamp can be designedup o five.)
1

-
e
11
s 1
e |
\, !
14
-
=
| —

p | ¥, 1 ii ;
L Bl . B1 k- B1
SXL—E1 SXL—E2 SXL—E3

% z B B B K B % £ 85 5
n L1 L2 L3 S | H G @D B1 B2 S
T1 40 ‘ 18 ‘ 3 ‘ 6 ‘ M6 ‘ 12

s !
T2 ﬁ 58 | 28 5_ 6 | M8 ! 14
13 - 72 l 35 ‘ 5 ‘ 6 | ‘ 14 [IEB| I e
T4 E 90 42 5 6 M8 14 .

bR ' |
T5 112 55 5 6 ‘ M8 ‘ 14

nE AN S EEERIGETT REHRHA FF&#84R. DIN3015 I MEAFRNER S EEERBEITRERRA &R DIN30151

Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1l Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 Il




39/40

V_//E tordware .

#A17E#R ( Acc.to national standard ) :JB/ZQ4008-2006 Mi7E#R ( Acc.to national standard } :JB/ZQ4008-2006

HG1ERE*x

S FBAL + BHR+ B S {k+ IRIZ 4R Hexagon head bolt + cover plate + clamp body + + welded base plate

H*G1 heavy pipe clamps

Eﬂﬁ %ﬁ §I] Heavy combination series

L1
~ B B S ] f
Schematic drawing A &
@ @ | %1
._E"_i
L1 =T
& sz {kclamp body EtRcover plate B ER Welded base plate  ¥42bolt
B &S waHE mE e e =R BERE Y
5 D1 = g |ufe|a[s[x[ufezs[s]mjufz][e]s]n]o
*G1-106 6
4 120 5 S — . |
= | OBH*GI-109.5 | 9.5 | 38 |
5 1.5 (v = =
e = m e 7 17255 33 |32{2 |30|55/33| 8 30| 11]74|33| 30| 8 Hll e p s
) L |
" = T OBH*GI-116 | 16 | 578 | '
@ pBH*GI-117.2 | 17.2 38 |
|__OBH*GI-118 | 18 | | | . !
& TR __OBH*GI-218 | 18 = : ' -
) OBH*G1-219 | 19 1 7]
= 0BH*G1-220 | 20
"\ 0BH*Aa1-221.3 | 21.3 | 1/2 — A |
J H2 _ OBH#G1-232 22 7/8 17045 /48 2 (30|70 45 8 [30| 1186 4530 8 8 18| MI0XE0
= OBH*G1-225 I 28 i 5 .
0BH#G1-226.9 | 26.9 3/4
@ i e i
Ll [ oBMwqT-230 | 30 | | sl i ,
i I e e |
g L ETC L e 18060 60 2 |30 80 60 8 |30 11100/ 60|30 8 8 | 18 MiOX70
— o :__lﬁg.i:l'._‘!'."'i:‘__:'_ﬂ.; | ———— 172 | ' '
— OBH*G1-340 [ 40 | | [
[E] J OBH#G1-342 [ 47 I Ti7a l |
=~ OBH*G1-442 | 42 | 1174
B OBH*GT-d44. 5 1 44.5 | 13/4
= X ggn:g::ﬁgg | gg_.__g | B T 2 ! | '
Hq _ OBH¥G1-455 ; ' 1115/ 90 | 80 | 3 | 45 115/ 00 |10 | 45| 14 [140| 00| 45|10 8 | 20 Mi2X100
| OBH*G1-457 | 1 ' '
' I

@[ T
N
2 \Q)
(1))
1))
Q2
*
\\\@
=
on
I8 |
Sssssss
i
Ll
Sossas2
) B
|
Sy | [BSaq
- e
|
Tl |
N |
o P
il
!
| M
] S| s
s =
.

5 —
S [y ‘ L
6. 122/120({3. 5| 60 152|122/ 10 | 60 | 18 (180|122 60 10 12 24 MIG6X130
J ) . 580 [ 80
o i (1]} » _]-_.'-53’2:..5__:.. .E'E,'"El L s 314
@ [ DBH¥GT-5BB.95 | 88. 9 | 3 i =l o 1 B [
\ H6  OBH#*Gi-688.9 88.9 | 3 |
—OBHele103 | 109 | 30 | | |
I D%Hyﬁl-ﬂ'ﬁa I }gg i 312 4774 | 206168/167 4 | 80 |206 168 15 |80 22 226|168 80 15 18 30 M20X190
. OBH*Gi-6114 | 114 4 ' -
OBH*GT-6127 27 | 5 | | [
| OBH*GI-6133 33 514
3 . : | OBH*G1-7133 133 | 314 | ' '
® 5 (M) SFARE Hexagonalizocker) bolt ® 5 (A AW Hexagonalsocker) bolr ® S () A Hexaponalisocken) balt | D‘BH_‘G_‘I-—]‘]qQ 140 5 B |
- 1 Cover . % 1 Cover p— I& Cover H7 | D%HIT:'E‘E:THE }g% | 515*4 1251/205/200| 4 | 90 [251/205| 15 | 90 | 26 (270/205| 90| 15 | 21 . 30 M24X220
o % B ¥ X (& Heavypipeclamp body o % B % X th Heavy pipeclamp body o & B % F itk Heavy pipe clamp body ;_.g%ﬁ%ﬂﬂ?ﬁ._ _,}Eg_ =p= — 61z | |
[ L~ B i Safeguard & 2 B 5 Safeguand e {E [ & Safeguard ggﬁ* 1—'3 68 | 1}-‘?-53 [ (i |
*i5 - 77. 8] 3 | ri | | | | | |
® i % 3B 8 Long-headed bolt * 4 % B B Long-headed bol * K % B & Long-headedboh H8 ~— OBH*G1-8193.7 193.7 | _75/8 320265270 5 120320 265 25 120| 35 340|265 120 25 21 35 M30X300
& ® F I X Hewvypipe clamp body o fFE B % IE & Heavy pipe clamp body e F B ¥ I & Heavy pipe clamp body . ggﬁ:g{:g%{g T %{E l. 8 812 ! | |
. B 8 Motherboard e 5 $ ® 8§ Ralom |~ OBA*G1-9219 | 219 | 8 e ) [=1=q| == il == hsq
H9 *#G1— 73 | }a |470395/410| 8 |160/470 395 30 |160| 25 520|395 Isol 30 38 | 40 M30X450
*8 o __OBH¥Gi-9324 | 324 12 o e e s i B L]
H10— -E%Hﬂ%ﬁ%&—‘ ’:ng ' }; 1630/534/530 20 180 630534 30 168 35 680 534/ 180 30 38 40 M30X560
nERAENEA S EERKBET HEHLA fFE14R. DIN301511 MERARNER S HEERIBEITRENEHA FFE#R: DIN3015 II

Acc. to German standard: DIN3015 11 Acc. to German standard: DIN3015 1l

Other forms or requirements need to be expressed by ordering.

Other forms or requirements need to be expressed by ordering.




3 fkclamp body

Z thcover plate

918 EHR Welded base plate  $242bolt

(€]

#1178+ | Acc.to national standard ) :JB/ZQ4008-2006

ShS AR+ ER+ B+ S8 Hexagon head bolt+cover plate+clamp body-+ rail nut

D1 : i
Al 1 - H2 !
Ll T L2 i '___
21 T SRR S
L. - [TIL J _-I !..DL; i
&k {clamp body 2 tgcover plate SMEE rail nut  #E#bolt
= &S nE EEE = SFheEs g &
3 #4 |ufee|af[s|[®m|ufz]s|[e]o[ni]n2[usfo[m] e
0BH*G3-106 6 | |
0BH*G3-108 8 |
0BH*G3-109. 5 9.5 | 3/8
0BH*G3-110 10 178 |
OBH*G3-112.7 | 12.7 | 1/2
H1  OBH*G3-113.5 | 13.5 14 55 /33|32 2 3055 33 8 |30| 11,19 6| 7|18|25 Mi0 N10X45
0BH*G3-114 14 |
OBH*G3-115 15
OBH*G3-116 16 5/8
OBH*G3-117.2 | 17.2 38
| OBH*G3-118 18 |
0BH*G3-218 18 _
| OBM*G3-219 | 19 T s
0BH*G3-220 20 '
0BH*G3-221.3 | 21.3 | 1/2 |
P T ETT S0 | 2/ | 70|45 48| 2 |30(70|45| 8 |30 11]19| 6| 7 |18 zsialn N10X60
e > =2
OBH*G2=-226. 9 26, 0 3/4
OBH*G3-228 28 | '
0BH*G3-230 30 -
0BH*G3-330 T J
. OBH*63-332 e | | i
ya| OBHre3-033.7 | 3s.7 | 1 | 1 |
OBH*G3-335 35 85 60 |60 | 2 |30 85 60 8 (30| 11,19 6 | 7 |18 |25 Mi10 M10X70
0BH*G3-338 38 J 112
OBH*G3-340 40 |
0BH*G3-342 a2 | e |
0BH*G3-442 42 | 14
OBH*G3-444.5 | 44.5 1374 |
OBH*G3-448.3 | 48.3 1172
0BH*G3-450.8 | 50.8 | 2l
T s el 11590 | 89| 3 [45 115 90 10 45|14 22| 7| 7 |20 zs!urznlaxuuu
OBH*G3-457 5l | 214
0BH*G3-460.3 | 60.8 | 2 '
| 0BH*G3-463.5 | 63.5 | | 212
| OBH*G3-465 S
' oBH*g3-470 | | | |

Other forms or requirements need to be expressed by ordering.

4 s gz kTS e ik =i fiEEE g B
] D1 %+t 24 [Lfe2|w]s [E|u]e|s]e|ofu]t2le]|s|n]p
OBH*G1-106 [} | |
OBH*G1-108 8 = | |
OBH*G1-109.5 9.5 3/8 =
0BH*G1-110 1o 178 m— | |
*G1-113 - i l .
jp —Qussloiie. 7 [ 2.7 7 122 155/33 32| 2 30|55 33| 8 |30[1174|22|[30| 8| 8|18 mioxss
| OBH*GI1-11¢ E==EE S il
___OBH*G1-115 15 R
__ DBH*G1-116 | 16 578 |
. ppH*GI-=117.2 172 4.8
[ oBH*G1-118 [ 18 ] [ R [ LI | | LI L
. OBH*GI-218 ___18
OBH*G1-219 T 9 374
OBH*G1-220 | 20
| DBH*G1-221.3 | 721.3 1/2
H? QBH*G1-222 | 22 - 71/8 70|45 |48 | 2 |30 |70 | 45| B | 30| 11|86 | 45| 30| 8 8 18 MI0XE0
L U.B.ﬁ*g.‘ oy L i e | | s )
~ OBH*G1-226.90 | 26.9 | 3/4
*G1-228 | 28 -
OBH*G1-230 | 30 | |
QBH*G1-330 | 30 | '
BT 1105 S ——— fia | | |
H3 Eﬁ;%":%%a‘ 335 ' 80|60 60| 2 (30 80 60| 8 |30 11/100/60| 30 8 8 18 MIOXTO
OBH*G1-338 38 il S |
0BH*G1-340 40 : : |
0BH*G1-342 | 42 1174 1 .
OEH*GT1-442 | 42 1174
— _OBH*G1-444.5 | 44.5 | 1374
| DOBH*GI-448.3 | 48.3 1172 |
| OBH*G1-450.8 | 50.8 2
Ha __ OBH*GT-455" | "55 115/90 89| 3 45|15 90 |10 | 45| 14 140/ 90| 45 10| 8 | 20 MI2ZXI00
OBH*G1-457 =57 214
_OBH¥Gi-460.3 | 60.. - =
OBH*G1-463.5 | 63.5 712 !
_ OBH*G1-463
| 0BH*G1-47 | gL IS s e e e L D S e e e e )
OBH*G1-570 | 70 | RPN (I D |
0BH®GI=575 | 70 _ == |
H5 __ OBH*G1-576.1 | 76.1 2172 3 1154/122/120/3. 5 60 |152 122 10 | 60| 18 180|122 60| 10 | 12 | 24 M16X130
OBH*G1-580 | 80 i |
| OBH*GI-582.5 | 82.5 3174 | | |
[ OBH#GI-588.5 | 88.9 3 o<t ;
H6 _ OBH*GI1-688.9 & 88.9 3
__.fg BH*G1 'ELE['-‘ | 100 L
*¥G1— - ! -
Bir1-6105 108 £L2 4774 206/168/167 4 | 80 206 168/ 15 | 80 | 22 226|168 80 15 | 18 30 M20X190
L geurarslos | fos - I V7 . _
OBH*G1=6127 | 127 5
OBH*GI1-6133 | 133 514
~ |__OBH*GI-7133 | 133 = 514 | -
T sl |
L JBH*GI=7T12. ok | 2511205/200, 4 | 90 |251(205| 15 | 90| 26 (270|205 90| 15 | 21 | 30 |M24X220
H7 — oBH*G1-7159 159 Bire Toat bl |
OBH*GI- 5 g1z | | | | ‘
T OBH*G1-8168 | 168 6 3
| OBA*GT-81/7.81 T/7r.8 | 1 7 |1 | | .
H8 OBH*GT1-8193.7 | 193.7 158 320265 270 5 120/320(/265|25 (120| 35|340/265 120 25| 21| 35 MW30X300
| OBH+GI-8216 | 216 | | @172
. OBH*G1-8219 219 ] i PE=TIR= miSS ] ST =S el |
OBH*G1-9219 219 8 Vi o i e e =
HY9 G- i 10 54?0539554105 ] Zlﬁﬂ|4T0:395|3{] 160| 25 520|395 160 30 | 38 | 40 M30X450
e __._gBH':ﬁJ:_H“ 32 12 Sl S]] e ) e BT | WS M) I (0] MO WGt W (VIS NS LS| [
*G1- i { !
[no'— Joneat= o3 308 14 1630534 530| 20 180 630,534 30 | 168 35 680(534] 180 30 38 40 MBOX560
MMEHAEREDI S EEE2RKIBEL TRt a8 tr: DIN3015 1l

Acc. to German standard; DIN3015 1l

m&ﬁ$ﬁﬁﬁﬂﬁﬁﬁ§ﬁﬁﬁﬂﬁﬁﬁm

Other forms or requirements need to be expressed by ordering.

&R, DIN3015 1T
Acc. to German standard: DIN3015 1l




'_n- Hardware

#1458 4R ( Acc.to national standard ) :JB/ZQ4008-2006 B ( Ace.1o nalional standard ) :JBIZEH008.-5006

OBH*G4E§!EEE OBH*G4 heavy pipe clamps
AR AR+ SR+ B LK+ SR Hexagon socket bolt + cover plate + clamp body + rail nut

(T s o il @
o L 1 = ﬁ B ‘ D1 AR =
T _..I_:i . ; i . -l
QO  ©|e g I I =
= | HREANA AN EEN LLI| SW
!..._L.E._.... _L_J ‘ - | !E,W l i : : r T !
u v o N i | - 1 =
Bk hclamp body Eifcover plate  SHIRE rail nut  $F#ebolt .12 | | , —] 1 f4 ey v
L1 : w 3 |G|
5) D1 %+ % (uf2|w|s [mliujz|s |80 |Hi|n2[ns|0 |m|G|" ik FBR KL
OBH+G4-106 & | | | . clamp body clamp body stacking boit
0BH*G4-108 8 : | | A ———— : e —— = —_—
0BH*G4-109. 5 9.5 | a8 S TEe e HE »E L3 fRERR L
0BH*G4-110 % e 5 D1 s o %t (w2 v|s|[®|u]e]s|si]|e2|uf2fz] e [on
; S R S | ~ 0BH#5-108 6 ! =% -
| oBH#G4-112.7 | 12.7 = | — 0BH#43-109 5.5 | —%7 |
H1  OBH¥G4-113.5  13.5 1/4 | 55,33 32 2 30 55|33| 8 |30| 11|19 6| 7|18 25 u10 HiOXsS - -ggﬁgﬂinﬁﬂ- | S S 38 |
_ 0BH*G4-114 14 | H1 §E§E§Z 121121 i[ 74 172 1 65|93 32| 2|30 |55/ 138 |30|15|50 |25/ 15 |mi0| 14
= *GH=-114 4 |
OBH*G4~115 15 | 0BH*G5-115 5 |
OBH*G4-116 16 5/8 | 0BH*G5-116 | 16 | = 58 |
- - Lo -: —0BH*G5-117.2 | 17.2 | 3/8 |
OBH*G4-117.2 | 17.2 3/8 | _ 0BH*G5-118 [ F I ! SO O o] [
= = ' 0BH*G5-218  E— .
= 0BH*G5- 2 -
0BH*G4-218 18 _ __ OBH¥G5-221.3 | 21.3 | 1/2
0BH*G4-219 19 | 34 H2 . ggﬁﬁ?‘fgg gg [ I8 |70 (45 |48 | 2 |30 | 70| 26| 8 |30 | 1565 | 40 15 W10 14
0BH*G4- 220 20 | " O0BH#65-226.9 | 26.9 | 3/4 1
| OBH%G4-221.3 | 21.3 i ]l , SEI,,‘SE;'E%E 50 |
H2 | cas I T 170 45 48 2 30 70 45| 8 |30| 11,19 6 | 7 |18|25 M10 Mi0X60 —:jﬂmiﬁ:iﬂn 30| ' .
[ H %
U‘BH‘{'H 225“. | 25_ | . l 1 | H3 DBH*’Gﬁ 335 T 5 !:_1' = 80 | 60 B0 2 30 85 | 40 a 30 15 | 15 50 15 | W10 14
0BH+G4-226. 9 | 20.9 | /4 | . [ gg:iﬁ_ggg_ _gia'_ I 112 ‘ ‘
0BH+G4-228 | 28 | | ] | [ OBt+a5-3d2 2 T _ e =if, =] _
T | 1./4 |
SIS i | | ,—ggg:gg L7 — 134
0BH*G4-330 . 4.3 1 1172
29 | : | OBH*G5-450. 8 50.8 | 2
0BH*G4-332 32 1174 OBH¥G5-455 55 | 15| 90 [ 89 | 3 |45 | 115 70| 10 | 45 | 17 [110| 80 | 18 |wi12 | 17
H4 — oBH#g5-4517 5 774
] e S L [ L | | | :m{*ﬁs—ﬁﬁ 3 | 80.3 | 9 =]
0BH#G4-335 35 ' 85 60 60| 2 30 85|60|8 30| 11[19] 6 7|18 25 m10 wioxr0 i L 212 |
~ - l I ' - L
OBH*G4- 112 | OBH¥G5-470 I =j= == ES S e
*G4-338 38 I 1 . | I 0BH*65-570 70 .
0BH*G4-340 2 | | | ' BT L [ I— ] il _
OBH*G4-342 a2 1174 | - | _ | H5 ggﬂ*ﬁ 5”_- it 21/2 - 3 | 1541122 (120 | 3 | 60 Iﬁﬂi 93‘ 10 | 60 | 22 |144 | 110 24 :IIE 21
4 . | . - | " OBH¥G5-582.5 az ¥ U — 1314 | '
ABitasgaz | 4z 11/4 OBH%G5-588.9 | 888 | 3 [ | | | | !.
OBH*G4-444.5 | 44.5 1374 H6 _E%% 9 313 u9 l 3 ! ,
ML Ll ) GG O 2 R [ AR | %%:g%%%%% 108 =i 45 206 168 | 167 4 | 80 | 205 130 15 | 80 28 (200  150| 30 W20 27
el 0BH#G4-450.8 = 50.8 [ 2 | I ggﬂﬁg EH% 1 {;‘; I i 5 ' |
Bl oy o e I ] | [115 90 189 3 45 115 90| 10| 45| 14 22| 7 | 7 /20|25 w12/ mi2xioo —_0BHeg5-6 :tg 133 | I 51
Tl = | < 1/
0BH*G4-457 57 21 S L L L e e |
0BH*G4-460. 3 0BH i .
£8.3 2 H7 —OBHeas=Ti36 138 68— 251|205 200 | 4 |90 | 250 166| 15 |90 | 31 240 180 5n|u24 30
0BH*G4-463.5 | 63.5 | 2172 T 0BH*G5-1165 165 | 61.2
Fgm - T |
P 0BH*G5-17168 68| 6
. DBH*G4-470 | .
ﬁﬂﬁﬁ?ﬁﬁ’]ﬂﬁiﬁ:ﬁﬁ BRIV RENREA fFE®HER: DIN3015 1l ERAFRNEA S K e ERIEEITRERA fFE#4R: DIN3015 1l

Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1l Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 1I




'_n- Hardware

$47E4%R ( Acc.to national standard ) :JB/ZQ4008-2006
BH*GBEﬂﬁ‘% OBH*G6 heavy pipe clamps
SN FRSERR + B IR+ B £k Hexagon head bolt+cover plate+clamp body

OBH'G7=21FF " OBH"G7 heavy pipe clamps
R iR + B¥4E Hexagon socket bolt + clamp body

#45E#x ( Acc.to national standard ) :JB/ZQ4008-2006

[0 Y i |
)! i .-"1-"\ i i
L 7(_ i | ”l 1]
o R g AN R0 lt % |
mrory 7 [T
-._I_] — —-l-—ﬂ—lull !. - L1 - _?
L2 D1
. 5 - o '
_ & # {&clamp body g Hcover plate R #2bolt
® Tes e RE e T =R g B
| D1 &=t =t L1 L2 | H S = L1 | L2 s B D1
_EEH_*E,E' Etg - _E =
[ *G6-10
OBH*G6-109.5 L . G | 3’8
e e e
MG sk | 158 | i/a 1421 55 | 33| a2 | 2 | a0 | 55| a3 | 8 | 30 | 11 [wioxas
e
*G6=11 | L
| _OBH*G6-116 | 16 | 58
OBH*G6-117.2 | 17.2 | 3.8
| OBH*G6-118 | 18 == = : |
OBH*G6-218 18 -
| OBH*G6-219 | 19 i 34 |
| _OBH¥G6-220 | 20 | |
| OBH¥*G6-221.3 | 21.3 | 1/2 _ ,
H2 |__UBH*GE-222 1 23 78 70 45 | 48 2 30 | 70| 45 8 30 | 11 | M10X60
[ 0BH*66-225 | 25 | 1
| OBH*G6-226.9 26.9 3/4 |
| OBH*G6-228 28 | @ —
O0BH*G6-230 | 30 |
| OBH*G6-330 | 30 I
. o A
*G6- , :
H3 [ 3_3_*;,_3_5_.;_35__ - 3h: I ! B0 60 60 2 30 80 60 8 30 11 M10X70
EE.E?E%:%E% = Eg | 1172
& -
O0BH*G6-342 | 42 I 1ia
OBH*G6-4472 47 1173
OBH*G6-444.5 | 44.5 | 134
DBH*G6-448.3 | 483 11/2 :
| DBH*G6-450.8 | 50.8 | 2
H4 | OBH¥GG-455 55 = 115 a0 89 3 45 115 o0 10 15 14 | MI2ZX100
g_g’r_*_‘g_g:g gr 57 | 214
= H*G6-460. 3 [ T g5
~ OBH*G6-463.5 | 63.5 | 212
__DBH*G6-465 | _1_
I 0BH*G6-470 | |
 0BH*G6-570 70
___DBH*GE-5786. | . | 12 3 154 | 122 120 | 3 60 | 152 | 122 | 10 60 | 18 |MIGX130
CEfe ;
| = a 14
| 0BH#*G6-588.9 | 88.9 | 3
H6 | OBH*G6-688.9 = 88.9 ' 3 | '
- OBH¥GG=6100 1gﬁ [ |
=D i LT — —— T 206 | 168| 167 | 4 | 80 | 206| 168 | 15 | 80 | 22 |M20X190
| ..I!EHE&.-%H.# ;;; . 5 |
| DBH*GE—612T | 127 | =
| OBH*G6-6133 33 514 ' !
| OBH*BE-7133 33 [ 514
_Q_E_r_*.ﬁﬁ:mﬂ_ 140 5
HTI_uBr*I-’ﬁ-?’lﬂ 152 ] 6 251 | 205 200 4 90 | 251 | 205 | 15 90 | 26 | M24X220
___OBH¥G6-7159 159 | 614
| OBH*G6-7165 | 165 | 612
DBEH*G6-7168 (68
| OBH*G6-8168 | 168 [ g |
| OBH*G6-8177.8 ' 177.8 7 I
HB | 0BH*G6-8193.7 | 193.7 7578 320 | 265| 270 | 5 120 | 320 | 265 | 25 120 | 35 | M30X300
S o T |
: & i ! . | |
HO ”_”%Eﬁiﬁﬁzﬂéig__“ "%}g I g" 470 95| 4 8 0| 470 | 295 | 30 | 60 ‘ 35 30X450
__O0BH*G6-9273 | 2 10 3 10 16 1 M30X4
| omWeG6-9324 | 874 12 = [eat| S | Sl e e R | P ‘ i
{H10 3—3—21—2@: E—%—E ?.3-5 ' ’;; 630 | 534| 530 20 180 @ 630 534 | 30 180 | 35 |M30X560

NERAFRENEA K ERRBEITHRH

Other forms or requirements need to be expressed by ordering.

FS#8%. DIN3015 1l
Acc. to German standard: DIN3015 Il

e E “I'_D‘_ [ Ldd
] y [N
N -H] DM, -
! o I i | R
AHE etz
i - L1 1
& e {kclamp body #2bolt
# TEe T HE iz HRE w #
3 D1 # %t Li L2 H s E
0BH*G7-106 !
0BH*G7-108
0BH*G7-109.5 | 9.5 3/8 |
OBH*G7-110 10 178
 oBH*G7-112.7 | 12.7 | | 1/2 |
H1 OBH*G7-113.5 13.5 1/4 55 33 32 2 30 M10OX30
OBH*G7-114 14 |
0BH*GT-115 15
0BH*G7-116 16 5/8
0BH*G7-117.2 | 17.2 | a3/8
0BH*G7-118 18 |
OBH*GT-218 18
0BH*G7-219 | 19 3/4
OBH*GT-220 20 |
| 0BH67-221.3 | 21.8 | 1/2
H2 ™ oBHxa7-222 | 22 . 78 70 45 48 2 30 M10X40
 0BH*G7-225 25 T
DBH+G7 226.9 26.9 3.4
0BH*G7-228 28
0BH*G7-230 30
| 0BH*G7-330 30 | =i 1 [ R =1
0BH*GT7-332 32 ' /4
0BH*G7-333.7 | 33.7 | 1 |
H3  osuxa7-235 35 85 60 60 2 30 M10X50
0BH*G7-338 38 | 1/2 |
0BH*G7-340 40 |
DBH*G7-342 42 1174 i
OBH*GT-442 42 114
OBH*G7-444.5 @ 44.5 13/4
OBH*G7-448.3 48.3 1172
0BH*GT7-450.8 50.8 2
gy | Geeearaat 33 115 90 89 3 45 M12X80
0BHXG7-457 | §7 2174
0BH*G7-460.3 | 60.3 | 2 i
(0BH¥G7-463.5 | 63.5 ' 2172
0BH*G7-465 |
0BH*G7-470 |

IMERFRNEA K ERRIBEITRIZH

Other forms or requirements need to be expressed by ordering.

FE&#EEF: DIN3015 1I
Acc. to German standard: DIN3015 1l



_//E Hordware .

H5E+x ( Acc.to national standard ) :JB/ZQ4008-2006

OB H*Ggﬁﬂﬁ‘% OBH*GY9 heavy pipe clamps
WARER+ B ( IRMER ) +EX B+ KIZRER Hexagon socket bol + cover piate (or without cover plate) + clamp body + long welded base plate

#145E4r ( Acc.to national standard ) :JB/ZQ4008—-2006

OBH*G8 heavy pipe clamps

OBH*'G8EEIE X

SN FAER + B+ B &+ CIBIEIRIR Hexagon head bolt+cover plate clamp body+long weld plate

L1 [ :
o ol = | I |
z || DA )
L1 Dl i
L., oIS |
o TTIT - Ll
EtR IR ER L 25
cover plate long Welded base plate bolt
B K188 ER W #
tijL2|s | Boa|L1|L2] B s|u|otfD2
3H*68-109, S |
HL E-EE%E—%;—H%:; }%——; [ /4| 12 55|33 (32| 2 |30 55 33| 8 30| 11113 33 30 8 8 | 18|13 | M10X45
[ OBH®G8-TV4 [ 14 [ — T 7
_OBH*G&-115 15
T 0BH*GE-116 5| 578
i o
| OBH*G&-218 3 i = i T T e [ T | (]
OBH*G8-219 | 18 | | 3/4 |
— OBH*G8-220 20 |
WQBH%G%‘EE' - 21'2'1 I 78 l?u 45 48| 2 (30|70 |45| 8 (30| 11(125 45 30| & | & | 18[13 | M10X60
—m | | A | 1
H2 L Wl kg 21. | ﬁ | I- | |
 OBH*G8-226.9 26. 9 3/4 i
. OBH*G8-228 28 | | |
| OBH#G8-23 30 3 R | [ o | N L | S ) | S 1 )|
5 0OBH*G8-330 | 30 | | | | T
=L et et | "
H3 —OBH*GE-335 35 1 ; 80|60 60 2 |30 80 60| & 30 11140/ 60 30 & &8 18|13 | MI0OX70
___OBH*G8-338 | 38 | | 112 '
OBEH*G&-340 = 40 = | | ‘
| 0OBH*G8-342 42 [ Tize | e |=={je=.]] j=np=
| OBH*GS-442 42 7. ) !
| OBH*G8-444.5 | 44.5 | . '
-0 iﬂtﬁfqaf_a T 48.3 (T (e |
| OBH*G8-450.8 | 50.8 | I 2 = : |
H4'_D'B'H:_ﬁ."$j"'5 39 [ 115/ 90 |89 | 2 |45 (115|990 |10 | 45| T4(187| 90| 45|10 | 8 | 20|15 | M12X100
OBHsG8-457 | 57 | | /4 | |
~ UBH*G8-460.3 | 60.3 ? =
| OBH*G8-463.5 & 63.5 | =2
 OBH*G8-465
UBH*GB-470 | | | |
" OBH*G8-570 70 . '
S ST a0 1 19 O L R P
E = —78.1 2u2 | 3 154/122/120| 3 | 60 152(122| 10 60 | 18 238 122 60 10 12| 24 (21 | M16X130
HS | OBH*G8-580 1 ] P [N
 OBH+G8-582.5 @ 82.5 | 314 '
| OBH*G8-588.9 | 88.9 | 3 i) L D [ IS (M [ - S A 1
Hﬁ OBH*G8-688. 9 88. 9 3 - ' B '
B | | |
" OBH*G8-6108 | 108 | 3.2 44 206168 167 4 80 206168 15 80 27 309 168 80 15 18| 30 26 | M20X190
OBH*G8-6114 = 114 4 T i
 OBH#§8-6127 121 | 5 . |
 OBH*68-6133 133 B1/d | | B |
T [__OBA¥GB=7133 | 133 | | 51/4 ] | 1 T
et o] s e
; = ] 1205/200 4 | 90 251205 15 90 33 370205 90 15 21 30 31  M24X220
HT ' Ooieas—yioe 52 . 205200 1251/205/ 15 | 90 | 0 205 90 21| 30 24X22
___UBH*GB-7165 | 165 | = |
OBH*G8-7168 | 168 | | |
| DBH+*G8-8168 168 | - ' '
UBH*G8-8177.8 1771.8 7 | . . ! _
H8 —HEH*ES-H%‘T 13’.‘? | gs.a 1320/265/270 5 1201320 265 25 120/ 33 440 265 120 25 21 35|31 | N30X300
DBH*=G3-82 1.2
[ OBAsGS-B219 | 218 | & | 1 ] D | O ) [
~ UBH#GEE-9219 219 B . I [ |
H9 ~— OBH#G8-9273 | 273 | 10 [ 470395 41{:‘ 8 m:- 470395 3u|m:~ salssu 395 160 30 38 | 40|31 | M30X450
| OBH¥as-0324 324 12| o o s e o e )t s Dy el i W = el
|H1ll uan:gg ﬁﬁﬂ i ﬂﬁ% l }; 1 '630534 530 20 :mﬁsnsu 30 168 33 750 534 180 30 38 40 31 | M30X560

E AR R RS CERBTE T KA

Other forms or requirements need to be expressed by ordering.

HE&E8¥R. DIN3015 11
Acc. to German standard: DIN3015 1

Dz
¥ s L {- (E7]
F & @ el T w2 ]|
' L‘ .‘---B-- -®--_-@j--§-- m‘
D
D1 Ty
W Ti] ﬂ: | T.'_' H I'rl. l "'i
iR KIBEER 23
cover plate long Welded base plate baolt
7 gine mE HiE ExE EiR KIgEER
iTES L3
5 D1 % %+ |utz|n|s|wlufz|s|[s|o |2 B|s|n][p]02
OBH*G9-106 6
— OBH+39-10t
~ OBH*69-109. 5 __'9“5 = 1378
(1 S — e e | |
H1 —m.igg—‘{%;_ E:;] 74— /4—1{55|93|32| 2 |30|55|23| 8 |30 11]113/ 33| 30| 8 | 8 [18]13 | wion4s
. OBH*G9-114 | 4 1
OBH#G9-115 5 !
OBH#G9-116 | 186 ] 38 {
—_OBH¥G9-117.2 7.2 as |
OBH+*G9-118 18 [
—OBHeas-218 8 =)
0BH#G9-219 | 19 B 74,
OBH¥G9-220 ' ?'!-'-fr. 2 == ===
D R e = | |
HEI_UBH#GD 282 :. 52 ..... 5 :-:-‘n 45 /48 2 (30 70 45| 8 (3011125 45 30 3 | 8 | 18 13 | MIOX60
| _OBR+G9-226.9 | 26.9 | 3/4 |
| OBH*G9-228 28 ,
0BH¥G9-230 30 _
 0BH*G9-330 30 I .
= _ggﬁ:ﬁg_-ggg S - - e | | ,
H3 ggu*gg 535 35 J — 180 60|60 2 30 80 60 8 30|11 140 60 30 8 8 1813 MI0X70
_ﬂ BH+*G9-338 38 - 77 ‘ | :
0BH+89-340 40 |
~ OBH*G9-342 42 qia | ! f=sbery
| OBH*G9-442 114 —
| 0BH*G9-444.5 44} 134
ORH#G9-448.3 | 48.3 | 11,2 | |
" OBH*G9-450.8 | 50.8 2
H4 __L'II:IH!EE--Q:::} 55 1 115 80 (89| 3 |43 115 90 10 | 45 (14 (187, 90 43 10| & | 20|16 | M1ZX100
OBH=69-457 | 57 | T 14
~OBH*G9-460.3 | 60.3 | 2 S
,_ﬂ_BH_*i._'i_s 463.5 | 63.5 | 312
=i
OBH*G9-570 70 —=i] | i
0BH*G9-575 70 | , | | | |
Hﬁ 0BH*G9-576.1  76.1 21,2 154(122(120 3 | 60 152 122 10 | 60| 18 (238 122 60 10 12| 24|21  M16X130
 0BH*G9-580 80 == | i -
— OBH*G9-582.5 B2.5 314
[ OBW¥G9-588.9 | 86.9 3 [ | e | _ -
HE __OBH*GY9-688. & 88.9 3 | -
_l:lh:ﬁ%;g}_gg 100 = 1 . .
r%gg—mm e 2 5061168 167 4 80 206 168 15| 80|27 309168 80| 15 18 30 26 M20X190
= DBH*G§-6114 114 4 | | ' ' '
| BH*G9-6127 127 5
a;u*m lgg 3"‘
—_OBH* 3 13: = 514 ' '
~ OBH*G9-7140 140 5 | | | . L |
47 _0BH¥GS=7152 52 6 251/205/200 4 | 90 251205 15| 90|33 370205 90 15 21 30 31 M24X220
GBH*Gg‘;l gg Igg E" i ' |
DBH¥GI- ; 612
e | |
OBi*Ge-8177.8 17178 = | - | | =
HB [ oB1#69- m T 1931 758 320265270 5 120320265 25 120 33 440 265 120 25 | 21 | 35 31  M30X300
OBH* 216 B1.2 |
qgﬂ_fﬁ’ﬂﬁﬂ_____ a=slT=Tg=——] == {
H9 uﬂﬂ'ﬁ_gg}g B Eg 'aﬁ" I 47 "355'4111! 8 16047 ’395! 160 33 |5sn 395 160 :m 38 | 40 :n  M30X450
i 0395 410| 1470 395 30
) __mmau_ﬂ_ s24 324 12 e e i ) i i e e v D i e il e i
;Hm-——EBH,H m,_-..;-—-—-%%g- 14— 1630/534/530| 20 180630 534/ 30 Iﬁa 33 | 750534 180 30 | 38 | 40 31  M30X560
NEARENEAS A EERKBEL] TR EA fFE#R: DIN3015 I

Other forms or requirements need to be expressed by ordering.

Acc. to German standard: DIN3015 1l




OB H*G1 Oﬁﬂﬁ:% OBH*G10 heavy pipe clamps

_n- Hardware

H5E#R ( Acc.to national standard ) :JB/ZQ4008-2006

‘.’?I\ (A1) R+ B AR + UL S+ TUBE IR RE AR Hevagon head (socket) bok + twin cover piate + twin clamp body + twin welded base pe

D1

LT

WHE AR

ﬁﬁ%ﬁﬁ‘%ﬁmm

Other forms or requirements need to be expressed by ordering.

(T I - L2 am
TR [ ] | o B |
It i |
W:Il1_ é»_ J_ = O E' @ . o5 —
Ll © , ® ® !
LL— n‘J i
-— . s M——tb i.l:[‘.‘.;t R o '
BEx{kclamp body EiRcover plate WEIRIEE#Hiwin weld plate !gﬁbnh
= e e Frg 3] WS EER
TS g B
3 D1 x+ Lz n|s|m s |B1|Dp1|Li|L2[B1|s | H | m
0BH*G10-106 6 .
“OBH*G10-108 =
| 0BH*G10-109.5 | 9.5 3/8
r—g‘%tﬂ':%_ﬁl':ﬁﬁ 37 '
yy oEREgIe-IIZ. T | 127 122 l55|33|az|2 |60 8 |60 11|74 33 60 8 | 18| M10X45
| OBH*G10-114 B T |
T OBH*G10-11° 15
| OBH#G10-1186 ] i 5/8
OBH*G10-117.2 | 17.2
T OBH*G10-118 [— 18
OBH*G10-218 18 =
BH*G10-219 | 19 34
OBH*G10-220 20
fhetieaa o - E
- 7 70 45 48 2 60 70 45| 8 | 60| 11|86 45 60 8 | 18 MIOXG0
H2 _OBA*G10-225 | 25 1 i >
0BH*G10-226. 9 26.9
0BH*G10-228 o8 |
DBE?HEO-E?ﬂ 30
30 30 i
_‘na_ﬂ*i'sm-~_,_!___ 32 7 — |
* -~ -:-: G | -
333*313-. 3 ! 3%; g0 60 60 2 60|80 60| 8 60| 11/100 60 60 8 | 18| M10XT70
OBH¥G1 0-338 | 38 112 |
0BH#G10-340 40
r uaﬂtelu =342 | i o | TR |
| OBH*G10-443 | 43
__OBH¥G10-444.5 | 44.5 1373
1 ﬂgﬁrﬁ*ﬂfdﬂ-_ﬁ 48.3 |
*® -
Ha | EBH#EEE-Egg'E ] 5253 < 115 90 | 89 3 90 |15|/90|10 | 90| 14 140 90| 90 & | zo |Mizxioo
[ OBH*G10-457 | 57 21’4 '
_DBH*G10-460.3 | 60.3 s
[ OBH#G10-463.5 | 63.5 212
OBH*G10-465
“OBH*GI0- | |
OBH*GI0-570 | 70 ——— i
H5 I‘%E‘E;H%:g}g i | T?ful 3 | | '
_OBH*G10-576.1 | 76.1 3 154122 120 3 120|152 10 {120 18[180| 122/120| 10 | 12 | 24 |MI6X130)|
OBH*GT0-580° | 80 1 el s | |
_U BH*G10-582.5 | B82.5 di'4 |
O0BH#*G10-588.9 | 88.9 = ) ] [ N | e L e | .
H6 | _nnmam -688.9 | 88.9 G
OBH*G10-6100 | 100 |
OBH*G10-6102 102 - bl
””ﬁﬁﬁ'ﬂﬁﬂ 610 108 4174 |206/168 167 4 160|206/168| 15 | 160 22 226/ 168/ 160| 15 | 18 | 30 M20X190
OBH*G10-6114 14
" OBH#G10-6127 | 127 = |
OBH*G10-6133 133 514
OBH¥G10-7133 | 133 514 i |
0BH*G10-7140 1__1-1_:} =] =
E - | i | | ) 1 I | |
H7 lEEE*EIE-ﬂﬁ __ T‘g”; _'_'ﬁf‘!' 1251205200/ 4 1180 251/205| 15 [180 26 270 205 180 15| 21| 30 | M24X220)
OBH*G10-7165 | 163 6172 | |
OBH*G10-7168 | 168 | |
0BH#G10-8168 | 168 |
0BH*G10-8177.8 | 177.8 B ; ! !
HB  OBH#*G10-8193.7 | 193.7 75’8 320265270 5 240320 265 25 240 35 340 265240 25| 21 35 M30X300
OBH*G10-8216 216 g172 | [l
[TOBH*GI0-8219 | 219 ) O () 2=t S0 R AN |
OBH=G10-9219 219 | 1 : 1 : | | | | L
HY qﬁrﬂirﬂ_ﬂ?a 273 1470395 410 8 320 30 320 35 520 395 320/ 30‘3& 40 | M30X450
BH¥G10-9324 | 324 S]] S ||
* 3 3 -
H10— 32“—%{—3—.4—3132 : 4“ 630534 530 20 360 630 5341 30 (360 35 680 534360 30 | | 38 | 40 | M30X560

H47E#R ( Acc.to national standard ) :JB/ZQ4008-2006

GBH*G‘I 1Eﬂﬁ)§'ﬁﬁ§g OBH*G11 heavy anti-vibration pipe clamps

ShS R + ER+ K+ [ BB + IR Hexagon head bolt + cover plate + clamp body + anti-vibration washer + welded base plate

1

=%

)
NN P NN

S

vvahiijiﬂﬁzﬁhhﬂe

anti—vibration washer

il
1

L 253
bolt

b

iT®s

TERE

%= L1 Le

Lz Do

OBH*G8-1

T OBH*GA-1
BH*G8— 1

BH*G8-1

BH*G6—112

macmad

BH*GE-11

EH*GBE-1

___ OBH*GB-11!
OBH+B8-116
ﬁEH*EE_IfT_E
OBH*GB-118
OBH=G8-218

b

" OBH _ﬂ;_a-z:l:

(48| 2

60 2

30 70 | 45

30 85 60 8

86| 45 30| 3 3016

100 60 230 8

16 | 1E-03 M10XT0

| OBH*G8-332
nau*ﬁ!‘ﬁﬂa‘f %ﬁ 7
OBH*G8-335
0BH*G8-338
OBH*GB-340
__ﬂ&tzﬁﬂ—aﬂz |
OBH*G8-442
EH*GA-444.

BH*G8-448. 3

BH*GE8-450, ;
g-*BB-iEH

BH*G8-460 3

ooooooioo)

BH*G8-463 .5

OEH#*G8-470
OBH*G8-570
OBH*G8-575 |
OBH*GE-576.

~ OBH*G8-580 |
na *=[{8-5

ey P Dlmam 5 1

Acc. to German standard: DIN3015 I

DEH*GA-51

NERTER

Other forms or requirements need to be expressed by ordering.

(89| 3

1541221120 3

206168 167 4

45 115 90 10

60 |152 /122 10

80 20& 168 1

1140/ 90 45 10

180/ 122 60

226 168 80

20| 45 25 230057 M12X100

12| 24| 60 30 | e:d-0m MI6X130

| 18/ 30 80 40 29009 M20X19

HFE®hr. DIN3015 1

Acc. to German standard: DIN3015 1l

05015 | N10K60




'_n- Hardware

$145E#5 ( Acc.to national standard ) :JB/ZQ4008—-2006

OBH G120 EE L |mAIE S OBH G 12 twin heavy pipe clamps

RSN A2+ Eth+ FEE+1REEER Hexagon socket (head) bolt + cover plate + clamp body + welded base plate

D2
L3
e R : B
: | ' | - L2 @ ..-'l
! p 4 = P
1 =7 1 | | | 11 L2
:|~I Iy ] ey p = = M0 . Bg
oo - = i'i T-P d '1I il
L1 5 D_L@' o O ﬂ‘: L1 P i
£33 =R 1RiEER #it
clamp body cover plate "-""-"l.aidecfE base plate bolt
BB -3 BEER =8|
* TR 9% 12
5 D1/D2 L1|L2|L3|HI|H2 | % |L1|L2|B|S |H|D|LI|L2|{B|S|D
0BH#G12-119/119 119/119 |
0BH%G12-220/220 220/220
y | 9BHea12-221,4/221.4 | 221,4/221. 8 | 100 | 45| 48|24 | 3013000 |30 | & {8, 5| 18 [115] 80 0 8 11 Wi0X60
0BH*G12-222/222 222/222 |
0BH*G12-225, 4/225, 4 225, 4/225, 4
0BH*G12-226, 9/226, 9 226,9/226, 9
| 0BH«G12-332/332 332/332
0BH+G12-333, 7/333, 7 333,7/333, 7
| | | | 1 |
H2| oBHea12-338/338 33g/a3s  144(120 60 60 30 | 30160(120{30 8 8,5 18 144120 30 8 11 MI0X70
0BH*G12-440,/440 440/440
0BH+G12-442/442 442/442 |
iZlH. EE—ZFEIMETTE. FliH1. ¢ 20, $ 22 SXH*G13-120/122
MNote:the pipe cuter diameter in the same series can be different. Eg. X1, ¢ 20, ¢ 225XH * G13-120/122
ERTRENER S e ERIBEITRERA fFE®HER: DIN3015 11

Other forms or requirements need to be expressed by ordering.

Acc. to German standard: DIN3015 1l

THATEEIME | A CC.1I0 NAL0NAI S1anuar ) o/ L W4 uus — 2uuo

Ta &Y # a
I & & T
L3
T
| I =
"
WELH 2 M FLIFIEERSKH-D

Twin weld plate with one set screw SXH-D1 Twin weld plate with two set screws SXH-DI

B2
_._l.. I @

T JE 57

2 JL} ]
Lo @@ T Li_ _
s @ @ & BJ‘_ m# BRI ESHSXH-DO Hﬂ.‘:w rail SXH-DO

L3 | 1 )@') P
1 f?ﬂ_‘_l. - - L L1

ST — T —Ti | m—

WD B AL FLIF R EIRSXH-D1 ' :

B IR ERSH-D2
Group welded base plate S¥XH-D2

%S

& & 5 $iSHH-DO

TREK 5 5E (U 7L IR R FE RS HH-D1

% B 12 38 E #fSHH-D2

| B2 | s | H

BH-D*- 108

]
OBH-D¥-108_
OBH-D*=-108_ 5

0BH-D*-110
DBH=-Dw~-

Hl =~ oBH-D*-

[ OBH-D*-117, -
OBH-D*—118

L[ 12 | 13

O [ ) I T g

S | H [2p1

1113 | 33 | 85

60 30 8 8 33

| OBH-D*-218
0BH-D*=218

| DBH-D®-230
H2 0BH-D*-221. 3

OBH-D¥-225

_OBH-D*-228
0BH-D*-230

OBH=-D*=226 0 m

126 | 45 | 97

30

8 | 18

60 30 8 8 45

H¥mEr=RE

_OBH-D*-330
j#=333

HS T 0BH-D#-335

[ OBH-D*-333. 7 |

0BH-D*-338
|_OBH-D*-340
OBH-D#-342
DBH-D*-4432

_DBH-D*-448, 3
_DHH-D*=450,

| 0BH-D¥-444. _"
.

H4 | OBH-D#-455
H-D*-457
0BH-D*-460. 3
| DBH-D¥*-463 §

DBH-D*-465
DBH-D*-470

| 0BH-D*-570
| oBH-D#-575
H5 C

0BH-D*=580

AH-D%-
AH-D*-688. 9

5825
[ 0BH-D*-588.9 |

_0BH-D*-B100
BH=-D*=6102

=} ﬂ.ﬂ EI

BH-D*-6108
_OBH-D*-6114
OBH-D*-8127
OBH-D*-6133

H6 -

| _OBH-D#-7133
BH-D*=7140

=1=

[ 0BH-D*-T152
H7 BH-D*=7150

|__DBH-D*-T185
UBH-D*-7168

==

| OBH-D*-B1G8
OBH-D*—-8177. &
HB | 0BH-D*-8183.7 |
OBH-D*-8216
AH-D*-8218

N == ]
0BH-D*-9218

0BH-D*-9324
BH-D*-10356

H9 _!lﬂtﬂ'_'ﬂla__.

= u'f:-

{H10— ogs-pe-10408

40 | 14 5 | 22

140 | 60

112

187 | 90 | 155

238 122 | 198

30

60 | 30 | 8 8 60

30

90 | 46 | 10 | ©

i

120‘ 61| 10 | 12

309 168 | 259

160 | 81 | 15 | 18

370 | 205 | 310

180 5'1! 15 | 21
e e .mmﬁiﬂﬂlki_i ===

440 = 265 i 380

240 | 121 25 | 21

590

750 | 534 | 690 |

395‘ 530 |

324| lﬁﬁ| 30 ‘ 38
394. 186 30 | 38 |

IMERFRRER R EERIBEEITRELH

Other forms or requirements need to be expressed by ordering.

FERAF:

DIN3015 1
Acc. to German standard: DIN3015 1l



'_n- Hardware

ATTEIHR ( Acc.to national standard ) :JB/ZQ4008-2006 _ #147E4+R ( Acc.to national standard ) :JB/ZQ4008-2006
OBB*/NEIEF SN  OBB*1Small Single-hole Pipe Clamp DBBHR2UNBIEFIESIEN  OBB+2Small Single-hole Pipe Clamp
EEFZSER. B, 5. MIHEE. B85, K8, NEMNEFEEIURFER. Eﬂﬁ ﬂEﬂE Eﬁ PUHHIE. B4, WE. WBHNREHEEVKREER.

Applicable for compressed air pipeline, ships, vehicles, machine manufacturing, cables, hoses, measuring Appllcable for compressed air pipeline, ships, vehicles, machine manufacturing, cables, hoses, measuring
and control equipment and machine tools. and control equipment and machine tools.

1. OBBP1- TEREFEE A7 MSRER T {52 -30-+90T 1. OBBP1- ITERAREYA L MMEEXTIESN ~-30~+90T

1. OBBP1_Engineering polypropylene grooved inside fight pipe clamps, work temperature -30 ~ +90C D2_ 1. OBBP1_Engineering polypropylene grooved inside light pipe clamps, work temperature —30 ~ +80C _P_S___

2. OBEN! - MERE X2 BIPSH LIMBIER TR —40-+120C 0 S 2. OBBN - #3E/R B HIAFL MBI R T 1R —40-+120C || 2

2. OBBN1 _Reinforced polyamide grooved inside light pipe clamps, work temperature —40 ~ +120°C o S ] ) S b Bl
I-I —_— Dq. J - \l I J Ff-. [ | . |
e — ! : ..._ I _._1

L1 L1

. - - e —_—

AATUREREAERK (81 ) £ AR EHENER
Manufacture (design) or use other materials and pipe diameters
upon customer® s reguest

2. OBBNM1_Reinforced polyamide grooved inside light pipe clamps, work temperature =40 ~ +120°C

03 | L2 L3

i
| L3 ;
|

L1 L1

AT IRIBEFER (1) £ EREEHEAERE.
Manufacture (design) or use other materials and pipe dlameters
upon customer’ s reguest

: iT&E E;ZE ;ﬁ :ﬁ L1 L2 L3 " H S D3 | D4 ; iTRS ﬁ;l;ﬁ g;&; ;;&} L1 L2 = H s D3 D4
0BB*1-106 06 | 0BB*2-106 06 |
1| OBB*1-106. 4 06. 4 1/4 22 9 6.5 | 12 | 105 2 7 7 i | oBB%2-108. 4 064 1/4 31 18 12 10.5 2 7 7
0BB¥1-108 | 08 ‘ | 0BB*2-108 | 08 | | |
0BB#1-209.5 | 09.5 | a8 || 0BB#2-209. 5 0.5 | | a8
B oescizio | 0 | a2 | 0 2 EEEET 7| 18| 15 | 2 7 7 2 os2-210 | 10 B 1 29 22 16 | 14.5 2 7 7
0BB*1-212 12 0BB*2-212 12
0BB*1-312. 7 12.7 1/2 | 0BB*2-312. 7 12.7 | 1/2
| 0BB¥1-313.5 13.5 1/4 | 0BB¥2-313. 5 13.5 1/4
| 0BB¥1-314 14 | oBB*2-314 | 14 |
! - 34 15 7 20 | 22.5| 2 7 7 = 53 30 20 | 225 2 7 7
4 0BBx1-315 15 5 | 0BB*2-315 15
CoBB*1-316 | 16 | Bz | ._EB.B;E-_E_IE 16 | 5/8
0BB#1-317.2 = 17.2 | 3/8 | 0BB*2-317. 2 17.2 3/8
0BB+1-318 | 18 | | oBB*2-318 | 18 |
e T | ) | . _| | TR .
0BB*1-420 | 20 f | | oBB#2-420 | 20 | |
4 “DEBH-421.3_“- _21:.. [ 1?’2 - 42 19 7 20 30 2 7 7 4 0BB*2-421.3 21.3 ; 1/2 70 38 20 30 2 7 7
0BBx1-422 | 22 i | 0BB*2-422 22 | |
| 0BB#1-425 25 1 0BB*2-425 25 1
inE BARENER SR TR RIBELT R FF&E#R. DIN3015 ﬁﬂf‘fﬁﬂﬁﬁﬂﬂé&tﬁﬂ EERIEEITRERA FEHR: DIN3015

Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015 Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015




OBB*4 Small Double-holes Pipe Clamp

@B_B_ \RY ; k8 OBB*3 Small Single-hole Pipe Clamp PATL R IS
RS E. EF. M. L E . MRS SRS EH=SER. A, 8. VIRFE. B85, 8. NENEFISEIKFER.

Applicable for compressed air pipeline, ships, vehicles, machine manufacturing, cables, hoses, measuring é@&?ﬁ%ﬁfﬁ%ﬁ?ﬂ%ﬁﬁﬁ:ﬁ%ﬁge ships, vehicles, machine manufacturing, cables, hoses, measuring and

and control equipment and machine tools. EE - - _
| 1. OBBP4- TENEHEE THRE —30-+90C =Bl : - X
1. OBBP3- TERARSHAT MMSEET (EEF -30-+90C  Hi#5E4R% ( Acc to national standard ) -IB/ZQ4008-2006 g Enw;g mypp?:wﬂmg o At i s Eﬂfﬁdhfﬂ%m DR e ) AL |

1. OBBP3_Engineering polypropylene grooved inside ight pipe clamps, work temperature -30 ~ +90°C -E_r‘:- — = 2, OBBN4-polypropyleH RIN7LIMHREIEE TIEEF —40-+120T
2. OBBN3 - ¥R M EEINTL VSRS Y T8 —40-+120C Vau :}5 2. OBBN4_Polypropyle H type grooved inside light pipe clamps, work temperature =40 ~ +120C
TT\/ /A il ER—RFIMETARE. Fiin. ¢ 16, ¢ 185XB#4-216/218
c . ks v v = : = — ;,.' - o w =
o CERRL FIOIORCRa RolamCs gromec Islds KGR Pe TR WORs WImperie ‘“’B e Uil = Note-the pipe outer diameter in the same series can be different. Eg. ¢ 16, & 18SXB* 2-216/218
- 1 L3 L2 , D1 D2
|‘__T e = ety ____ll..ll . B
| S , L1 E
‘ g .. e N TS |'1_T1
! a3 ‘
iR ] x
FAETIRIEE F,ER (&) £ ERAREHEIRE. ]
Manufacture (design) or use other materials and pipe diameters i o
upon customer’ s reguest, =

AATTIREZSER (3@t ) £7REMHTHEFWE. Diferent materials and pipe diameters upon request

ES Az iz
y %S f;:& il . L1 L2 L3 B H D2 : THe *:;& ::E}_ :ﬁ L1 L2 B H
0BB#3-106 | 08 _ (0BB#4-106/106 06
1/0BB#3-106.4 06.4 | 1/4 e 2 L 20 j3.0 J 1|0BB*4-106.4/106.4  06.4 | i | 32 18 14.5 13.9
| oBBs3-108 | 08 | | (0BB+4-108,108 08
0BB¥3-208 | 08 | | | 0BBea-208/208 | 08
|0BB¥3-200.5 08. 5 3/8 0BB4-209.5/209.5  09.5 | 3/8
: jﬂBB;E'Z‘“ |l 39 e | . g y 2 e : 2 0BBw-210210 | 10 | 1/8 & 2 o L
0BBsI-212 | 12 | oBBu-212212 | 12|
| loBBsa-212.7 | 12.7 | | 172 0BBH4-212.7/212.7 127 1/2
0BB*3-310 10 1/8 ' ' —iugaﬁ-_a.ﬁ.gu [ 10 [ 18 |
o0BB3-312 | 12 _ 0BB*4-312/312 12
| = e |
3 _Egg*a-;_fz.r_ e T_i__ B (7775 R . : s s . ;033*&-312.?{312.1_ 12.7 | 1/2 = " e ~
*3-313.5 13.5| 1/4 3 '0BB4-313.5/313.5 13.5 @ 1/4
0BBs3-314 | 14 _ 0BBe-314/314 | 14
0BB#3-315 15 | (0BB#4-315/315 5 |
~ oBBs3-316 | 16 | 5/8 | 0BBH-316316 | 16 | 5/8
oBBR3-414 | 14 |  oBBe-414414 | 14 | | i
LB 8 ossu-s15ats | 15|
0BB*3-416 T: 5/8 0BB4-416/416 16 5/8
oBBs3-417.2 | 17.2| 3/8 | Eﬁe_ﬂjﬁzﬂﬂ.z 2| oae ||
4 oBB#3-418 18 | 40 19 7 14.5 30.5 7 4 opBe4-418/418 = 18 | 70 38 14.5 30.5
0BBsa-419 | 19 | a4 0BBH4-419/41 19 | 3/4
0BB#3-420 20 | 0BB+4-420420 = 20 | ==
i_uams-m.:t | 28| 12 | iuaan421.3x421.3 21.3 | 172
 0BB+3-422 22 | i 0BB*4-422/422 22 1
nERFEMER A EERIGHETT R R FHE®ER: DIN3015 niEERESE S S T E RS TSR BEEE. DIN301S

Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015

Other forms or requirements need to be expressed by ordering. Acc. to German standard: DIN3015




. //E Hordware .

K EF SERERNMRE AirEFSERERNWEE

OBG 2% FRlE S OBGJx2*—** type double pipe clamp
B AFRERTAR. BH. LI, X6, BR. OHBUABEREOHR. k. AHNEOEEE AN

OBGCI < #xEESEN  OBGJx1*x—*k type single pipe clamp

?*‘""i" $Fuui§ﬁ$;aﬁ E;ﬁ {tI Eﬁ ﬁnm H:-' h%;ﬂﬁ;ﬁ& ?ﬁﬁ-"ﬂ"]}ﬁ .T_k _‘jh:ﬁ"ﬁ m@ﬁﬁiﬁ-%ﬁ [ This prosduct applies oo e mechanical bydrsualic system of metallurgy petroleum,chembeal engineering, vehicle shipping.chectrue power and so forth as the quasdn pipe clamp fixing the pipeline
| This product |1‘-|:' tes o the mechanicsl hydroulic system of metallorgy petroleumochemical engineering.vehicle <hipping ckectruc power and so forth s the quardn pipe clamp fixing the pipeline which modia 45 oll or waer or gas. ) - — . i ] -
i st il R & | > ' L AR (Componemt) : FE 3R Eﬁﬂﬂ&&ﬂﬁi {Pipe clamp hndt + Mother board + Bolt}
= X LH A (Component) : S 3R{E. EEHEIEHE (Pipe clamp body + Mother board + Bolt) | = i i 3 {44 B (Material of pipe clamp body) :
! : = 1 R4 B (Material of pipe clamp body) : REER | REH | DSHE HE | B G X 20—+ FFI H BRI 5
B | FamE | RSgl | HFE s G X 10— FoR A BT R R E X - . (GJ > 20-%% indicates the carbon steel single pipe clamp without mother board)
| (G = 10-## indicates the carbon steel single pipe clamp without mother board) G 20— (B) $o iy AERF iR &

SRR T B -8 40 42 0 16(Ordering sample of @ 16): e , : e 2
X 16= T G X 2C-==A(B) indicates the carbon steel single 2l il her board
'ﬂl ‘1|'T L_EE] ﬁ %F "E .7“] H G ¢ Bk ﬁﬁﬁij$ﬁﬁ$’.ﬁﬁﬁé wx iG] % 2C-16 type carbon steel double pipe clamp (without mother board) (GJ X 2B—%% indicates the stainless steel single pipe clamp without mother board)
'E % JB/Z04492-97 (GJ = 1B-#* indicates the stainless steel single pipe clamp without mother board) mﬁm ?*‘ G 26-12A (8) (FEHR) ) . GuJ < 2B-+=A (B) | AT IHHT RERER
JE#RJB/Z04499-97 B 3< 1B-45A (B) T 92 IR 40 b M 5 3 (6] = 2C-16A(B) type carbon steel double pipe clamp (with mother board) (GJ % 2B-#+=#A(B) indicates the stainless steel single pipe clamp with mother board)

il s : ; : TSR e 2812 (FHEEM)
1B dicates the suinless steel singl 'l h mother board)
ST LR GRS T e il el g e e Sl i st by (6] % 2B=16 type stainless steel double pipe clamp {(without mother board)

TR I 28-12A(8) R = 3 I ]
(6] % 2B=16A(B) tyvpe stainless steel double pipe clamp (with mother boarnd)

T T F-EAME @ 12(Odering sample of $12):
BRI EREGI X 1C-12 (TH R

(G) x 1C-12 type carbon steel single pipe clamp (without mother bodard) c 2-p
BRI 98 3 0 10-12A(B) (HRIR) I
1 GJ x HC=12A0B) type carbon sieel single pipe clamp (with mother board ) . Ao - @ I
TEHRE ECI-1B-12 (FEREH HET i
D (GJ = 1B=12 type stainless steel single pipe clamp (without mother board) H B : L | i : III
P R FHF0ERCIX 1B-124(B) (BRI ] = A B
: T {G__.[ ¥ |B=12A(B) tvpe stainless steel single pipe clamp (with mother board) | . o 3-d
. 5 e R S T >3 é':" 7. e
. g 20 = 1T E RIS 2-g |2 —T T
i - L
wAeLllols =t Botl3 wn . poamegpen, quescpesmnsampnns et en e e :
- : - 4- L .-h -l- L -I- Notes: The ‘-LI;JL‘{ yremment of the p:.p: ¢lamp is the HT—;’!« coated. Onther methods E*E'JE‘IED“SGG-E? &
< . Ao s = e e e S Wy cang ) R (o)
ERAE [ Pipe clamp boand ) FEH ( Mother board ;: pi“:c [%.]:I‘[:‘I"‘I‘ u:n.iné other mal:::lniln ;mdlnlhcr diili“t‘ﬁ piﬁi- : el 1. WREDMEHEE. ARSEFERRARCRELENE.
Notes: %Hﬁﬁi?rﬁﬁ'ﬁﬁ%iﬁz Elif.ﬁﬁﬁ:b:ﬁﬁilng Ef. miethods of surface reatments can alos be chosen based on the custoniers” requests
ﬂﬁ.ﬁq‘ D P h G A | B R d jE ﬁ L b H L1 G D d I .-"u:'u:r.mlmg o the customers” n:qujrurm:nu,wcmndctignlrm.i manufacture the pipe clamps using other materials and pther diameter pipes. I
6 6 | 2 | 2 |7.5/25 |40 | 15| 2 | 7 | JE #| 40 | 15| 8 | 25 | 7.5| M6
BN 8 | 2 | 2 |7.5[28 |43 | 15| 2 | 7 [RSEEMEN 43 | 15| 8 | 28 ?5&15 7 ﬂﬁgﬁ%DFhlc A|L|a|B|R|d|E® L|b|H|L]|C|D,/[UJ
100 10| 2 | 2 |7.5(30|45| 15| 2 | 7 |JE 48 45 | 15| 8 | 30 | ?.slms 7 6 | 6|2|2(7.5|36 |60 10| 15| 2|7 |\ 48| 650 | 15| & | 365|7.5| M6 | 7
(2012 | 2 | 2 [7.5| 32|47 | 15| 2 | 7 [SEEREEN 47 | 15| 8 | 32 [7.5| M6 | 7 800 8| 2|2 (7.5/40 |55 |12 | 15| 2 |7 |EENHR| 55 | 15| 8 | 40(7.5/ W6 | 7
: ! =)= ia i i ! ! = s = + ! : = St RS
140014 2 | 2 |7.5/35 50| 15| 2 |7 [REHA| 50| 15| 8 | 35 |7.5[me | 7 10 [10] 22 [7.5]44 59| 14 [ 15| 2|7 | B 4| 59| 15| 8 | 44|75 me | 7
16 161 2 2 7.5| 38 | 583 15 2 1 JE & 53 16| 8 38 | 7.5 M6 1 12 12| 2| 2 |7.5 |48 | 63 | 16 | 15I 2 7 JE R 63 15| 8 48 | 7.5 M6 7
18 18| 2 [ 2 [7.5/ 40|55 15] 2|7 [NEMR| 55| 15| 8 |40 [7.5| w6 | 7 14 (14| 2|2 (7.5 (54 |69 |18 | 15| 2 | 7 [ 4| 69 | 15| 8 | 54[7.5| M6 | 7
22022 | 2 | 2 | 7.5/ 45 |60 | 15| 2 | 7 |RNEENMEN 60 | 15| 8 | 45 [7.5| M6 | 7 100 16| 2 |2 |7.5|58 [73 (20 | 15| 2 | 7 [WEEREEl 73 | 15| 8 | 58|7.5( M6 | 7
24 (24| 2 | 2 |7.5(48 |63 | 15| 2 |7 | JE # 63| 15| 8 |48 [7.5|/m6 | 7 18 [18] 2|2]1.5(62 |77 |22 15] 2|7 [ #&] 77| 15| 8 | 62|7.5|m6 | 7
280 28 | 2 | 2 [7.5|50 |65 | 15| 2 | 7 |ENEE] 65 | 15| 8 |50 [7.5| N6 | 7 200 22| 2 |2 (7.5 (72 |87 |26 | 15| 2 |7 [WEEREEl 87 | 15| &8 | 72|7.5| He | 7
34 34| 3 |5 | 10|65 85|20 3|9 |JE # 85| 20|14 65|10]|Me |9 24 24| 2|2 (7.5 |76 |91 |28 | 15| 2 |7 | BE#R| 91| 15| 8 | 76 |7.5| M6 | 7
42 42| 3 | 5 (1070 |90 | 20| 3 |9 (W #R| 90 | 20 | 14 | 70 | 10 | M8 | O 28 23' 2|2 (75|82 |97 32| 15| 2 |7 |WER] 97 | 16| 8 | 82|7.5| M6 | 7
48 43} 3 l 5 I 10 | 80 | 100 20 3 2] JE #R 100 | 20 14 80 | 10 M8 9 34 34 3|5 |10 104 124 38 | 20 3 9 B ¥ 124 20 | 14 | 104, 10 | M8 9
60 60| 3 | 5 [10 |90 |110]| 20| 3 |9 [E#R|110| 20| 14 | 90 10 M8 | 9 42 |42 3 |5 |10 116 (136 | 46 | 20| 3 | o | & #®|136| 20 14 | 116| 10 | M8 | o
16 76 ‘ 4 5 12.5 110 | 135 | 25 3 9 JE | 135 | 25 | 14 i11ﬂ' 12 5 M8 9 48 48| 3 | &5 |10 |[134 |156 | 54 20 3 9 & ® 155‘ 20 ‘ 14 | 134 10 | M8 | 9
89 89 4 5 [12.5/ 125 (150 | 25 3 9 JE # 150 | 25 14 125 12.5| M8 9 60 60| 3|5 |10 [155 |175 | 65 20 | 3 9 B W 175 | 20 | 14 | 155 10 M8 9

MEAAFR R RN H EEKIE LT EEH TR MERFR R H ERKIBET R IEZA




A SERER AR

OBGII* k=5 OBGJx3*—** tri pipe clamp

Bir: KFRERTEE. A, LI, &%, oM. BHFNHEEREPAE. K. SHTEAMEEEFENEE.

This prowlnct applecs o the mechanical hyvdeaule system of metallwrgy petrofenm,chemical engineening, vehicke shipping chectnse power and so forth as the guusdn pipe clamg Guing the pipeline
which media is oil or water or pas_ )

MITERIRER:
o8B Gl 3
i [0 &3 JIB/704495-97
EriiER | ERaAE _ BEEN | #HE weE JEHJB/Z04502-97
[ J=> [ 1=
£ 2-p g 24
1 o], [EB—3Wl3
- L1 - » Er
- L - - L -
A B B2
WIE | Pipe clamp board AR | Mother hoand

(HE (Component) : 3. BRI E (Pipe clamp body + Mother board + Boli)
3 B R (Material of pipe clamp body) -

GJ X I+ BRHHBERTTREERR

{GJ % 30—%+* indicates the carbon steel single pipe clamp without mother board )

GJ X 3C—*+*A (B) BT ABET EHEHE R

(G 3C—**A(B) indicates the carbon steel single pipe clamp with mother board)

GJ X 3B~ BRI AFHRETRTHEEATE R

(G 3B—*= indicates the stainless steel single pipe clamp without mother boand) (] = 3B—16 type stanless steel tn pipe clamp (withouwt mother board)
GJ X 3B—=+A (B) ETHAHFHETEEE TR TG =R 02 I8-16A(8) (FFER)

(G % 3B—+*A (B} indicates the stainless steel single pipe clamp with mother board) {G] = 3B—16A(B) type stainless steel tri pipe clamp {with mother board)

HE: 1. ARERLELER. AREFPEAEARNCRELRERE.
2. R EETHEEAERRITEFEERANEHEHNEE

Notes: The serface yreatment of the pipe clamp is the zine coated, Other methods of surface treatments can alos be chosen based on the customers " requests.
According to the customers” requirements. we can design and manofacture the pipe clamps psing other materials and other dismeter pipes.

T T - 5T 2 16(0rdering sample of @ 16):

B = Re) X 3016 (THEHR)

(] % 3C—16 type carbon steel tri pipe clamp (without mother boand)
B = 32 6. 3C-16A (B) (FRREHR)

(GJ = 3C-16A(B) tvpe carbon steel tri pipe clamp (with mother board)
FHEP=F L6 38-16 (FHEHE)

AR SERERERRE

OBGJX4x—xx[E

@ifr: RFmERATEZ. A, £I. £H. 5. ANSNHAERSEPMHE. k. SATANEEEENEx.

This product applies o the mechanical hyvdraulie sysiem of mesllurgy peroloum chemical engincering. vehicle shipping.ebectnae power and wo forh as the quanda pape clamp luing the pipeline
which medka is oil or water or gas

OBGJx4*—* quadri pipe clamp

RITEREES:
X JB/Z04496-97
JEHRJB/Z04503-97

oB Gl 4 { & J .
BIEE  EROE  DSGN | HE | BE

& a a
- = = *
i %
2 €2 & | ] +
i H
g ¢ 2=D ¢ 2-d
& = &
&3 Io &=, o @] =,
wt
?-ﬂ?la | I OJ v . LLI = i L|_‘ o
Ll - Ld
£l : L3
- - IA ﬁ B gl.:]
'Eiﬁ Pipe clanyp board | Iﬁ‘f& | Muother B

(R (Component) . B30, EHENMHER (Pipe clamp body + Mother board + Bolt)
B =L R (Material of pipe clamp body) :

G 40—k F M MBS TR IR

(G > 4C=4% indicates the carbon steel single pipe clamp without mother board)

GJ < 4C—#++A (B) R H BT RIRQEX

iT H R H-5 5h{E O 16{0Ordering sample of @ 16):

BN I 6 2 4016 (FSF REAR)

(G ] x AC=16 type carbon steel guadn pipe clamp {without mother board)
B [0 98 = X AC-16A(B) (FE )

{GuJ X 4CG—+*A(B) indicates the carbon steel single pipe clamp with mother board) (G] % 4C-16A(B) type carbon steelquadri pipe clamp (with mother board)
G X 4B+ FFHATHERATHRELEX TR AR R 6Ux 4816 (THEHR)

(GJ > 4B=+#% indicaies the stainless steel single pipe clamp without mother board ) ( G] x 4B—10 type stainless steel gquadn pipe clamp (without mother board)
GJ X 4B—++A (B) BFEMATEHT R LTRX FTHEREEIC) < 4B-16A (B) (TR

(GJ X 4B-=A (B) indicares the stainless steel single pipe clamp with mother board) (G} = 4B-16A{B) tvpe stainless steel quadri pipe clamp (with mother boed)

HE: 1. WERELESEE. TRHEREFEXANRERENESNE.
2. RLFEFTHEEFENSHEFRERLEREARNE

Motes: The surface yreaiment of the pipe clamp is the zine coated. Cther methods of surface treatments can alos be chosen based on the customers” reguests.
According o the customers” reguirements,we can desipn and manufacture the pipe clamps osing other materials and other diameter pipes

iTﬁﬂf‘t% D A L a | L|B|H[Lle(|D |d
6 6 45 60 10 B | 60 | 15| 8 !45_7.5:&.16 7
8 8 .I 52 _e?_“:“m IEnim 67 | 15| 8 | 52 |75 | M6 | 7
10 10 58 | 73 14 E # ?3!15§8I53!?.5IM6.?
12 12 | 64 79 16 iE |79 15 8 64 75 M6 7
14 14_, _?2 : “3?_ _-_1_8 & | 87 i 15._ 8 .- 72 '?:5_1 Mﬁi 7
16 16 78 93 | 20 E i | 93 15 8 :?a 7.5 Mﬁi 7
18 18 | -84 99 22 E || 99 15‘ 8 | 84 }7.5 ME‘ 7
22 22 98 113 26 ot 113 | 15| 8 |98 (7.5 | M6 7
24 24 104 119 J 28 E || 119 15. 8 104I?.5|M6 7
28 | 28 114 129 32 & # 129 15 -3 11475 ‘ M6 7

MERATFRREAIHEEEZKIFEIT EHNIZA

i’Iﬁﬁf‘t% D A L a B #&®| L | b|H|LI|]Cc|D|J
6 6 | s5 | 70 | 10 |® | 70| 15 s_”_ss_;_?.f_ M6 | 7
8 8 64 79 | 12 E ) ?Bi 15| 8 |64 |75|mM8| 7
10 10 ---?2 ?-;3? 14 B | 87| 15| 8 |72 |75 Msl 7
12 | 1; 80 95 16 iE 8|/ | 95| 15| 8 iao 75 | M6 | 7
14 1? 90 ‘ 105 | 18 £ # | 105 1ai 8 | 90 !?.5 MB? 7
16 16 98 113 20 B | | 113 15| 8 98 75 Me 7
18 18 | 106 | 121 22 E | | 121 15? 8 (106 7.5 M6 7
22 22 124 139 26 iE | (139 15 8 124 75 Me 7
24 24 134 | 147 28 E ) 14?. 15 8 ;134 7.5 | M6 7
28 28 | 146 161 _ 32 E ) _1_; 15| 8 (146(75 | M8 | 7

W{E R AR R s 2 E R KK 1T 55 B iR BA




AT SERER IR E

OBCP R s EEEe OBGJx++—+x multi diameter pipe clamp

i EEMEATAE. . £I. 9. 8. BHFHNREERSPH. k. SANTENEEEEEE.

This prodisct applacs 1o the mechandical bydranhe system of metallurgy, petroleam.chemical engincenng.vehicle shipping ckectruc power and w0 forth as the pipe clump fixing the pipeline which

mwddr i odl o Wsler or gas, |

0BG =62+ | F(GJ=6x»= six pipe clamp)

oA A

0BG 5= T ¥ F(GI=5=== five pipe clamp)

& ENEETes12NERR & ANRETINERR

i e Gasn
T ER CoiT ERH. EhELHOTERM.

HEE RO 66 (R : B RGeS 60-6A(B) (TR
FERAFRG 606 (TR . FEEANFNREI60-64(8) (FEE)

BEALERCSG-6 (F RN . WIRA WG 5C-6AB) (MEW)
FHEEERCB-6 (FEEH : THRETEECT- -84 (B (S

OBG) =g JUE 3G J=ge-+= gight pipe clamp)

r

P /"‘ /J ,-"..-’J' J" //L.‘-;'
iTERH: TS
HHELeTERMN.
BEEFROSIC-STNER) . EREFROIC-6AE) (HEE
FHERLWRGS TB-6 (FFEE!: THE-LHRGS < T8-6A8) (7 &)

BHEDOETHREH.
BRI RHO0 806 (IR - BRI JHOO. - 8C-64 (B (T EER)
FEEER)\ I FHeG - BE-6 (R RS . T/ GG BE-5A (B) (B

OBG.J*g=es 71 F(GJ=9»= nine pipe clamp)

FeE e ).

A P A Al

i R
RrER o6 ERH
BRAE RS 0-6 (TS WRILE RS 8C-84B) (FEHE - FRRLFRC- B-6(THEE : FHRRLERC 8-60E) (FRE

OBG) = 10w+ + (5= 10+—= len pipe clamp)

Ol )

e e P g e O P P /.r--‘

FaERPaTEEN

BB 200006 (R ERE, BRI RSSO00-00B) (FEE) FRETRR0008-6(FEEE . FRIE--E RS 108-5 B (FEHE

OBG = [ -2 +—FH{GIn 1 1=+= alayven pipe clamp)

" . ™

HHRH,
AR CHIRRM

e )
TR AN _‘:_ na

O A A A A R A B

ER+—WEe NC-6(FFRE) : ER-—ERe<110-6A 6 (BRE)  FTHE+—W X< 186 (FHEE); THRE+H—WICJ=118-608) (FESR

OBG I 125 R (G Jx 1 2%-5= twelve pipe clamp)

A A

R
AR ¢ RN,
ER+oWRGO2C-6 (FFEN) . ERTSWREIO120-6 8] (FEE - FRWN oW RG0OE-6(FHER)  FHRIRT 8RS 128-6A 8) (R

Sassssssgran)

-S;:-‘.--’/z.-’/ e o g P ot

ReA: 1. HERELELEE. TEREFAEREANERELESE.
2. LA ARERFERRITEFRERLEHHATE.

Notes: The surface yreatment of the pipe clamp is the zine coated Other methods of surface reatments can alos be chosen based on the customers” requests.
Acconding 1o the customers”  reguirements, we can design and manufecture the pipe clamps using other materials and other diameter pipes.

*"H‘:}_L% _tj] Q== ORG A+ Andcates tighteming and thic

wir: KEmERTES. Al. €I, ¥5. . ahENEEERSZEPMHE. K. SHTEMEE

Fir N SERERNARE

TEOER,

{ This prowdoct applies to the mechankal hvdrulc system of metallurgy petroleum,chemicnl engimeering, vehicle shipping ekectroe poser and <o forth os the quardn pipe clamp focing the papeline

whinch rsedia is obl OF wider of gt )
GJ A AR E ¥ (G) indicates steel pipe clamp):
AZHEEFUINME I A indicates tightening and thickening pipe clamp)

oB al | A | s | =

EBHER | Exem  LSEH | MR wE

3 Pkt R (Matenial of pipe clamp body) :

T 8 B(Ordering sample) :

CIAC-= T T H A ERIRE R RPN RGIAC-16
{ GJAG—*= indicates carbon steel pipe clamp) { GJAC-16 indicates carbon steel tighteni
GJAB—+=JR iRt 0 TR = AR R P REAB-16

{ GJAB—** indicates stainless steel pipe clamp)

e 1. WEREELEAER. TREFPEKARARERELESZ.
2. RAFHREEPERTTESRERAEHRNEE

Notes: The surface yreatment of the pipe clamp is the zine coated. Other methods of surface treatments can alos be chosen based on the COSEOMPCTs Teests.
According 1o the customers " reguirements we can design and manufacture the pipe clamps nsing other materinks and other diameter pipes.

ng pipe clamp)

(GJAB =16 indicates stainless steel tightening pipe clampd

ITEKS %k E % BOD1 L1 L2 L3 H D2 B S
0BGJA%-7 5.5-7 | 22 | 14 27.5 5 16
© 0BGJA*-9 | 7-9 | 22 || we | sas | e ! = 6
0BGJA*-13 9.5-13 | a0 | 25 | 405 T S T
0BGJA%-15_5 13-15.5 | 41 26 | &2 12 11 25 3
OBGJA*-19 15.5-19 | 43 | 28 55. 5 i 15
0BGUA*-23 20-23 51 I | e 19
0BGJA*-26 23-26 f s2 | 3% | 10 | 22 14 30 5
0BGJA*-28.5 26-28.5 53 3 | a3 24
0BGJA*-31 28. 5-31 . 55 39 5 | 21 |
0BGJA*-36 33-36 57 | a4 o 32
 0BGJA%-39 36-39 s | 83.5 | 34 o
_ | 40 5
OBGJA*-43 39-43 68 48 94.5 38
OBGJA%-46 43-46 | 10 | 0 98 | a4t 8
0BGJA*-49 46-49 13 53 105. 5 44
0BGJA*-52 49-52 .76 56 110 | 47
0BGJA*-58 53-58 78 58 | 115 5 | 40 8
0BGJA%-61 58-61 . 80 | 60 118.5 | &1 |

MEATRMEAREECERIFEAEITENIRA

HBE&M®ER: DIN3015 1592




which media is oil or waler or gas. )

6J2 ¥ 8 ¥ 3(GJ indicates steel pipe clamp)

oB Gd B -

=

EER | WaaR ZSHER | HAR

e

EB K (Component) = B 324 (Pipe clamp body)
B F &R (Material of pipe clamp body)

GBC— =R HERER
{ GJBC—=* indicates carbon steel pipe clamp)

GUBB-=+RTHATFHERER

(GJBB—** indicates stainless sieel pipe clamp)

T 5 H(Ordering sample):
5% P £ R U G JUBC 12

e U JEeJBB-12

(GJBC-12 indicates carbon steel tightening pipe clamp)

{ GJBB-12 indicates siainless steel tightening pipe clamp)

B i & X /5 E E(B indicates tightening and thickening pipe clamp)

Rl . ERELENEE. THEEFPERXRARCERLESE.
2, ReAMRET P ERETEFRERREHERERE

Notes: The surface yreatment of the pipe clamp is the zine coated.Other methods of surface treatments can alos be chosen hased on the customess”  requests
According to the costomers ' requirements,we can design and manufacture the pipe clamps using other materials and ather diameter pipes.

EirAE SERERY WERE
OBGEF'**#L‘&'%ME‘%?E OBGJB+—+ Andcates tighteming and thickening pipe clamp

i EFEEERTEE. 5. €1, . IafA. ENWFIREEFRZPNME. K. SHTANEEEENER.

| This produoct applics 1o the mechanical hydronlic sysaem of metallergy petrodeumchemical engineering vehicle shipping.ckocime power and so fonh as the quandni pipe clamp fixing the pipeline

D2

L2

L1

GJ 2 R HI T F(G) indicates sieel pipe clamp);

G $u 3 A W B F(C indicates tightening and thickening pipe clamp)

OB

BBEE | ERME | HMS@

GJ c

-

®E

R

£HRR (Component) : 5 ZE4E (Pipe clamp body)
W FiEH R (Material of pipe clamp body) :
GJCC—+=J TR H A B R 0 X

(GJCC—** indicates carbon steel pipe clamp)

BJCE-wFo R H A R INE L
(GJCB-""* indicates stainless steel pipe clamp)
T R B Ordering sample):

B U eJCC-12
(GJCG~12 indicates carbon steel tightening pipe clamp)

AT SERERN IR

OBG..IC*—M&I%EUJ;%QE OBGJC#*—*+ Andicates tighteming and thickening pipe damy

g ErmiEATEaE. G, 1. F6. GA. EHFHHEEREPNE. k. SHATRMEEEENESE.

1 This prosduct applies to the mechanical hydroulic system of metallurgy_ petroleum.chemical enginsering.vehicle shipping.ekectroe power and <o forth o= the quardn pipe clamp fxing the pipeline
which media is oil or wisler or gas, |

THEKS % & & EOD1 L1 L2 H D2 B
0BGJB*-7 | 5.8-7 44 28 5 7 16
0BGJB#-9 7-9 48 32 6
 0BGUB*-13 | 9.5-13 | 52 36 9
0BGJB#-15.5  13-15.5 56 40 12 o i
0BGJB*-19 | 15.5-19 60 44 15
0BGJB+-23 | 20-23 82 56 19
0BGJB*-26 23-26 84 58 22
0BGJB*-28.5| 26-28.5 90 64 24 1 25
0BGJB#-31 | 28.5-31 90 64 27
0BGJB*-36 33-36 106 80 32
0BGJB*-39 = 36-39 110 84 34 =
OBGJB%x-43 35-43 120 88 a8 30
0BGJB*-46 43-46 122 80 41 i
OBGJB*-49 46-49 122 a0 44
0BGJB*-58 |  53-58 142 110 52
0BGJB*-61 58-61 142 110 57 o
08eUBs-71 | 6171 152 120 06 40
_0BGUB-77 | 73-77 ) 176 136 72 ia
0BGJB*-81 | =81 184 144 76
0BGJB*-91 86-91 198 158 85
0BGJB*-103 |  99-103 214 174 98 18 40
OBGJB*—115 105-115 220 180 104 i
0BGJB#-115 = 110-115 226 186 109

TR RE A IUE EeJ0E-12
(GJCB-12 indicates stainless steel tightening pipe clamp)
el 1. BRERLELHEYE. TREEAERAANCERLESE. L2
2. RO TTHEEREREHE S ERNESHNEE. L1
Notes: The surface yresiment of the pipe clamp is the zinc coated. Other methods of surface treaiments can
alos be chosen hased on the costomers”  reguests. L3
According to the customers” requirements,we can design and manufacture the pipe clamps using
other materials and other diameter pipes
TERS %k E % EOD1 L1 L2 L3 H D2 I B I
OBGJCG*-7 5. 5-7 26 14 31.5 5
- = 1 16
OBGJC*-9 7-9 28 16 34. 5 6
0BGJC*-13 9.5-13 30 18 | 38.5 9 I
0BGJC%-15. 5 13-15.5 32 20 41.75 12 7 20
0BGJC=*-18 13. 5-19 34 22 | 45. 5 13 I
0BGJC*-23 20-23 43 28 57.5 19
OBGJC*-26 23-26 44 29 | 60 22
0BGJC*-28. 5 26-28.5 47 32 64. 25 24 ' 9 25
0BGJC*-31 |  28.5-31 47 32 65. 5 27
OBGJC*-33 31-33 56 36 75.5 29
0BGJC*-36 33-36 57 40 78 32 '
0BGJC*-39 36-39 59 42 81.5 34 |
0BGJC*-43 39-43 61 44 85.5 38 i a0
OBGJC*-46 43-46 62 45 a8 41 |
0BGJC*-49 | 46-49 67 48 | 95. 5 44
OBGJC*-52 49-52 72 93 102 47
0BGJC*-58 | 53-58 74 55 | 107 52 | 1 40
A | N S . - I —— . a—)
OBGJC*-61 58-61 17 58 111.5 56

MERTRIAEANE EREKIEAEITERNIRA

5&%: DIN3015 1593

30 1E A A B 89 2 sk B B 'K IE 75 1T S i A

F&iEkR: DIN3O15 1596




_n- Hardware

AR EN SERER R

OBCIDF B SR O5G.0+—++ Andcates fighteming and thickening pipe clamp

fifr: AEMERTAE. Bild. kI, £9. fE. e HhSFNEEEREPHHE. k. SHTERHEEEEDEEX.

This prodect applics 1o the mechanical hyvdraulic system of metallurgy, petroleum, chemical engimeering, vehicle shippaing, ckectree power and so fonh os the guandn pipe clamp fixing the pipeline

which meddin s 0il or water or gas, |

GJA A 8 J(G) indicates steel pipe clamp);
D25 i B 0B F(D indicates tightening and thickening pipe clamp)

OB GJ D . - s
KRR | gnan | Begm | HE | w8

$HER (Component) : 58 JE & (Pipe clamp bady)
%44 B (Material of pipe clamp body) ;

KizAE SERERN IR E

OBCIE WIS CENEIE S 0BG E1+—++ type duplex steel pipe clamp

. EF@ERTEE. G, €I, E£E. R, EHFNEREREPME. k. SHTRNEEEEEX-

{ This product apphes 1o the mechanical hydrbic system of mealhngy, petroleumochemical engineenng.vehicle shipping ckectrue power amd 50 forth as the pipe clnmp fixing the pipeline which

media is odl or water or gas, )

|
| .
BIBER | ERAE | BSEN | HE | W8

oB ar || B [ % || =

WRE | Pipe clamp board

HHER (Component) : T3Etk. RENWIEER (Pipe clamp body + Mother board + Bolt)
& Sk #4 B (Material of pipe clamp body) -

GEIC-+=RTNABATHRIERTR
GJE1 C—** indicates the carbon steel single pipe clamp without mather board

GUEIC—++A (B) TR HRWHEHATR
GJE1C—*=+A(B) indicates the carbon steel single pipe clamp with mother board

GJE1B—++F2 T 100 FHRIRHEH AW &

GJE1B—=* indicates the stainless steel single pipe clamp withowut mother board
GEIB-+A (B) REHATHETRERETR

GJE1B—*+A(B) indicates the stainless single quadri pipe clamp with mother board

iREA: 1. WERELELEE. THESFERERLERDLERNE
2. ZLFAHEFEFERBGHEFIERRERHAEE.

HITEREAES:
& IB/204498-97
JERJB/Z04501-97

B4 ( Mother board |

G %=
H i - —
L ,,:
L Il 1
|
BB

:I'Tﬁﬁﬂ_*ﬂ‘g i |E{{]n|¢'—,ring "-"mpl-'-' of O |2}:
BiRg EReEIC-12(FERE

GJE1C-12 type carbon stee] single pipe clamp (without mother board

B8 P ROJEIC-12A (B) (FEE)
GJE1G=12A(B) type carhon steel single pipe clamp (with mother board
TIEH S E RCIE1B-12 (R H R
GJE1B=12 type stainless steel single pipe clamp (without mother board

TR 9 GIE1B-12A (B) (FEREHR)
GJE1B-12A(R) type stainless steel single pipe clamp (with mother board

Motes: The surface vreatment of the pipe clamp is the zine coated Other methods of surface treatments can alos be chosen based on the costomers" reques,
According o the customers requirements, we can design and manufacture the pipe clamps using other matenials and other diameter pipes,

GUDC-+F M R D2 & s =
{GJDG—** indicates carbon stecl pipe clamp) T
CUDB-++ R T A THTAWR -
{GJDB—** indicates stainless steel pipe clamp) [
T B Ordering sample);
SR 4 8 ST R eUDC-16
{ GJDC—-16 indicates carbon steel tghtening pipe clamp) O O g
A ER R i 5 2L 9 FeupB-16
{GJDB—-16 indicates stainless steel tightening pipe clamp) L2
B8 1. WREWANHNE. THEEAERBARTRELASE. 1
2. EAFTHREEFERSTEFRFERAR THENES
Notes: The surface yreatment of the pipe clamp is the zinc coated Other methods of surface treatments can
ales be chosen based on the customers” negquests,
According to the customers” n.qui::u:mtmn.u.c can design and manufacture the pipe clamps using |
other materials and other diameter pipes. i
TS * ¥ ¥ MOD1 L1 L2 H D2 B 5
0BGUD*-7 | 5. 5-7 44 | 28 5
0BGJD*=-9 7-9 48 32 6
0BGJD*-13 9.5-13 | 52 36 9 8 16 1.5
0BGJD*-15.5 13-15.5 56 40 12
0BGJD*—19 | 16.6-10 | 60 | 44 15
OBGJD*-23 20-23 16 56 19
0BGJD*-26 23-286 | 78 | 58 22 |
0OBGJD*-28.5 26-28. 5 84 64 24 . 7 20 2
! ! : ]
OBGJD=*-31 28. 5-31 ' g4 _ 64 27 !
0BGJD*-33 31-33 92 12 29 |
0BGJD*-36 33-38 104 ' 80 32
OBGJD=*-39 36-39 108 84 34
- 1 9 25 3
OBGJD=%-43 39-43 112 88 38
OBGJD=*-486 43-46 114 80 41
0BGJD=%-49 46-49 118 80 44 :
OBGJD=-52 49-52 134 106 47 |
0BGJD*-58 53-58 138 110 52 i 11 30 3
OBGJD*-61 58-61 138 110 56

TS A L a R B #i| L | b H|LI1|C D
6 38 53 13 2 B #%| 53 20 10 38 7.5 M6
8 5 44 59 16 2 JE | 59 20 10 | 44 7.5 | M6
10 50 ‘ 65 _; 2 B 8 65 20 i.15 50 |75 Me
12 54 | es | 2 2 B # 69 20 15 54 75 Me
14 62 77 26 > | & @& 77 20 15 62 75 | M6
16 68 | 83 | 30 2 | & #|83 20 15 68 75| M6
18 72_‘. 87 | | 3 B #| 87 20 15 |72 75| M6
22 80 | 95 35 3 B 8 95 | 20 15 80 75 M6
24 86 101 | 40 | 3 & # 101 20 20 86 7.5 M6
28 95 1o | a5 3 /& # 110 20 20 95 7.5 | M6

MERTRMEARNEEEKIFEITERITA

& tR. DIN3015 1597

anf€ A A B 9 72 3 sk H E 25K 1 78 1T 55 B it A




AT SEKER AR AtrEN SEREE bR E

OBGE%—**ME‘ZWE‘% OBGJE3*—** type duplex steel pipe clamp

fafr: AESE

[ This product applices (o the mechanical hydrealic system of metnllorgy petrolenm chemical enpinecenng, vehicke shipping.ckectruc power and =o wth as the pape clamp Miaing the pipeline which

OBGCIEZF RS USMBIESE OBGJE2+—+* type duplex steel pipe clamp

G@ifr: AFEREATER. Bd. £I. F5. B, 2 HVFNAEERSZ DM, k. SATERHNEEETBEER-

| This prosduct applics tothe mechanical hydranlic system of mealugy, petrolenm, chemical engineenng vehicle shipping ekoctroe power and so fiorth as the pipe clump Tixing the pipeline which
media is oil or water or gas. )

AFiaE. B, 1. $46. oM. ALWZHNEEERE PR, k. SHATENEEFERER

maadin s od] or water oF gos, |

MITEZEFEER:
T 0B GJ E3
0B GJ £2 s - PATEIRFEA: ! = 23 B/204497-97
% 33z JB/204498-97 (2) BHEER | FRRe | Desn | HE | ®E 45 JB/204504-97
BBER  HRNE | BESH | HE | Be E45 JB/Z04501-97 (2)

A

Ra @ l
; " =
R L ]
'”: = T z'
i .
:E'_ I | q‘ut-r A - &
] i o o -
o v
R D . D © ! e
i c - -
[—o=—]¢ - ;
‘9

D , o cn

A 3
- L - L
T Y0
§E S24E (| Pipe clamp board | EHE | Mother board

$HE (Component) : 534, DM EE R (Pipe clamp body + Mother board + Bolt)
B 9Lkt [ (Material of pipe clamp body) -
GIEC— =R THABRETITRELAER

20

W [ Pipe clamp board RS ( Mother board §

iHEY (Component) : $3EE. ERNMWE2ER (Pipe clamp body + Mother board + Bolt)

 Jrikdd R (Material of pipe clamp body) : TS 589 5% D 16(Ordering sample of ®16):

iT 67 54~ 52 ©16(Ordering sample of B 16): B GJESC-16 R k)

GUE2C-s+H T HBET SRR SR BE4R 4% GJE1C-16 (R M) FHARMTERRRER : . ARESC WIS . : :
GJE2C—* indicates the carbon steel single pipe clamp withowt mother board GJE2C-16 type carbon steel single pipe clamp (without mother board) GJEJC—e» 1ru__i||:ﬂu_~. P DEOON B < A T aiig WRROO iother ot SEE IR DpESunan e ngh. o ek o
GUE2C-+sAT T D AR i S 3 450 .96 TGUE2C-16A (FB AR GIESC-+ARTH DRI EIR W R B 590 90 9 JGUE3C-16A (B REAR)
"_1: : CHRTE ; X - " : . GJEIC—**A indicates the carbon steel single pipe clamp with mother board GJE3C=10A tvpe carbon steel single pipe clamp (with mother board

BJE2C—++A indicates the carbon steel single pipe clamp with mother board GJE2G=10A wvpe carbon steel single pipe clamp {with mother board) S L

CUEZB- PRI A T AR SRS R 5990 ROJE2B-16 (R RAR) e A AR D s bt

GJE2B—_s+ T:.i el P i sy GJE2B-16 1y i st i R T e e R T GJE3B—** indicates the stainless steel single pipe clamp without mother board GJE3B-106 type siainless steel single pipe clamp (withowt mother board

ok indicates the stminless steel single pipe clamp without mother boar ~16 » stainless steel single pipe cl: iths othe
gle pipe clamp ¥pe g6 pipe clamng GUESB-+ART I AT BRI  E* A 4515 2 ReJEIS-16A (R

TR ReJE28-16A (B IEIR)
GJE2B-16A type stainless steel single pipe clamp (with mother board)

GIEZB-+ARTHATHRHEIRETR
GJE2B—++A indicates the stainless single quadrni pipe clamp with mother board
iHEE: 1. FEAEELAELENE HEETPERERAATERGEAE.
2. Eoa HERERERGITEFEFATERHOWE.

Notes: The surface yréatment of the pipe clamp is the zine coated. Other methods of surface treatments can alos be chosen based on the customers ' requests.
According 1o the customers’  requirements. we can design and manufacture the pipe clamps using other materials and other dinmeter pipes.

GJEIB—**A indicates the stainless single quadni pipe clamp with mother board

iREA: 1. ERRELELER. IREREFEXARRERALESE.
2, RLEEREZPERGHESREALEHRADEE.

Notes: The surface yreatment of the pipe clamp is the zine coated. Other methods of surface tnestments can 4los bechosen based on the customers” requests.
According to the customens” requirements,we ¢an design and manufacture the pipe clamps using other materials and other diameter pipes.

GJE3B-10A type stainless steel single pipe clamp (with mother board

o — m— - — - — ad

THERKS | T B R D & W L b H D iTHKs D A | L b H c D
. 38 53| 2 |7 |[Ea. 53 15 10 : M6 6 6 21 B O 40 20 20 15 M8
8 44 59 2 | 7 ;.IE o 59 15 10 | M6 8 8 21 E |40 20 20 15 M8
10 50 | 65 | 2 7 K | 65 15 15 | M6 10 10 25 & iR 45_I 20 20 15 M8
12 54 | 69 | 2 7B i 69 15 15 M6 12 4 25 B #®| 45 20 | 20 15 M8
14 52‘ 77 ‘ 2 7 | E W) 77 15 15 M6 14 14 za_ B | 50 20 20 15 M8
16 68 | 83 3 9 | E W 83 20 15 M8 16 16 28 B || 50 20 20 15 M8
18 72 | 87 | 3 9 K W 87 20 15 M8 18 18 30 iE #& 55 | 20 20 15 : M8
22 80 95 3 9 E W 95 20 15 M8 22 22 32 i #|® 60 20 20 15 M8
24 86 | 101 3 ' 9 | E W 101 20 20 M8 24 24 32 E & 60 20 20 15 ‘ M8
28 95 110 | 3 9 K | 110 20 20 M8 28 28 35 JE #/ 65 20 20 15 M8

MEAFRMHERSE EEKRIFEIT NI

a0 A A~ B /Y iz 20 3 B E 2K U £ 1T 52 R R A




miir: EFrmERTiEE. All. I, =9, . BAFUNRRERKFTNHE. k. SATERNE

| This produsct applies 1o the mechanical bydmulic system of mstalluorgy petroleumchomical sngincening. vehickeshippingckoctrae power and so Fforth as the pips clamp fixing the pipsline which

mchia is oul or wider or gas. |

OB

GJ

N1

BEx ;‘EEEH BB

HE | we

$HEE (Component) : F3EME., EHEDMERERN (Pipe clamp body + Mother board + Bolt)

3 (it B (Material of pipe clamp body) :
GMNIB- =BT ARFZHER
GJN1B-#** indicates the carbon sieel mult mother board

GINIC-=RRH AT RES HER
GJUN1C=** indicates the stainless steel mult mother boand

HITERFEN:

& XJB/204512-97

L= = ]

iE =) =

B [ Pipe clamp bowrd

KirE SERERM A&

FERERX.

A

Mozher hoard )

EHEO M ESEESS HEEITETMOerd ng sample of five=pipe clamp):
BE HE RGINIC-12 X5
GJN1C~12 x 5 carbon steel multi pipe clamp

FEHEE EERCMB12X5
GJN1B-12 % 5 stainless steel multi pipe clamp

e 1. BERRELAELER. TRERFEXARNERBLENE.

2. XL FHEERFERGHEFRHEAREHSHINERE.

Motes: The surface yreatment of the pipe clamp is the zinc ceated (ther methods of surface treatments can alos be chosen based on the customers” requests.

According to the customers

requincments,we can design and manufacture the pipe clamps using other materials and other diameter pipes.

a0

B R R R 2 5 e B oK 1 72 3T & B 35 88

i B H1 H2 H3 L1 L2 L3 L4 L5 il
HW ShiZDo HE &
] 46 | - 225 ] 26 | 10

2l s o = o 3 70 | 25 225 | 50 10 Pl
Al o 95 | 25 225 | 75 10
4 95 | 26 | 10 | s0 | 225
5 | 120 | 25 10 | 75 225
1 60 : 30 35 12.5
2 | 48 | o5 | 35 30 | 70 | 125
4 | 130 | 35 12.5 70 30 2
BCEl | 165 | 35 | 125 | 105 | 30
] B | 75 | - 375 | 70 | 125 |
EEL 125 | 50 | 375 | 105 | 125
3 | 4 30 63 30 175 | S0 | 375 | 180 | 125 M12x50
4 | 190 | 50 20 100 45
5 | f 240 | 50 20 150 45
B 2 100 | - 50 70 15
Lt 160 | 60 | S0 | 130 | 15
3 | 38 40 83 40 220 | 60 80. | 1807 ] 18 M16x70
4 230 | 60 25 | 120 55
5 | 200 | 60 25 | 180 55
f&

FirET SEREENARE

----------

THErEM.
FHEAHCETHRH. WETRGCINCIA-6: TISWEEREGINCIA-G

iTEFMH:
TR OHTERM. BT RCIN < 246 FHWMEREEIN < 25,

OBGIN=Z=—*x — BT (GIN=I*— fidamter pipe camp)

TSR M
EASHOETHTH. WREECINCIA-E: TIHREEGCIN <5

iTHRH.
FEDOETERH. ERERCINCA-§: FHETRGIN4A-6

BH: 1. WEREGEHEE. IREEFERRALCRELERE.
2. EOARHETPEREHEFRERREHNORE.

Notes: The surfice yreatment of the pipe clamp is the zine coued. Other methods of surface treatments can alos be chosen based on the customers”  reguests.
According 1o the customers”  requirements.we cin design and manufacture the pipe clamps using other materials and other diameter pipes.




Bir: ArEMmis

{ This proilect applies 1o the mechamcal hydravhc system of metallungy, petrolesm.chenucal engineenng. velicle shippang skectnee porwer and s0 fonh o the pipe clinip fivng the papeline whach

medis 1% onl o waler Or gas, )

oB | & | F1 + |
ELiER | Wik | DIEHN HiE T

EARE (Component) : 8 S AEFNERIZERFL (Pipe clamp body + Bolt)
B SRR R (Material of pipe clamp body)

GIF - R L RS B R
GJF1—+* indicates double-bolt flat carbon steel pipe clamp

WA 1. ERREAERESE. THEE,PEREARTCRELERL.
2. ELFATHEFFERETECFRERNEHHAIEE.

PMITEEFRERN:

51

AFaE. Bl LI, ¥%. oM, RHISNEEERSEPOM. K. SHANTENEEFEER.

HMITERIFHES: JB/Z704511-97 (ARY)

DIN 3567 (AZY)

ArrAETT SEIRER MR

=

1] 8 = 50 4143 D 168(Ordering sample of @ 168)+

W R EGIFI-168

GJF 1-168 indicates double—holt flat steel pipe clamp

Moted: The surface vreatment of the pipe clamp is the zine coited. Other méthods of surfice wreatments can alos be chosen based on the custoners” requests

According to the COSIOMers requirements, we can design and manufacture the pipe clamps using other materials and other diametcr pipes.

AR AR

\
# 5 B REE L1 L2 st s2 D2 Bl
D1 mm TR - %8
20 | 15 . f=ays | i -
| (I R | 89 |
&% | 20 | | 62
21 [ 2 | s | 66 |
30 25 68
i b oy || B e s 1o IR 5 7 12 30 e
- 08 32 — 76 ] |
43 | 32 | tia | @2 |
45 40 84
s | 40 | 1z | s |
57 50 104 |
61 | 50 | 2| 108 | g 6 9 14 40 ol
71 65 21-2 122 i Mi2
89 80 ' 3 | 1386 ]
108 100 172 '
115 w0 | 4 | 178 | |
133 125 196 | |
140 125 I 208 | | M16 45
—ﬁ—'— :l—ﬁ—d— _E_E_ 24 .} I 11 18 50 W16
169 | 150 232 | '
194 175 258 '
216 200 280 | '
220 | 200 | 284 _
267 | 250 | sa2 |
273 250 YT
—sis | 300 | a2 | % 8 14 23 60 s
324 300 | 398
368 350 | 444
407 400 498 | i
419 400 [ 516 | 38 10 [l s 27 70 s
521 500 614

MERATRIMEARE EEKIFHEITEN IR

FE{ER: DIN 3567 A

AR SERERH IR E

[ Thix prevscdiict spplies oo ths meschamiesl hvdrainlie ovoem of metallnrgy pednmlemm cheideas] o

miediz s odl or water o pas. )

oB | @ 2 . 5
BEEEx  HEilE DSEHN | #& e

Y (Component) : B R{EINMERLE L (Pipe clamp body + Baolt)
W F {41 R (Material of pipe clamp body) :
GF2Z-=RTEHLEN=SEAREX

GuJF2-#= indicates mi—holt flut carbon steel pipe clamp

1T #5761~ M4 © 168(Ordering sample of G 165):

=R B HEIoIF2-168
GJF 2-168 indicates tri—baolt flat steel pipe clamp

51

e 1. WERELEHEE. TRERCERRARERELES
2. FLATHREEFERGHEFEFEAECHENEE.

Motes: The surface vreatment of the pipe clamp is the zinc coated. Other methods of surface
trestments can alos be chosen based on the customers”  requests.

@ir: AEREATAE. BE. I, #8. BE,. eHhENREERSE D,

wuErmerrag vtk e shippang ~k

k. SHATENEEEEERE.

el Pl

witdd wiv il sa rhis papse o lnop O

MITERFEHEN: JB/Z204511-97 (BEY)
HMiTEESRAD: DIN 3567 (BE)

e

g e

pepesline whach

o

O
]
B1

A-:cnrd.ini:. to the customers’ requirements, we :c-.m design and manufacture the pipe b2 i
clamps wsing other materials and other diameter pipes.
L9 Pl
7 5 2B KR L1 L2 L3 s1 $2 D2 g MAARE
D1 mm |-E30) % 8
20 15 . PR
22 | 15 59 |
25 20 62
2 20 | w4 | 66
30 25 68
2 25 | o = | | s | 2 | ge | e | mEP
=TT Eeeagis == ie=—— it R
43 32 1174 a2
45 40 84 |
49 40 iz | 88
57 50 104
61 | 50 2 108 | 43 54 6 9 14 40 Wis a0
77 65 21-2 $835 | Mi2
89 80 3 136
108 100 172 B = g e E
115 100 i " | e H
133 125 196 |
140 125 204
159 150 399 | 24 70 8 1 18 50 "':f;ﬁ
L S S 0 . 232
] L | T T | 258 |
216 200 280 |
230 200 284
267 250 342
273 250 348
318 300 392 | 30 86 8 14 23 60 “:':05"
324 300 198 |
368 | 350 444
407 400 498
419 400 510 | 36 104 10 18 27 70 ek 80
521 500 G614 M24

w0 (& A A~ [ 89 7 30 8 1 E 2 5K I £ 9T 55 B iR BR

TS {EFR: DIN3015 1592



'_n- Hardware

OBGJF 3+ fiiEs 3

OBGJF3*—#* type flat steel pipe cdamp

A EN SEREE AR E

mi: AFmEATEE. AW, £IT. =95, ol L HFVHAEERIEPEHE. k. SATRMBEEFEER

[ This product applies o the mechanical lydranlic system of mwetallurgy petroleum chemical engineering. vehicle shipping ekoctrue power and o fonh as the phpe clamp fixing the pipeline which

mecidin i5 0bl or water o gis.

K H {28 % FE(Big diamelter single pipe clamp)

OB GJ F3 * =

| WE

ErpEx | ExRik  TEBSE | #E8

A (Component) - T3, B0 (Pipe clamp body +Filling bolck + Boli}
i etk B (Material of pipe clamp body)

GIF 3= FH R E A BRIAF TR RS BIRE 3
GJF 3= indicates Utype Mat carbon steel pipe clamp without filling block

GIFI-+=AR THARNTRRIEI EWE X
GJF3—%*A indicates Utvpe flat carbon steel pipe clamp wiath filling block

HITEIRIFHEH: JB/Z04493-97(1)
' MiTEEREED: FB/RUK

AR SERERNRIRE

B xFRERTES. RE, LI, 8. B0, RHSNRBRERSEPHAR. &, SHARNEREEEX.

OB

ELER | WRAE ﬂ%ﬂﬁ! BE

& |

F4

| L Lo

w2

* EXEHER:

o tHAL: EHEEK. BB, ERMMRER

OBGJF4*—*x flat steel pipe clamp

AHzZzRE X

MITERIFEHED: JB/Z0 4493-97(2)
NITEERED: FB/RUK

o iTHRBI: EihEHB168

GIFd- =R R ABPAFRTERVERHE X,
GIF4-=+A T R D ERMNTFT RV B HE X

g

Hl

LZ

L1

BAUVE RINE X GJF4-168 ( Tipitth) .
EAUE RIRER GJF4-168A (Fiih)

£~

]

TuT
L3

£

iy

HAA: 1. BXRELEHES. TREFFERERARIERELESZ.
2. FAFAAREBELER (R EFRERREMHANER.

— ) —— -
T H R H-8 52 0 168(0Ordening sample of & 168): ' H
ER VSR R JeJF 3168 (RipiE
GJF3-168 indicates double=bolt flat steel{without filling block Bl
BE SRR B R S GJF3-168A (RN IA1R) = | D ——
GJF3-168A indicates double—bolt flat steel{with filling block i3 2 83
B 1. BRAELELRE. TREEFEREANTRENEST. fice
2. ZAFFREFFERRHEFRERARTHERER.
Notes: The surface yreatment of the pipe clamp is the zine coated.Other methods of iy,
treatments can alos be chosen based on the customers” requests.
According to the customers” requirements.we can design and manufacture the pipe
clamps wsing other matenals and other diameter pipes
% ED W R §&F B £ ¥l 18 B R UK
| mm Wt L1 :]m L3 [ B3 I H5 l HE
40 48.3 2 | 76 i _-24. | a5 -. -:‘ 8
2 t | i 20 <3 | | '
50 60. 3 2 88 38 50 | 5 10
65 16900 212 | 104 |
a0 88.9 a 122
108 | | 140
100 114, 3 4 147 404 75 70 17
133 | | 165
12
o 139.7 5 172
159 | | 201
150 4
168. 3 6 211 Py 8
175 193.7 | | 236
216 260 140 75 26
200 219.1 | 8 | 261
2_5? 325_
et 778 | 10| 80
ate 375 A8
o 325.9 | 12 | 382 s e
350 355. 6 14 420
368 | | 430
406. 4 16 470 i
400 i [ . | 20 60:3< 8 220 | 75 8 32
457 18 : 520
508 | 20 | 570 |
e 521 585 |

MEAF R RN H EEKIBET EE IR A

% #izD f® R f&F B URZ 1R 28 3 W Pk RUK B 14
3 | mm WX~ | L1 | L2| H1| H2 | H3 :1ﬁ B2XH4 L3 | L4 B3 | D2 H5 |4 H7  Shmigi
400 483 | 1,2 | 100 76 | 95 | 67 ' 24 25 35 8 8 5
57| | 115 85 [ 103 [71.5 | 5 lzo:::s 50 < 38 | M10 < 40
50 60.3 | 2 115 | 88 | 106 [73.2 i 25 | 50 | 10| 5/ |10 | 6
65 | 761 | 212 | 132 | 104|122 [ 81 | ;
80 | 889 | 3 160 | 122 | 146 | 97.5
108 | | 170 | 140 | 165 | 107 |
100 " 133 | 3 180 | 147 | 171 | 110 40 < 4 75 |40 | 70| 15 17 M12 55
e 133 | 210 | 165 | 190 [119.5
139, 7 5 210 | 172 | 197 | 123
150 | 199 | 265 | 201 | 220 (132.5
168.3 | &6 215 | 211 | 230 | 137 | 8 80 % 45 B 1a
406 M163< 75
175 | 193.7 | 305 | 236 | 255 | 150 |
216 | 320 | 260 277 | 161 140| 90 | 75 | 25 26
200 | 219.1 | 8 | 320 261|280 (162.5
P 267 | 380 | 325 | 328 186.5
S| = 30| ssa 180 5] Lioscs M20 < 80
300 3239 | 4, | 450 | 382 390 | 215 | s f i e
380 | 2956 | 14 480 @ 420 421 | 236 |
308 | [ 490 430 424 [ 247 |
406. 4 | 16 550 | 470 | 472 | 261
400 | 419 | 550 | 482 485 |267.5| 15 1608 10050 220 150 75 |30 | 8 | 32 | 10 |M24x100
457 18 585 = 520 523 286.5 |
508 | 20 | 630 | 570 574 | 312 |
00N 5o | 640 | 585 587 319 I
MERAFEMEARREEKIFEITENIEHA



Air AT SEXER I HRE

OBGIUTF—#=UBIE== OBGJU1x—++ U type pipe clamp

@i AFEREATEE. Al €T, 5. 80, R HhENHEERSPHH. K. ’%ﬁ]ﬂﬁﬁ?@ﬁﬁiﬁuﬂ%?&

lI'uT pnul\!nl_'l applics 1o the mechanical ydenulic sysiem of metallurgy petroleum chemical engincenng. vehicle shappingekectrue power amd 5o forh &5 the pape clamp fixing the pipeline which
medin i i | or water or gos
= e e i ool ,I
= al - " =X MITEIRIRHES: JB/Z04519-97(1)
MITEEFRMEX: RB/RUL
EipER | wWRAE 2SN #HE e

PieA: 1. WRRMLEIES. THREPEXRARERTLEENE.

2. AREMHRERFERRHEFLERLESHAOEE. :
Notes: The surface yreatment of the pipe clamp is the gine coated Cther methods of surface trearments can alos be chosen based on the castomers reguests
According to the customers”  requirements. we can design and manufacture the pipe clamps using other materials and other diameter pipes.

)

11

AL (Component) : 5 32 (R 3088 £ 56 A (Pipe clamp body + Bolt)
& SE i IR (Matenial of pipe clamp body) -
GJUT G-+ 15 A B MU S 3

GJUN C==* indicates carbon steel U type pipe clamp
GJU1B-we T A TR RUE 3R

GJU1 B-#=B indicaies stainless steel U type pipe clamp

EUEIE R6IU1C-100

GJUT G=110 indicates carbon steel U type pipe clamp
A EH USRS FGJUIB-100

GJU1B-100 indicates stainless steel U type pipe clamp

] ITERH-100 $ 5012 9 108-114, 3(Ordering sample of & 106-114.3):

28 g P m RBD
% 3 ' 12
mm A L H1 H2 a
25
20 =t 30 40 70 40 M10
30 i
______ 1 | a8 76 40 M10
25 e | 38
32 28 46 56 86 50 Mi0
42 4
= .2 | 52 62 92 50 M10
L e ] =
50 & o 64 76 109 50 M12
65 76. 1 82 94 125 50 M12
80 88.9 94 | 106 | 138 | 50 1_ M12
108 |
100 e 120 136 171 60 M16
133
125
i 148 164 191 60 M16
159
150 |
68 D | 176 192 217 60 M16
175 193. 7 I 202 218 | 249 60 M16
- |
200 Ef; 1 | 228 248 283 70 M20
267
250 s 282 302 334 70 M20
300 s 4 332 352 385 70 M20
323. 9
355. 6
378 402 43 70 M24
e 368 ] 2
|
400 43-?-94 | 428 452 487 70 M24
500 gg? 530 554 589 70 M24

MEATEMREASIH EZKIEAEITERNIEHA

FS5iEER: RB/RUL

QB

BxgEE | ERWiE

Gl

(@]

¥

HhiTERIEES: JB/ZQ4519-97(2)
HiTEEREAED: RB/RUK

SRR (Component) : T3, FHiERNMaEARN

(Pipe clamp body + Shot filling block + Baolt)

B F kR (Marerial of pipe clamp body) :

GJU2C-=+F R LB HUR
GJUZC—** indicates carbon steel U type pipe clamp
G- R AT HEREE

GJU2B—**8 indicates stainless steel U type pipe clamp

TR E-150 F5E 159168, 3(Ordering sample of P 150-168.3)

ER U R GIU2C-150

GJIU2C-150 indicates carbon steel U type pipe clamp

FHREUEERCIU2B-150
GJUZB- 150 indicates stainless steel U type pipe clamp

R 1. FERmLEAER. TREFPEREARERBLERE.
2. RLAEHEEAPERFITECSERLESBOWNE.
Notes: The surface yreatment of the pipe clamp is the zine coated. Other methods of surface treatments can alos be
chosen based on the customers’  requests.
According 1o the customers’ requirements.we can design and manufaciure the pipe clamps using other
materials and other diameter pipes.

AR S ERERMIRE

& 9 §f&R B %8 §: I ih RUK
% & i - L £ |
5 mm A | L1| H1| H2| H3 | H4 | @ (L2 |L3 | B | HE | H8 | H7 | D2
20 Egﬁg 30 | 40 |73.5 46 @30 :;g Mio| 24 | 25 | a5 | 55| 8 | 5 | &
25 30 38 48 | 81 50 | 30 20 Mi0o 24 25 35 | 55 8 5 8
33.7 . | i 22 ; . . .
32 =28 46 | 58| 89 | 50 [ 30 22 1 mi0| 24 | 25 | 35| 55| 8 | 5 | &
424 26.2
40 jg'g 52 | 62 | 100/| 55 | 35 ngg MIO| 24 | 25 | 35 | 55 | 8 5 | 8
57 33.5
50 i 64 | 76 | 118| 63 | 39 [ - iMI2| 38 | 25 | 50 | 55 | 10 | 6 | 10
65 76. 1 82 | 94 | 135| 77 | as 43 |mi2| 38 | 25 | s0| 55 | 10| 6 | 10
80| 889 | 94 | 106|152| 82 | 41 |[525(M12| 75 | 40 | 70 | 8 | 17 | 10 | 15
1
100 11333 120 136 190 105 49 gg lmie| 75 | 40 | 70| 8 | 17 | 10| 15
133 74.5
125 :
L 148 | 164|217 | 105 | 49 |-“->/M16| 75 | 40 | 70 | 8 | 17 | 10 | 15
159 87.5 .
150 a8 3 176 | 192| 247 | 105 | 51 —ap | Mi6 140 90 75 8 26 10 | 25
175 | 193.7 | 202 | 218| 273105 | 51 | 105 | Mi6| 140 | 90 | 75 | 8 | 26 25
200 | 2‘?‘-;61 228 248 311 125 59 1:-:,55@ M20|140| %0 | 75| 8 | 26 | 10 | 25
267 141.5
59 M20 140 | 90 | 75| 8 | 26 | 10 | 25
228 273 s e B Dl Rl o g !
300 | L ' 332 352| 418 | 125 | 62 187 M20| 220|150 | 75| 8 | 32 | 10 | 30
323. 9 170 |
350 395. 6 378 | 402| 475 145 | 70 180 | M24 | 220 /150 75 | 8 | 32 | 10 | 30
368 192
400 406.4 428 452|526 | 145 | 70 211 M24 200 /150 75 | 8 32 | 10 | 30
419 217.5
500 :g’i‘ 530  554| 627 | 145 | 70 ;:: M24 | 220|150 | 75 | 8 | 32 | 10 | 30

an 1€ A A B &Y 72 3 sl H B K 1B 7E 17 25 1 5t A

FEIiEFR: RB/RUK




OBGJUS* #:UBIE = OBGJU3+—** U type pipe clamp

s FERERTEE. A, 1. ¥8. ioME. BEHAFHEEERSETNR. . SHATENEEFHEVEER

AR ETSERERREIRE

(8] =] | G

L

-

i

ﬁﬂfi:iﬂﬂm mELH | HK BB

Thix prociuct applees 1o the mechanicnl hvdrnuoise sysiem ol nwetallongy petroloum chemical engineering. vehic e shippingekectmd power and o fonh as the pipe clamp [vong the pipeline which
imesdna 15 otk or waker of giss. |
= s | = =] = MITERIFMES: JB/204519-97 (3)
) A O ) ESiiall! =i MiTMERAES: RB/RUL
BigEx  HhiE DEHN HE wEe
$HRE (Component) : 34k, R Rinsg GeAmk
" (Fipe clamp body + Shot filling block + Bolr)
= 321k R (Material of pipe clamp body) :
a G +=RRHABRISIER
. GJU3C~** indicates carbon steel L type pipe clamp
= = CUU3B-*++ TR T BRI R
£] . i3 GJUIB—*8 indicates stainless steel U type pipe clamp
[} L]_J =
= u ITEEmHI-150 542 @ 158-168. 3(Ordenng sample of 4 159-168.3);
B RUEIE 32 6JU3C-150
GJUIC-150 indicates carbon steel U type pipe clamp
e VS F6IU3B-150
== GJUIB-150 indicates stainless steel U type pipe clamp
L3
L_Lz_'l RER: 1. WERELRLIESE. TREEPEERANTCRELRGE.
. 2. k0T HMEEFERGHESFHEAN TS
B Notes: The surfuce yreaiment of the pipe clamp is the zine costed Other methods of surface treatments can alos be
E chosen based on the L'm'-lumur_\' recuests _ _ !
According to the customers’ moquirements,we can design and manufacture the pipe clamps using other
miaterials and other diameter pipes.
E 9 f&ER B 2 B & RUL
x T 1= T
5l mm A L1 | H1 H2 | H3 H4 G L2 L3 B H5 H8 | D2
25 17.5
20 26 9 30 40 | 73.5 46 30 18.5 Mi10 75 40 30 5 12 11
26 | 30 | 35| 48| 81 | 50 | 30 -2 | mM10| 80 | 48 30 5 12| 71
. . 33. 7 : . 22 | . | .
38 24
32 6 B8 0 30 11
42.4 4 S5 89 S 262 M10 90 56 30 1l S5 12
40 | :‘;'g 52 62| 100 55 | 35 -2;;;2 M10 95 @62 35 5 15 | 11
oy ag?s 64 | 76 | 118 63 | 39 gg : Mi2| 110 76 @ 35 5 15 | 14
65 76. 1 82 84 | 135 | 77 39 43 M12 | 135 94 | 39 2 | 20 14
80 | 88.9 94 | 106|152 | 82 | 39 |54.5 | M12 145 (106 | 40 | 10 | 20 | 18
108 ' 64 '
. st - | T | M16
100 114. 3 120 | 136 | 190. 105 | 47 67 | 190 .133 40 10 | 20 | 18
133 76.5
125
139. 7 14B| 164 21?‘ 105 \ 47 80 H'Iﬁl 220 ‘ 164 l 40 I 10 l 20 18
150 | 1%35:5 1 176 | 192| 247 | 105 | 47 | 3--;-55 mi6 250 192 50 12 25 18
175 | 193. 7 202| 218| 273|105 | 47 | 1090 |[M16| 270 | 218| 650 | 12 | 25 | 18
200 | 2:12;61 228 | 248 | 311 | 125 | 55 '1;fﬂ5 M20 315 248 50 12 . 25 22
250 273 282 | 302 | 364 | 125 | 55 148. 5 22
300 - 318 4 332 | 352 | 418 125 | 55 174 | m20 | 420 352 60 15 30 22
323.9 | 177
ARpiE=ns 0 378  402| 475 145 63 193 mM24 480 402 | 60 15 30 | 26
368 199
400 | 406.4 | 455 452 526 145 63 218 | m24 540 452 | 60 15 30 26
419 224. 5
500 gg? 530 | 554| 627 145 | 63 201 M24|640 554 60 15 | 30 26

o YHp: WREFNMELEMN
o EREHR:

U435 & &

UeH! & 3k

GJU*C-+F R B RURI B 3.
GIUsB-++ | R A THRAVERIE L,

B AFRERTEE. Al A1, 8. BH, RHASNREERGRNE, k. SHATRDECEEVEER.

MITERFEHEH: JB/Z0O 4519-97 (%)
AITEEFEAN: RB/RU*

i EA:

o ITHETRMHI: 150 (FHiED159-188.3) iTHETRMI.
BEUEIEE R  GJU*C-150
THEHUEIER GJIU+B-150

USEI & %

i

U9BY & H

1. ERFREARHEE. TREFFPEREARECRELEESE.
2, ZRFTRE|ELER (&iH) EFSERAAEHRER.

MEMAAFR RN EHE EFKIFAEITHEN IR

H&{EER: RB/RUL 4519

NMERAFRHEASIEEERIBFEEITHEAIRA




i EH SERERY AR E

OBCIVIIA MBI EMSIESE OBGJM(A )<+ shockproof steel pipe clamp

. AFERERATEE. Fil. £I. 6. G, BHEHNEEERSPNHE. kK. SANMENEERETERRAMER

This prosfuc applies w e mectsanical hydralic sysem of meallurgy porsdonnchonical engineening, vehicleshippmgockeouue power and so fond asoibe pipe ciamp Gxing the pipeline which

s is ol oF wier or gas. |
| [ #eA: 1. HARELELEE. THEEFEREANERESERE.
oB GJ M(A) » o 2. ARATRERFERGHEFUEAREHENER.

T T MNotes: The surface yreatment of the pipe clamp is the #inc coated. Other methods of surface
BIER Whik BSHEE | HE wE

treatments can alos be chosen hased on the customers” regquests.
According to the customers’ requirements, we can design and manufacture the pipe
clamps using other materials and other diameter pipes.

L1
81 =

o

=

B o =
] L

1 58 7= B0 4143 <0 25( Ordening sample of pipe is @25):
1. BiRARE R R EEECMA) 75- 025 (FERIE
GJM{A)T5=1025 indicates shockproof steel single diameter monolayer pipe clampi withowt motherboarnd)
2. BiEHIHE RS EESRETRCMB) 75- 025 (FHER)
GJM(ATH= 25 indicates shockprool steel single diameter monolayer pipe clampi with motherhoand )
3. PRSI E RS EEEE R AB) 75- D25 X @25, G (B) 15-0 25 % 025EMIBATRATEEE (FHIE
GJWIAB)T5- 25 indicates shockproof diameter double laver : or
GJMIB)75=123 indicates different diameter (without motherboard) can be used for the same sizes
4. HEFNEXLFEEREEICMA) 75- D25 X 0250, HOIM(B) 75-9 25 ¢ 25CEHE A HFREE GEREl
GJIMi ABT5= 025 » D250 indicates shockproof dismeter double laver @ or
GJIM(B75=25 x M25C indicates different diameter (without motherboard) can be used for the same sizes

5. MEMTFHESESIUCERIRETEMIRN

If stinless steel matenial or other requestments are needed_please note while ordering

A AET SERER MR E

wfr: AFE@ERTER. AE. I, 8. . 2 HFNEGEERZTNE. K. SATRMNEESEEEHREPMRER.

{ This product applics 1o the mechanical hydrulic system of metallirgy petroleum.chemical enginecning.vehicle shipping.ckectrue power and so forth as the pipe clump fixing the pipeline which
mekia is ofl or water or gas. )

| Wi 1. RERELEHIRE. TREFPEI AL =REHLEENZ
o8B GJ M(B) ¢ | - 2. RAATMEELEHRE AR ERRCHERRES.
1 Notes: The surface yreatment of the pipe clamp is the zine coated. Cther methods of surface
B L 5 e o b E=Fe o] | HE | ®We ireaiments can alos be chosen based on the custome s’ requests,
] ] According to the customers’ requirements,we con design and manufactune the pipe

clamps using other materals and other dinmeter pipes.

R & Tee ENE L | |2 | w | 2| w8| B | B1 | P | N
D, D1, D2

1 | OBGJF (A) 38 0. B8 O10. 012, O14. B186 85 58 | 38 | 12 ag a3 12 | a2 8 M8
'0BGJF (AB) 38 | !

g | OBGJF (A) 50 016. ©18. ©20. ©22. ©25 go | 70 | 50 12 50 39 | 18 | 36 | 6-8 | M8
OBGJF (AB) 50

| [ LAY @25, 028, 032, O34, 040, 042 10| 96 | 756 | 14 | 75 | 56 | 25 | 44 [10-12| W0
OBGJF (AB) 75
OBGJF (A) 100 '

4 042, 048, @50, @60, 063 4 Z 1
s L ios 140 | 125 | 100 | 16 | 100 | 66 | 40 | 52 [12-15 M12
OBGJF (A) 150 l

5 @63, B70, ©76., ©8&3. B89, ©102 190 | 176 | 150 18 150 93 0 62 [(12-15) M12
OBGJF (AB) 150 | L B 5 5
0BGJF (A) 170

& | 2102, ©108. 2114, & 127. 9133 -
0BGJF (AB) 170 214 208 . 172 18 190 115 60 10 15-25 M14
OBGJE (A) 180 f : |

7 | ©133. © 140, © 152, @159, ©168 —o5
0BGJF (AB) 180 290 | 260 | 212 | 22 | 240 | 145 | 60 | 80 |15-25 M16

8 | 0BGJF (A) 190 0168, ©194. ©219 218 | 311 | 285 | 25 | 300 | 173| 70 | 84 |25-30 Mis

| = . — —— =l = | S g ]

9 | DBGJF (A) 200 0219, © 245, ©2730299, ©325 465 | 459 | 375 | 30 | 435 @ 245 | 80 ‘ 122 | 25-30 M24

10 | oBoJF (A) 250 ©325. ©351. ©377. ©426 668 660 508 35 | 572 @ 321 | 110 152 25-30 M30

MERAFEMEAIEEZKIFEITRAN A

D3 D4
1) D2
=L L
00O |
[ ] L
ITETH-FHE 25(Ordering sample of pipe is $235):
1, BERFHFENFSHERFTRCME) 70- 025/ 025 (T oK)
GJIM(B)TO—db 25/ @25 indicates shockproof steel single diameter monolaver pipe clamp{withowt motherboard)
2. BRENEIREERRW G (E) 70~ 25/ b 25 (i)
GJM{ A)YTO—p 25/ 25 indicates shockproof steel single diameter monolayer pipe clamp{with motherboarnd )
3. BTN 3 TS T 2 JEGJM (BB) T0- 25/ 025 % 25/ D25, BLGINE) 70~ 25/ 0 25E MEATT A TR E R (FHER)
GIM(BB) 70— 25, 25 x 25/ 25 indicates shockproof diameter double laver ; or
GJM(BIT0— 25/ 25 indicates different diameter (without motherboard) can be used for the same sizes
4. BREHIERPEEIEERCM(BS) 70- 025/ 025 % 2200, BGM(B) WI0-012/ 016 % 025/ 0 25CRIRIEAE ATREE HEH
GJM(BB)T0—d 25/ 25 x D 25C indicates shockproof diameter double layer ; or
GJM(BITO—tb 120 163 3 25/ 25C indicates different diameter (without motherboard) can be used for the same sizes
5. MHEATSHIRMESRREEERINEIT SRR
If stainless steel material or other reguestments are needed, please note while ordering
ET = ITEs e L L1 H1 H2 H3 B B1 P M
D, D1, D2
OBGJF (B) 38
. . . . : as 33 18 az2 6 ua
!GBNF (BB) 38 @6, @8, 910, 212, 914, D16 104 a8 i2 |
OBGJF (B) 50
; 5 : : 1 -
OBGJE (BB) 50 @16, @1 8. 020, @22, ©25 130 50 12 50 39 8 a6 6-8 Ma
OBGJF (B) 75 [
s ) 4 ; i T [i] 44 | 10-12| M10
| 0BGJF (BB) 75 @25, @28, @32, @34, 240, ©42 185 75 14 o 5 l 25 |
0OBGJF (B) 100
4 0BGJF (BB) 100 D42, @48, 950, ©60. @63 240 100 16 100 (i1 40 52 12-15 | MWi2
5 | 0BGJF (B) 150 | | |
| 0BGJF (BB) 150 @63, @70, @76, @83, @89, @102 340 150 18 150 93 | 50 62 . 12-15I M12
0BGJF (B) 170
0BGJF (BB) 170 @102. ©108. @114, @127, @133 386 172 18 190 115 60 710 15-25 M14
0BGJF (B) 180 | | |
0BGJF (BB) 180 @133, ©140, © 152, ©159, 0168 478 | 212 22 240 | 145 | 60 80 | 15-25 M16
| |
g | 0BG (B) 130 | g1es, 0194, @219 581 | 265 | 25 | 300 173 | 70 | 84 | 25-30  Mi8
i i
J ) !
9 |UMF(5 200 | @219, ©245. ©2730299. ©325 840 | 375 30 435 | 245 ‘ 80 ‘ 122 | 25-30 M24
10 ' 0BGJF (B) 250 =~ @325, ©351. ©377. 0426 1176 | 508 | 35 | 572 | 321 110 | 152 | 25-30 M30

2 {E A A A9 2 5 5 B 2 KK £ 3T ST iR AR




@ KFERERTESE. A, 1. ¥98. B, ENBNEEERSPHMm. k. RANMENEESRETEEAHREER

| This prodduct applics woimhe moechanical hyvidraulic syswem of molallurgy, peiroleumchemical engintering, vehicle shipping ciociris pawes and so i & e pipe clamp nxing e pipeline wihich

miedia = il o7 waler og gas.

o8 | w A) . -
BIER | WRmE iﬂ&ﬁﬁ % i

V A Hardware

TR - E @ 168(Ordering sample of pipe is & 168):

{8 iR R A eI (A 4- D 168

(GJ (A¥—d 168 indicates channel beam shockproof pipe clamp)
WMERF RN E IR EEKIRET HRRA

AR ES SEREENERE

If stainless steel material or other requestments are needed, please note while ordering

T
E ]
=
pY
T
i 2
L2
L1

B1

BT SEE H B EE(Using in the hith pressure strong shock pipeline)

B 1. FERRLEHEE. THESPEREARERRLERE.

2. ERAFMRERPER R ECNERLEHBEE.

Notes: The surface yreaiment of the pipe clamp is the zinc coated. Other methods of surface

treatments can alos be chosen based on the customers”  requests.

According 1o the customers” requirements,we can design and manufacture the pipe

clamps using other materials and other diameter pipes,

KRR SERERNRRE

OBGJB@— =+ HBrmE < OBGJ(B)—+* indicates steel shockproof pipe damp

#ir: ATEREATEE. Bl. I, 6. R, ENFIREERERNE. K, SHATENEESEEERNHARER

Ths perasiiace .1|1|'|Iu:- o the mechamcal hydraulic system of metallurgy petrokemm,chemical TSN rrm'lr.'nitrp|1|||f ckectre power and o fondy as the pape clamp !u.mF the j'|l|'l|.'|ll'k.' which
el woobl of wider or gas. |

T E TR - YME D 219(Ordering sample of pipe is ©219);
1. {0 B W e B) 5- 22100 (B IER)
GJ (B)5—1 219C indicaies sieel shockproof pipe clamp (with motherboard
2. R % 5 B SRGJ (B) 5~ 0 219C (T )
GJ (B)5—d 219C indicates steel shockproof pipe clamp {without motherboard
3. (F AW 482 Using double=headed baoli)
IMERTFEEA R EE RIS ER

If =tainless steel material or other requestments are needed, please note while orderning

oB GJ | (B) PO
ﬁﬁiiiiﬂﬂﬁ iﬂﬁﬁm HE | w8

-]
[I'FI'I r—ﬁ"n]
— 2 w
= \\.//
Lz 2 L3
L1 B

AT @& ER /W E B (Using in the hith pressure strong shock pipeline)
HH: 1. FREGELEE. AREEFENEARCRELERE.
2. ZAFTHRERFERRTEFRERLEMHAOEE.
MNotes: The surface yreatment of the pipe clamp is the zine coated. Qther methods of surface rreatments can alos be chosen based on the customers ' reguests
According to the customers” requirements we can design and manufacture the pipe clamps using other materials and other diameter pipes.

£ FiaEeD L1 L2 H1 H2 H3 Bl BZ B3 M
1 @73-0 88 190 . 140 100 100 i 40 60 120 _ 60 M20
2 S102-2 114 210 150 115 115 40 60 120 60 M20
3 @ 127-0 140 250 180 135 135 50 80 160 80 M24
4 ©152-0168 | 280 220 | 140 | 140 50 80 160 80 M30
5 @ 194-0 218 340 270 170 170 50 100 200 100 M30
6 @ 220-G 273 420 330 220 220 60 140 280 140 N30
7 3 276- @ 325 460 370 240 240 _-ﬁﬂ 140 280 140 M30
8 3 326-0 370 510 420 260 260 60 140 280 140 N30
9 B371-0 425 570 480 290 290 60 140 280 140 M30
i0 @ 426- 0 485 620 530 305 305 60 140 280 140 M30

11| o486-0550 | gso | 59 | ar0 | at0 | 60 | 140 | 280 | 140 | M3
12 @ 551-@ 630 160 670 410 410 60 140 280 140 M30
13 B631-0715 845 755 452 4592 60 140 280 140 M20
14 @ T716-2 800 940 | B850 495 495 60 140 280 140 M30

MEMTRIMEAIECEZKIEEITRAIREA

5 EMHESD L1 L2 L3 H1 H2 B S $1 P ]
| 73
1 76 180 140 65 170 a5 115 20 20 5 Mm20
89 f
]
102
2 " 08 210 150 65 210 105 115 20 20 i M24
114
| 127
3 133 250 190 90 | 250 125 155 | 40 25 5 24
140 _
152, 159 5 '
4 290 220 100 280 140 180 ‘ a0 20 8 Mid
168 |
219 - -
5 | 400 | 310 | 150 | a30 165 220 90 30 8 N30
245
273 |
[i] 480 J80 160 430 230 240 120 36 10 M3G
290 !
7 325 500 | 400 | 170 | 480 240 | 260 | 140 36 10 W36
8 351 530 | 430 | 180 | 510 | 255 | 280 | 150 36 10 M36
9 a77 580 | 480 & 190 | 540 270 | 290 | 160 36 10 M36
10 426 610 | 510 | 200 | 530 290 | 300 | 180 36 10 M36

an{E A A B B9 2 3 5 5B 2 oK I8 £ 3T ST iR AR




mfT: EEREATEE. A8, I, 8. . BHIFHNEEERRPIES. K. SHATEMEESETEASHRERX.

{ 'i;hl; pfr:uhn'l applics r-lr Ih: mechamical hvdraulic system of metallurgy.petrolcum chemical engineering.vehicle shippmg.chkectnos power ind =o fonh a= the pipe clamp Nixing the pipeline which

el i ol oF waleT ar gas, |

1T 5 -8 412 D 219{Ordering sample of pipe is $©219);
i i . L { S = 1 RIS ¥ X0 04- 0 219C (FRIR
Brinsbk | iy | BERY | HE i GJ (CH—D 219C indicates steel shockproof pipe clamp {with motherboard)
2. SRS R0 (O4- D 219C (T EIR)
GJ (CH—b 219C indicates steel shockproof pipe clamp (without motherboard)
_ 3. % B A0 5 2842 Using double=headed bolt)
ATSEBNRANES SO S S T IR I 17 15T 0

{Using in the hith pressure strong shock pipeline)

KiREFFSERERNHRE
WCF_WﬁyE OBGJ(Cr—#+=+ indcates ammor plateshockproof ppe damp

IF stainless steel material or other requestments ane necded, please note while ordening

51

L2
L1

HEd: 1. WREMLELHER. THEEREREALERRLGEREE.
2. XOFTHERFPERRHEFEERNEHHLRE

MNotes: The surface yreatment of the pipe elamp is the zinc comed. Other methods of surface treatments can alos be chosen based on the customers”  requests.
According i the customers requiremenis.we can design and manufacture the pipe clamps using other matenials and other diameter pipes.

OBAL(A) S5 =205 = = | OBAL(A)combined aluminum alloy pipe clamps
OBALB) & 285 &% OBAL(B)combined aluminum aloy pipe clamps

T 5RE:
1. BESHSEXEEETFRAA0BAL (A) 20 (RNFEH) -
BETHEETRLEERMAOBAL (A) $20C (FHFEW) .
BESHESEEREZSEEEMAHOBAL (A) $20x20C. FIMRITHATRER, BREHE.
BE4HSEE0BAL (B) *HO0BAL (A) B BEHEIK.
NEAREEERIBAEITSERIZE, &219— ¢ 406{E F E#RJIB/Z0400807F5 /4 .

2,
3.
4,
9.

£=)
-

H3

e

L e R

% 5 % 5 2@D L1 L2 L3 H1 H2 B s 51 P M
?35 170 86 _25-_-‘
o | 170 | 88 irvags
89 220 160 80 180 90 150 ' 30 ' 20 5 nzo
! Y08 | 190 95 | as |
108 200 100 40 |
1_;4 200 100 | 0 |
127 230 115 5 .fl-l]_-d
2 133, 140 280 210 110 240 120 180 45 20 8 M24
152 260 130 50
159. 168 | 280 140 | 70
3 350 260 130 ' 220 | | 30 8 M30
194 310 155 | 80 |
4 219 400 | 310 | = | 330 | 185 | sis |50 i - e
245 400 310 360 180 110
5 273 480 380 | 430 215 | 120
| 6 260 480 | 380 | 160 | 460 | 230 | 260 ll 130 '
7 325_ 500 | 400 480 | 240 | 140 a8 <h nis
8 _3;1“ 530 | 430 | 180 510 | 255 | 280 | 150 |
9 377 580 | 480 540 270 160 |
10 426 610 510 200 530 290 300 180

an{E A A B Ry L X sl B E 2K il 7 1T 52 B i3 A

Ly
T~ | 1
=
Nl
-
L1
L o . . o s e “4
FE TS 5 EeD L1 L2 L3 H1 H2 B s S1 p M
1 | OBAL (%) | 06-08 54 36 54 30 12 36 20 18 2 M6
2 | OBAL (%) @10-042 106 80 108 58 18 80 40 36 4 N10
3 | OBAL (%) ©45-065 136 100 137 72 20 105 50 40 4 M12
4 | DBAL (%) @70-089 188 150 190 99 25 150 56 50 4 G
5 | OBAL (% | ©90-2127 255 205 245 125 30 190 70 60 4 M20
6 OBAL (%) 133-0168 305 250 300 150 30 240 80 70 5 M24
7 | OBAL (%) ©170-0219 355 290 360 180 a5 290 90 80 8 N30

MERFEMERAIEEERBETENIRA




'_n- Hardware

OB **—%* other pipe clamps

AirEF SERERNERE

WA, 1, ERREAEAES. TREFESEREARTRELESZ.
2. FAFARBEFRER (@iH) EFRERATHENER.

S

BiEAIEHIER (BAR)
MITE#RA: JB/ZQ 4515-97
BEENMEA: O022- @89
FEHE R Z ERIRREEE H: 5m

]

Rir R SER BRI

O
©)

BTEATE (BER)
HITERRA: JBZQ 4516-97
EEIMEH: ©22- 989

TR R Z ERIRPREEE A: 5m

BB (AIIRED
MITERRA: JB/ZQ 4517-97
EiEMEA: ©@50- @600
TR ZBRIIRIREEE A: 5m

EERAE (FERA)

MITERRA: JB/ZQ 4518-97
BiEMEA: @22- @52] (xapwsnm
TR ZERIRREFEH: 5m




	01
	02
	03
	04
	05
	06
	07
	08
	09
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	37
	38
	39
	40
	41
	42
	43

